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Short answers and marking scheme

| Question | Domain/Competency ~_ Short answers | Marks
' | Simple calculation. % : calculation of
_ | X
LL IS h.2 | % : calculation of |
. | = — _Lxfy ]
1.2. 1.1 Simple calculation Va. |
| |
1.1, | 1.3 . Algebraic calculation. | Y - j
3
L2 14 Solving the equation (x - 2)2 =0. 4
[ ]
. I 12.1-35 |_ Construction of a figure under constraints. 1 - |
' | Calculation of the sinus and of the tangent, | 2 calculation of the |
| then use the calculator to find the angle. sinus
! ' : calculation ofthe‘
111.2. 35-13-22 tangent.
Y% : calculation ofthe‘
| angle(by a }
| | - - | calculator)
1.3, ‘ 35_79 Cglculatlon .of lengt.hs using Thales or 1
| , trigonometric functions.
L 1
| IV.l. |_ 2.1 Construction of a geometric figure. Z B |
LIV ' 2.2 Use of the intercepted arc (45°). Ya -
We expect that the student know that this is Y
V.3, 23-33 the perpendicular bisector because OCM is
. | isosceles and (OI) is bisector of O.
! | Using the measure of the angle at M and the % : isosceles i
| V.4, 2.2 fact that / belongs to the perpendicular ' E”f‘".gle' . :
. % : right triangle. .
| We expect that the student use the ' 'Il_:'lo?us de I.
‘ IV.5. ‘ 23-33 orthogonality of (CI) and (4M) to conclude t/h ca(quulatlon of
| | that this is the circle of diameter [4(]. cra lus'___._'
i[ The two triangles are right and have a % . proof of similar
| common acute angle. The use of the ratios of E/l:l?ng'[l.es. ¢
IV.6. ‘ 23-35 similitude leads to the required equality. s_irhgf‘itlli);e(.)
- % : required
| | relation.
| Putting into inequalities, resolution : the | % + % : for putting
student will find that thg Yveight of a peach is into inequality in
between | and 3. As this is an integer he or each of the two
Y 3214 she must conclude that this is 2. situations.
% : solving the
system.
_ ¥ : conclusion.
|
: VLI 31 The student must read on the graphic that 1
= __3' | there are 18 students have scored less than 16.
L VI2 39 | Calculation of the frequencies from the 1 : The table is
R - cumulative frequencies. | either true or false |
‘ VI3, |13 Calculation of the mean (to nearty 15). [ 1.
|_ V1.4, ‘ 3.1 Counting the cases. | 1.
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4) Show that the triangle CIM is right isosceles.

5) Show that, while M varies on arc EE‘, the point / vary on a circle of center to be
determined and radius to be calculated.

6) Prove that the triangles ADO and ABM are similar.
Deduce the relation ADx AM =8.

(2.5 Points)

The weight of an apple 3 units.

The weight of 5 peaches and 2 apples is greater than that of 2 peaches and 3 apples.
The weight of 6 peaches and 3 apples is less than that of 5 peaches and 4 apples.
Find the weight of a peach (in units) knowing that it is a natural integer.

(4 Points)

The graph below represents the polygon of increasing cumulative frequencies of the

students' grades in a Math quiz.

—_— . . ! — - —— —

8+ - /
W—_ |

8 0 12 14 16 18 20
1) How many students have a grade less than 16 ?
2) Write the distribution of students according to their grades in a statistical table.
3) What is the average grade of this class ?

4) How many students have a grade less than the class average? Greater than the class average ?
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II.

111

IV.

(2 Points)

1 1
and y=

y .
3242 34242

Prove that xy and x + y are integers.
2) Write the expression V75 + 3412 = 44/3 in the form avb .

1) Given x =

(1.5 Point)

Given p(x)=(x-1){x-3).
1) Show that p(x)=(x-2)* -1.
2) Solve the equation p(x)=-1.

(3.5 Points)

Given a circle (C) of center O and radius 4cm, e P

OH = 1.6 cm. The perpendicular line at H to (OA) v _J,'Ji -'

intersects the circle at point B, the straight line (BO)
intersects the tangent at 4 to (C) at point E.

A =
(The given figure is just an illustration not representing \ /
correct measures) 3 i
1) Construct the figure at scale E . ',.r"‘-' :
2 AT ;"f
2) Calculate the sinus and the tangente of OBH. /
Sl i

Deduce the measure of angle OBH to the nearest /-/

degree. / i
3) Calculate OF and AE. /

i

(6.5 Points)

Consider a semi-circle of center O, of radius 2cm and of diameter [4B].
C is the midpoint of the arc A/l; and M is a point of the arc EC\’ .

The segment [AM] cuts [OC] at D and the angle bisector of C{O?I at I.
1) Draw a figure.

A~
2) Calculate the angle CMA4.

3) What does the straight line (OJ) represent for the segment [CM]? Justify your answer.
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Short answers and marking scheme

T

| of 2.

| Question | Domain/Competency _ Short answers Marks
| LL { S0 - . Reading data presented in a graphic form. I
| L2, 113 ~ Calculation of percentages. Ll
13 39 Representation by a circular diagram R
) [~ | (calculation of the angles of the diagram). L -
1.4, 1.3 | Simple calculation. |
| |
|11, | 2.1 | Simple construction - | Ya -
11.2. 1.3 | Calculation using Pythagores | Y
113 ] 22_33 | Rectangular singe the gpposite sides are | |
| | parallel and having a right angle. ‘
One way to prove that S is the midpoint of
[BC] is to use the similar triangles 4KN and . S
| ASC, then the similar triangles AKM and ASB, %B.g]mldpomt of ‘
1.4 [23-33-34 with the fact that AK = KN, then AK = KM to ' |
| conclude A4S =SB = SC. VL fK
| Conclusion: K varies on the segment [4S], of = EeCES IOy
B | | the median relative to the hypotenuse. | ]
: | V4 : for proving that
| | the two triangles
are similar.
Y2 : for writing the
Calculation results from the ratios of . .Of
I1.5.a. 23-35-13 similitude in the similar triangles 4MN and i | SIS
ABC. | /2 for the
calculation of
| L AN
i Y4« for the
calculation of
- - - —- - e ——— —_— — _ = . MN.
I1.5.b. 35-13 | Equality of two ratios. R
IL5.c. 14-22 Translate into equation : MN = MP. Expected |
| B answer: nearly 2ecm. B
[.5.d. 2.1 Drawing. | V2
L1 21-25 | Drawing and calculation of length of three i 1
_ _segments. I S
ABC is right isosceles. Justification from the
III.2; &2 calculatiobn : AB = BC and use of Pythagores. 12 i |
. L3, 13 | Simple calculation. - o Ya B ]
% : calculation of |
BM.
After calculation, we expect that the student Y5+ calculation of thei
1114 2513 conclude that the medi?.n MB equals half slopes. |
o ’ ' [4C, gnd that the median is at the same time | Y% : isosceles
' the altitude. Hence the result of 2. triangle.
% : right triangle.
| N H
| After calculating the slopes, the student must i e lation i
i ' be capable of concluding the angles of the l sl?pes. .
| LS, 35-13 triangle ABC. Then he finds again the result ! S Aulsrion GRthe
| | angles
|

Y2 : conclusion.
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3) What is the type of the quadrilateral MNQP ? Justify your answer.
4) Let K be the midpoint of [MN]. The line (AK) meets [BC] at S. Prove that S is the
midpoint of [BC]. Deduce the locus of K when M varies on the segment [4B].

5) In what follows, x represents AM.
a - Calculate AN and MN in terms of x.
b - Using sinB in the two triangles ABC and MBP, calculate MP in terms of x.
¢ - Determine x so that MNPQ is a square, and deduce AM (to the nearest

millimeter).

d - Draw a figure in this special case.

III. (6 points)
In a reference system of axes x'Ox, y'Oy, consider the points 4(—4 ; —2), B(-1 ; 2) and
C(3 ; ~1) (unit : the centimeter).
1) Plot the points 4, B and C and calculate 4B, BC and AC.
2) What is the type of the triangle ABC ? Justify your answer.
3) Calculate the coordinates of M midpoint of [AC].

4) Calculate BM, and the slopes of the straight lines (BM) and (4C). Find again the result

of question 2.
5) Using the slopes of the straight lines (4B), (AC) and (BC), calculate the angles of
triangle ABC, and find again the result of question 2.
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(4.5 points)
In a maternity hospital, we measured the height of newborn babies to the nearest 1cm. The

following figure illustrates the repartition of 40 newborn babies according to their height :

IL.

Nombre
de bébés

w

|
2 —f

|
i
|
| | ‘ ! ‘ ‘ in| Taille
, 45 46 47 48 49 50 51 52 53 54 55  enmcm

1) Represent the data in a table similar to the one below :

Height (in cm) 45 46 47
Number of babies

2) Complete the table with a row containing the percentage of observed numbers.

3) Construct the circular diagram of frequencies.

4) Calculate, to the nearest 1 mm, the mean height of newborn babies.

(9.5 points)

ABC is aright triangle at 4 such that AB = 6cm and AC = 8cm.

M is a point of [4B], distinct from A4 and B.

The parallel to the line (BC) through M cuts the line (4C) at N.

P and Q denote respectively the orthogonal projections of M and N on (BC).
1) Construct a figure with correct measures.

2) Calculate BC.
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Short answers and marking scheme

| Question | Domain/Competency

| Use of Pythagores. Calculation of OI.

Short answers | .

| — 1
L j8 12 | Conclusion. e
¢ - ]
I 113 | Simple algebraic calculation. | Y -
' Algebraic calculation leading to an inequality. |
I1.2. [ 1.4 Solvi P o I
- R — | Solving that inequality. T TR (Sl —
3. | 12 ! Choosxr_lglthe natural integers that verify the "
inequality.
[ - ]
| | | V2 interpretation of |
| _ : xandy
.1 | 3.1-32 Interpretation of the system. | - interpretation of
| | - | the equations.
1.2 ‘ 14 | Simple resolution of a system. o { ! -
111.3 3.1 | Interpretation and validation. | Y%
1
i Y. : trapezoid.
V.1 2.1 Simple construction. Y2 . image by
- | I -  translation. ]
Conclusion from equality between vectors '
Iv.z2 2.4 — — 1 '
I . 9 Jard® __ |
: | Conjecture : rectangular. Y4 : conjecture.
] V3. | Sl =59 __2'2 | Justification : parallelogram with a right angle. | % : justification. |
|
_I_V_4_ 2.4 - | This is the vector —K—)N' - 6
V.S, 36-22 The quadrilateral K/INK' does not stay |
_ rectangular.
1
| | | 4 : conjecture i
V.1. 32 ABC is right at 4 and isosceles. Y : right at 4
Y : isosceles.
e | Construction, coordinates of a vector. Putting ;
V.2, 25-24-14 into equation to calculate the coordinates of E 17
1 : calculation of
By a deductive reasoning, the table is frequencies and :
gradually constructed by the values of the frequencies in
VL1 31-34 frequencies and the frequencies in percent. ‘ percent.
We complete with the cumulative frequencies | 72 - calculation of
| later. cumulative
- frequencies.
Y : calculation of
V912, |32 Sketch of a circular diagram. ENEIEIAGE
[ | center.
|_ | Y5 : representation.
VI3 ' 39 Sketch of the polygon of cumulative I
| | - frequencies. B |
VI4. 1.3 Calculation of the mean. Y
‘ Y, : for the
| . ) o calculation of
VIL 36—13 g:izutlgx:g?e:;\d conclusion (the two regions each of the two
' areas.
| Y4 : conclusion.
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V. (3 points)
Consider in a reference system of axes x'Ox, y'Oy, the points 4(3 ;3), B2 ; =2) and
C(=2;4).
1) What is the type of the triangle 4BC ? Justify your answer.

—
2) Let E be the translation of C by the translation of vector 4B . Determine the

—
coordinates of the vector CE . Deduce the coordinates of E.

VI. (4 points)
Here is a statistical table in which some numbers are missing :

— e

Observed Values 2 | s |7 ‘ 10 | 12 | 15 T‘fta
Frequencies | 5 | | |15 ez
Frequencies (in %) | 28 . 30 | 20 o |
Cumulative increasing i

‘ frequencies

1) Complete the table.
2) Draw the circular diagram of frequencies.
3) Draw the polygon of cumulative increasing frequencies.

4) Calculate the mean of this statistical series.

VIL (1.5 point) P N
Is it true that the area of the interior gray region of the ARy . N \

adjacent figure is larger than the area of the exterior gray

ion ?
region ? \ e
) N i
Justify your answer. U\ \\ ~ S )
S TR = A
Y N, T — ; 4
~, S o J
-, b
~ — -
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IL.

11L.

Iv.

(1.5 point)
ROl is aright triangle at R and such that RO = \/5(1 + «/g) et RI= 3-+/6 . Prove that Ol is

an integer.

(3 points)

Consider p(x)=(4x- 3 —(2x - 5)2 :

1) Expand, reduce and order the terms of p(x) in the decreasing order of powers of x.
2) Solve p(x)>12x* -25.

3) List all the natural integers x verifying plx)= 12x% - 25.
(3 points)

The age of a father is 46, and his son is 26 years old. After a number of years, the age of the
father would become equal to the sum of ages of his son and his daughter, and that would
be at the same time, triple the age of the daughter.

1) If the following system of inequalities is a mathematical translation of the problem,

what do x and y represent ? What does each equation represent ?
{46+x= 26+x+y+x

46+ x = 3(y + x)
2) Solve the system.

3) What is the current age of the daughter ?

(4 points)

1) Draw KING a right trapezoid at K and / and construct K'I'N'G"its translation by the

—

vector IN .
2) Prove that K'KNN' is parallelogram.
3) What is the type of the quadrilateral KINK' ? Justify your answer.
4) Determine the vector E)' + EE "
5) If KING were not a right trapezoid, would the previous results (questions 2 and 3

remain valid ? If not name the results that change ?
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Short answers and marking scheme

| apen is 2000 LL.

the price of a pencil is then 1000 LL and that of

194

Question | Domain/Competency Short answers . Marks
L1 14 Identification of the roots @ and b with the ' v,
. | | suggested roots 2 and 7. and conclusion. | ™ -
l2a 13 . Expansion and algebraic calculation. | Ya
' | We expect that the student uses the result of the | 7 : use of the
12b 1.4 previous question: p(x) = —10 isequivalentto |  resultof2.a.
. ( ) 1020 (7 _)_0 % : solving the
| p\x)+ 10 =0, 0 A= x) = equation.
1
L] | 31-25 Reproducing the drawing. | V21 Reproduction.
I . ' | Determining the equation of line (SA). | 1: Equation of (d) |
1.2 11.3-25 | Calculation of coordinates of Band E. | o+ Y2
I1.3 | 2.1 _‘_Construction. - [ %%
42 |25-13 gquatlon of (BC) and calculating the abscissa of Vot
- - l. — : — - n
1L4.b 35_14 Calculation of the tangent in the two triangles :A + &t .BEC
T | ' ' | then calculation of a by equality. 2 : calculation of
a.
"_ - | - ~ | %:useofthe
Use the property that a right triangle is inscribed property.
15 73_34-13 in the circle whose diameter is the hypotenuse. ¥2 | reasoning.
‘ ' ) ) Calculating the coordinates of the midpoint of a | % : calculation of
' segment. coordinates of
I - - - the midpoint.
¥ : use of the
li 52 A Using the relation of the measures of angles and ‘ property.
116 23-34-33 | the intercepted arcs. N Y2 : expression
| | (writing).
| Calculation of tangents of Band C. Y2+ 4 : tangents.
L1 22-33 | Deduction of these angles (calculator), Va +ﬁ1/2 - angles.
B __|_Deduction_ of the third angle. - __j E 3rd_angle. |
' % : calculation of
‘ Use of Pythagores : once to calculate AB; and AB.
L2, 22-13 | again to calculate AC. % : calculation of
The measure of BC is by reading. AC.
{ Y, : reading of BC.
! By re-translation of the system, we get the '
h following complete: "To buy 8 pencils and one
B pen we should pay 10 000 LL, and to buy .
V.1 B 8:2 3 pencils and two pens we should pay 7 000 LL. L
What is the price of a pencil? And that of a i
B | pen?" - B B -
V.2 1.4-33  Solving the system and conclusion. 11/2:: §§:§$;;?;ion.
I . _ Repregentation in a reference system where the
unit represents 1000 : the coordinates of the
v.3. 3.2. intersection point of the two lines arel and 2 : 1%




III. (4.5 Points)

1) Use the pattern of the figure below to calculate the tangent of angles Band C (give the
answers as a rational numbers). Deduce, to the nearest degree, the three angles of the

triangle ABC (The unit is the square of the pattern).

B

2) Calculate the measures of the sides of triangle 4BC.

IV. (4.5 Points)
Some information are missing from the following text :

"Tobuy. .. .. pencils and one pen we shouldpay . . . . . . dletlls

and to buy three pencils and
What is the price of a pencil? And that of a pen?"
The following system results from putting these data into equations:

8x+ y=10000
3x+2y=7000

1)  Write the complete text.
2) Solve the system and conclude the price of a pencil and that of a pen.

3) Solve the system graphically, by taking 1000 as the unit of the reference system.
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I1.

(3 Points)

1) Determine a value for a and a value for b in order that 2 and 5 be the roots of the
equation (x —a)fp-x)=0.

2) Let plx)=(x-2)5-x).

a - Verify that p(x)+10 = x(7 - x).
b - Deduce the roots of the equation p(x)=-10.

(8 Points)

1) Reproduce the figure below and, by reading the graphic, determine the coordinates of
points 4 and S. Deduce that y = 2x+3 is an equation of the line (d) joining these two
points.

Y
N
— — I
‘ L ' Jd) j.’__l.. 0 lr_ Ll - | : i
EEy/EEE W .
] ENANE HE
N oA T
+ ! / — - — |
+ 1 —— | i
EENAEERENEN |
111 | % L
a /S -
= ——:/.—f-f | ' m i —
i i S | ] | — L . _l I
S,( - — I ; ||
x' ! ! || 7 > X
L/t o | AN /[ ' D
L/ |i_|_’ EEEEEEED
yl

2) Let B be the point of (d) of ordinate 7 and E the intersection point of (d) with axis x'Ox.

Plot these points in the reference and calculate the abscissa of B and the ordinate of £.
N
3) Construct the point C(a , 0) of axis x'Ox such that EBC = 90°,
4) Determine a :
a - Using the equation of the line (BC);
. e ) % O S
b - using the tangent of angle BEC in the triangle EBH and the tangent of angle HBC in
the triangle HBC, where H is the orthogonal projection of B on x'Ox.

5) Prove that the points 4, B, C and O belong to one circle for which you should determine
the diameter. Find the coordinates of the center of this circle.

6) Use the circle of the preceding question to show that AOB = ACB.
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Short answers and marking scheme

 Question  Domain/Competency | Short answers __ Marks
1 31 | Organization of the data in a statistical |
o § ™ | table.
[.2. 132 . Graphic representation. I
| L3. 1.3 | Calculation of percentages. Vs
[ 1.3 | Calculation of a mean. Ya
| |
V2 : for the
mi. 1.3 | Substituting by 2 and calculation of «. | calculation of a
pa—— .
11.2.a. 13etl4 Expanding and solving an equation. ; ) SZ;E;;Z‘S“
{ S L - B B | 4. € .
11.2.b. 13etl4 Factorization and solving an equation. }/:-izzg':ilozstlon
2. .
L
Mm.1. |32 | Simple reference and sketch of a circle. | Y2
f | ‘ ' 1% Similar |
I ‘ | Similar triangles. | "[/m'lr;i‘lie:of
| a2, | Ratios similitude. T
| 22et23 . | similitude.
| | Deduction of OF. |
Y2 @ calcul de
OE.
! 1 : Use of
, Use of Pythagores in the right triangle OMF | Pythagores
ML.3. 23 | . . |
and deduction. Y4 @ calculation |
of MF.
|
_ Y, : calculation of
V.1 13 Using relations between trigonometric sina.
R functions. Y : calculation of |
S . | tano. |
1 4o M
Using ratios to calculate each of the two cl) f/gi;jz:lg;‘ljggn
v S Ea 2 SClg;clz‘tructi n of a triangle knowing its sid
- - _ ono & ow.ng” S sides. | Y2 : construction.
Construction of the reduction. i Vi - construction
Type of DEF (right at D). | ,/2 : © . ofDEFl
V3. | 2.1 et 33 Justification : angles are invariant under a o type S
reduction Y2 © justification.
rr i
| | Construction of E (fourth vertex of the Y. : construction
| | parallelogram) and of F (equality between de E.
| V.1. | 2.1et2.4 vectors, or fourth vertex of the Y, : construction
] - | parallelogram). de F.
1 : the idea of
an are two parallels from /' to using the
236133 (FE) and (FB) parallels from F ing tk
V.2 ‘ (AC) (postulate of Euclide). postulate.
| _|_ - - 2 : writing.
——
‘ Similar triangles. ‘c/:iz-ir?lrlmslar
V.3. 23 et 33 et 35 Ratio results from the fact that diagonals of Y, - rit?o .of
| a parallelogram meet at their midpoints. N
similitude.
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V. (4 points)
1) Draw a triangle ABC and construct the points £ and F such that AE = AB+ AC and

CF = AB+ AC.
2) Prove that the points B, E and F are collinear.
3) (AF) cuts (BC) in M and (CE) in N. Prove that the triangles MNC and MAB are

similar. Deduce @ i
MC
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L (3,5 Points)
While testing the output of a machine, 25 full can were weighted. The following masses (in
grams) were obtained:
100 ~96 —96 — 100 — 100 — 103 — 94 — 96 — 105 - 100 - 96 — 105 - 96
105-103-96 -100-105-94-100-100-94-105-103 - 103
1) Represent these data in a table by regrouping according to the observed values.
2) Represent these data in a bar diagram.
3) Calculate the frequencies in percent.

4) What is the average mass of the observed cans?

11. (3,5 Points)

1) Determine a such that 2 is a root of the equation 2x% —a+ 3(2 - x)x - 1)=0.

2) Consider p(x)=2x*+3(2-x)x-1)-8.
a- Expand p(x) and solve p(x)+14=0.
b - Factorize p(x) and solve p(x)=0.

ML (4,5 Points)
1) In a reference system of axes x'Ox, y'Oy (the unit is the cm) plot the points M(0 ; —1)
and N(0 ; 5) and the circle of diameter [MN].
2) Let E be a point of intersection of the circle and the axis x'Ox. Prove that the triangles
NEO and EMO are similar. Deduce that OF = /5 cm.
3) Let F be a point of x'Ox such that OF = 2. Prove that MF' = OF.

V. (4,5 Points)
Givencos a = %, where o is an acute angle.
1) Calculate sin o and tan o.
2) Let ABC be a triangle, right at A4, such that BC = 10cm and ?3\:— o. Calculate the sides
of the right angle of triangle ABC and construct such triangle.
3) M is the midpoint of [BC]. Construct the triangle DEF image of ABC by the reduction
of center M and of ratio 1/3. What is the type of DEF? Justify your answer.
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Basic Education 9

Example 2 —r

-
Determine the coordinates of the vector ¥ of the adjoining figure :

..1_ = = ‘
I__
|
|

Example 3
In a reference system of axes x'Ox, y'Oy, consider the points A(~1 ; 4) and B(-3 ; 1).
a) Plot 4 and B, as well as the point C for which the triangle .4BC is isosceles with vertex 4

and such that y. = y,.

b) Let M be a point of [BC]. Let BM = x. The parallel from M to (4B) cuts (AC) in N. Express

AN in terms of x.
¢) Calculate sin (NMC) and explain why the obtained value does not depend on x.

d)Find the angle ABC (you can use the calculator).

Competency 3.6. Make and verify conjectures.

Example 1
In each of the following cases, complete the sequence of numbers. Justify your choice:

a) V2 ,2,242 4,442 8,82 , ..

b)1,1,2,3,5,8, ..

Example 2 M

a) Give the coded information in this figure. /

(Competency 3.1 : Select relevant information
presented in various forms.)

b) Suppose that 4 and B are fixed and M varies, while 4 /7JH =i
respecting the relations coded in the figure. What is the locus of M? Justify your answer.

¢) Reproduce the drawing and let N be the midpoint of [MB]. What is the locus of N? Justify
your answer.

(Other competency: 2.1. Construct geometric figures under some constraints.)
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Competency 3.3. Explain procedures, validate and interpret results.

Example

A person buys some pencils, at 1000 LBP each, and some erasers at 500 LBP each. Knowing
that the number of erasers exceeds by 5 double the number of pencils and that the total price is
less than 7500 LBP, can we determine in a unique way the number of pencils and that of

erasers that the person bought?

If not, what are the possible numbers of pencils and erasers?

(Other competencies :
3.2. Shift from one mode of representation to another.
1.4. Solve equations and inequations.)

Competency 3.4. Conduct different types of reasoning to carry out proofs.

Example 1
Is any quadrilateral cyclic? Justify your answer.

Example 2
Samir proposed the following:

"An even number is divisible by 2, hence it is not prime. Conclusion : all prime numbers are

odd."

[s Samir’s reasoning correct? Justify your answer.

Example 3
Show that the square of a natural number 7 is of the same parity as # (i.e. if 7 is even then n? is
even and if 7 is odd then n? is odd).

Remark : We do not require here a very formal proof (like "n is even, then it is of the form 2k; so its
square is 4K, and of the form 2(2K), hence even"), but rather a "school type" proof, using for example,
the fact that the units digit of an even number is 0, 2, 4, 6 or 8, then, the units digit of its square must
be 0, 4 or 6 (obtained from the squares of 0, 2, 4, 6, or 8)!

Competency 3.5. Recognize proportionality in situations and conduct proportional
reasoning.

Example 1
The numbers 3, 4 et 5 are the lengths of sides of a right triangle (because they verify the

relation 3% + 4% = 5%). Use similar triangles to find other whole numbers that satisfy the same

relation.
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Domain : Problem solving and Communication.

Competency 3.1. Select relevant information presented in various forms.

Example A
a) Write a text describing the coded @ N\,
information in the adjoining figure. | \
b) Does the text you proposed allow a M. N

classmate who did not see the figure to

reproduce it? | ’ ~_ 0 b3

H ‘ g
Competency 3.2 : Shift from one mode of representation to another.
Example 1
Write a text that can be interpreted by the following system of equations :
2x+ y=12
{ x+2y=9
Example 2
In a coordinate system of axes x'Ox, y’Oy, two straight lines intersect at the point A(2 ; 3).
Determine equations of these lines, given that they are perpendicular to each other and that
one of them passes through the point B(0 ; 1).
Example 3
Consider the opposite figure. M
a) Write a text that describes the figure and that contains //T
exactly the coded information. /
b) Propose two questions about non-coded properties /S | i
that this figure satisfies. - H F

Answer those proposed questions.

(Competency 2.3. Use given properties of a geometric figure to infer and Jjustify other
8 prop
properties.)
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Competency 2.5. Use coordinate system to characterize analvtically properties and
relations of geometric figures.

Example 1
(d) is a straight line with equation y =x + 2. Determine the equation of line (u) passing
through the origin O and parallel to ()
Example 2
In a coordinate system x’Ox, y 'Oy, consider the points 4(2 ; 3) and B(6 ; — 4).
a) What is the nature of triangle O4AB ? Justify your answer.
b) Determine the coordinates of the point C for which BOAC is a parallelogram. What is
then the exact nature of this quadrilateral ? Justify your answer.
(Other competency : 2.3. Use given properties of a geometric figure to infer and justify

other properties.)
Example 3

(d) is the straight line of equation y = 2x — 4. 4 is the intersection point of (d) with axis (xx), B
is the intersection point of (d) with axis (y'y) and H is the orthogonal projection of O on (d).
a) Express cos AOH and sinOBH in terms of OH.
b) Deduce OH.
Example 4

Calculate the distance between the two lines (#) and (v) whose equations in the coordinate

system x’Ox, y’Oy are given by:

(u): y=%x and (v): y=%x—1.
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Competency 2.3. Use given properties of a geometric figure to infer and justify other

properties.

Example
G is the centroid (intersection point of medians) of a triangle ABC.

—
a) Construct the image DEF of ABC by the translation of vector BC .
b) Let G’ be the image of G by the preceding translation. What does represent G' for the

triangle DEF? Justify your answer.

Competency 2.4. Understand the characteristics of vectors in plane and use them in
different situations.

Example 1
M, N and E are the midpoints of the sides of triangle

ABC in the adjoining figure. ,J[ -. v

Construct the image of E by the translation of vector

AM+BN . /

Example 2

On a grid paper, draw a vector whose coordinates are —3 et 2.

Example 3
O and B are two points distinct and fixed. 4 is a point which moves in such a way that AOB

remains a right triangle at O. M is the midpoint of [4B] and N is the translation image of M

through the vector EB’
a) Determine the locus of M.

(Other competency : 3.6. Make and verify conjectures. )
b) Justify your answer.

(Competencies : 2.3. Use given properties of a geometric figure to infer and justify other
properties.
2.4. Understand the characteristics of vectors in plane and use them in
different situations.)
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Domain : Geometric Activities.
Competency 2.1. Construct geometric figures under some constraints.

Example 1

Construct a tangent (ME) to circle (C) and a N .
tangent (MF) to circle (") such that (ME) and T )
(MF) are on opposite sides with respect to "

(MO) . 1\4 { I .II lr;l

Example 2
Construct a circle tangent to the four sides of a rhombus.

Remark. As in all construction problems, we expect the student to give the necessary elements to the
required construction. Hence, for the first question we expect an answer like :

The circle of diameter [MO] cuts the circle (C) in two points. Let E be one of these points ; (ME) is
tangent to (C). The same circle cuts (C’) in two points. We choose a point F such that (ME) and (MF)
are on opposite sides with respect to (MO). (MF) is tungent to the circle (C)
at F.

As far as the second question is concerned, it is enough to notice that the
centre O of the required circle is exactly the centre of the rhombus (this is a
centre of symmelry for the figure), and then, it is enough to construct a
perpendicular line from this centre to one of the four sides.

To construct a radius of this circle, we draw the perpendicular line [ON]
from O to one of the sides of the rhombus. [ON] is then the radius of the
required circle.

Notice that the determination of the point N can be precisely assured by
drawing the circle of diameter [OA], where A is one of the vertices of the
rhombus. This circle intersects one of the sides at N, and (ON) is
perpendicular to the side of the rhombus.

Competency 2.2. Understand, compare and contrast properties of geometric figures.
Example 1

Give two examples of non cyclic quadrilaterals. Explain.

Example 2 0

a) Construct circle (C) of center O and tangent
to line (d).

b) Construct circle (C;) tangent to (C) but not
tangent to (d).

()

¢) Construct circle (C,) tangent to (C) and to (d).
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Competency 1.4. Solve equations and inequations.

Example 1

The table below shows the protein and calcium contents for a dinner of roast beef and mashed
potatoes.

Roast Beef Mashed potatoes
Protein (g/serving) 25 2
Calcium (g/serving) 11 25

We need to compose out of these two types of food a diet menu that provides 29¢g of protein
and 61 g of calcium.

a) Translate this problem into a system of equations. (Competency 3.2 : Shift from one mode
of representation to another.)

b) Solve the obtained system.

¢) How do you form the proposed diet menu from the above-proposed menus?

(Competency 3.3. Explain procedures, validate and interpret resullts.)

Example 2

Solve each of the following system :
y=4-2x y=3x-1 y=2x-1
2) 1y=%(8x—12) : ®) y=%(6x—2); ©) y=%(6x—8)'
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Competency 1.3. Perform different types of calculation.

Example 1

Show that a conjugate of V26 =5 is 10 greater.
Example 2

A store has two managers, six employees and three workers. Each manager earns 35 000 000
LBP per year. The six employees earn 20 000 000 LBP each per year.
The annual salary of each of the workers is 15 000 000 LBP.

a) Tabulate the above information. (Competency 3.2: Shift from one mode of representation

to another.)
b) Find the mean salary.

Example 3

The numbers 3, 4 and 5 verify the relation 32 +4% = 5% Can you find three other whole
numbers that satisfy the same relation?
Example 4
Determine the acute angle o, to the nearest degree, in each of the following cases :
a) cos o =0.75. b) sina =0.75. ¢) tana=0.75.
Example 5
Consider in the coordinate plane of axes x'Ox, y'Oy the straight-line (d ) passing through point
A(0,4) and intersecting the axis of abscissas at an angle of 50°.
a) Find an equation of (d).
b) Is the solution unique?

Other competency (for the examples 1 and 2) : 2.5. Use coordinate system to characterize
analytically properties and relations of geometric figures.

Example 6

Consider P(x) =x(x +1)—x -1 and Q(x) = 4.\‘.[x - %) +2x—4.
a) Factorize P(x) and O(x).

o (+ 2
b) Let F(x) = ﬂ—‘) Evaluate F( 12378 j

ox) 1004368

¢) Verify that QL%} is a rational number.
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Domain : Calculation Activities.

Competency 1.1. Produce different forms of a number.

Example

A square is inscribed in a circle with diameter measure 9 cm. Leila, Nada and Karim are trying
to find the side length s of this square:

Leila says: s = 1/%

9
Nada says: s = —
V2
92
=
What do you think of these suggested answers?

Karim says: s =

Explain (Competency 3.3. Explain procedures, validate and interpret results.)

Competencey 1.2, Compare and contrast properties of numbers.

Example 1
In each of the following cases, list the numbers in increasing order:

a) 0,1:—1;57)-;—15;71.

374
b)@;l\/g;o,@;ﬁ_
3 '3V4 V2

(Others competencies :
1.1 Produce different forms of a number.
1.3 Perform different types of calculation.)

Example 2
Give a non-decimal rational number.

Give a non-whole decimal number.
Give an irrational number.
Some of the following numerical expressions represent whole numbers, find them.

Justify your answer.

J2Txy5 : 0.6 V15, V180 o

X ¥——=1 0,3.
V20 27

(Remember that 0,8 means 0.6666666666.... (unlimited).)
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Subject : Mathematics Basic Education 9

Tableau of Competencies

Domains Competencies

1.1  Produce different forms of a number.
1.2 Compare and contrast properties of numbers.

Calculation Activities |1.3 Perform different types of calculation (exact or
approximated numerical calculation, with or without
calculator, algebraic calculation).

1.4 Solve equations and inequalities.

2.1 Construct geometric figures under some constraints.

2.2 Understand, compare and contrast properties of geometric
figures.

) o 2.3 Use given properties of a geometric figure to infer and
Geometric Activities justify other properties.

2.4 Understand the characteristics of vectors in plane and use
them in different situations.

2.5 Use coordinate system to characterize analytically properties
and relations of geometric figures.

3.1 Select relevant information presented in various forms.

3.2  Shift from one mode of representation to another.

. 3.3 i d idate and int Its.

Problem solving and Explain procedures, validate and interpret results
Communication 3.4 Conduct different types of reasoning to carry out proofs.

3.5 Recognize proportionality in situations and conduct
proportional reasoning.

3.6 Make and verify conjectures.
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Example 2
[4B] is a fixed segment of length 6cm. M is a moving point such that MA* + MB? = 36.
a) What is the locus of M ?

b) Justify your answer.
(Competency 2.3. Use given properties of a geometric figure to infer and justify other
properties.)

Example 3
A and F are two fixed points and E is a moving point such that AEF is an isosceles triangle of

summit F, / is the midpoint of [AF] and M is that of [4E].
a) Express Ml in terms of AF.

b) Determine the locus of M. Justify your answer.
(Other competency 2.3. Use given properties of a geometric figure to infer and justify other

properties.)

171



Basic Education 8

Domain : Problem solving and Communication.

Competency 3.1. Select relevant information presented in various forms.

Example 1

a) Write a text which would allow a friend of yours to L

produce a figure similar to the given one. K

(Competency 3.3 : Explain procedures,

interpret results.)
b) Calculate OK and LA if SH=2cm.

(Others competencies :

3.4 : Conduct different types of reasoning

validateand M5 H A

to carry out proofs.

2.3 : Use given properties of a geometric figure to infer and justify other properties.)

Example 2

The following figure represents the
diagram for the cumulated numbers of
items of the distribution of 100 workers

in a factory according to the salaries.

a) How many are the workers whose

salary is, at least, 500 000 LL ?

b) How many are the workers whose
salary is between 300 000 LL and
750 000 LL?

© of workers

Salaries
250 300 400 500 750 1000 1500 in thousands

Competency 3.5. Make and verify conjectures.

Example 1

ABC is aright triangle at 4. M is the midpoint of

[BC]. 4 and B are fixed.
a) What is the locus of M ?

b) Justify your answer.

(Competency 2.3. Use given properties of a

geometric figure to infer and justify other
properties.)
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Example 2

a) [PQ] and [RS] are two distinct diameters of a circle with center O. What is the nature
of the quadrilateral PROS? Justify your answer.

b) [MN] and [KL] are two segments such that each one is held by the perpendicular bisector
of the other. What is the nature of the quadrilateral MKNL? Justify your answer.

Competency 2.3. Use given properties of a gcometric figure to infer and justify other
properties.

Example 1

The given figure represents a cube whose edge has a length a. A 1
Calculate CE.

g 1
U
Example 2 'VOO
. Q)
Calculate the angles and the segments of the opposite figure. | ™. g
- '\__‘_ Cf))
v 2
= R
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Domain : Geometric Activities.

Competency 2.1. Construct geometric figures under some constraints.

Example 1

In each of the following cases, construct a quadrilateral ABCD such that :
a) The four sides are equal,

b) The opposite sides are equal;

c) Two opposite sides are equal and the other two are parallel;

d) One right angle and two opposite sides equal;

e) One right angle and two opposite sides parallel.

Remark. As in all construction problems, we expect that the student describe his main steps, without
going into details. So for example, for the first construction, we expect an answer of the type :

We draw a segment [AB] then the circle of centre A and of radius AB.

We choose a point D on this circle (different from B and not belonging to the line (4B)).

We draw the circle of centre B and of radius BA, and the circle of centre D and of radius DA. These
two circles intersect at a point C (other than A). The four sides of the obtained quadrilateral ABCD
are equal.

Example 2

a) In a reference system of axes x'Ox and y'Oy, construct the rectangle O4BC such that 4

belongs to [Oy) and AB = 8cm and BC = 6¢cm.

b) Determine the coordinates of points 4, B and C, as well as those of points M, N, P and
0, respective midpoints of the sides [OA4], [4B], [BC] and [OC].
(Competency 1.3. Perform different types of calculation.)

—

¢) Construct the image of O4BC by the translation of vector OS where S is the centre of

the rectangle.

Competency 2.2. Understand, compare and contrast properties of geometric figures.

Example 1

What is my name?
a) I am a quadrilateral, I have two opposite sides that are parallel and equal.
b) I am a quadrilateral and all my sides are equal.

c) I am a quadrilateral and all my angles are equal.
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Example 3

a) Calculate 101” + 99 using an algebraic identity.

b) Calculate quickly:
1012 —992; 1001 —9997; 20 001x19 999,

(Other competency 1.3 : Perform different types of calculation. )

Competency 1.4. Solve equations and inequations.
Example 1
a) Find x if we have : (5x — 3)(2x —2) = 0?
b) Find x if we have : (2x — 2)(2x + 3) = (x — 1)(x — 5).
Remark: Although the student is expected to start by expanding the two members of this equality,

it is advised to leave the student alone facing the difficulty in order to let him take the decision of
changing the strategy.

Example 2
a) Among the numbers 0, -7, 4 and —4 choose two solutions of the inequality

1 -5x <21.

b) Solve the inequality 3x — 2 > x — 4 and represent the solution on the number line.
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Domain : Calculation Activities.

Competency 1.1. Produce different forms of a number.

Example

a) Write each one of the following numbers in an expanded form according to powers of 10:

1235 801,1809 5002.001 025 0.000 028.

b) Represent each one of the following numbers in a scientific notation :
12.52 2035.58 0.005209
¢) What is the number represented by the configurations displayed on the screen of a

calculator, in each of the following cases?

1.2156 02 g£.58135 -03 5.3k002 07

Competency 1.2. Compare and contrast properties of numbers.

Example 1
Calculate the GCF and the LCM of the following numbers : 30 ; 50 ; 90.

Example 2

Compare : and %: 4 and V15 344 and 443

NI IR

(Other competency : 1.1. Produce different forms of a number).

Competency 1.5. Perform different tvpes of calculation.

Example 1

Factorize :

(Bx-2) -(2x+1)*; x?—6x+9; 3x(x—2)+6(x —2).

Example 2

w‘@ia

a) Is there any difference between the two forms and —Z— ? Justify your answer.

2
3+ !
b) Simplify g

3
=+
4 3
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Subject : Mathematics

Basic Education 8

Table of competencies

Domains

Competencies

Calculation Activities

1.1
1.2
1.3

1.4

Produce different forms of a number.
Compare and contrast properties of numbers.

Perform different types of calculation (exact or
approximated numerical calculation, with or without
calculator, algebraic calculation).

Solve equations and inequalities.

2.1  Construct geometric figures under some constraints.
2.2 Understand, compare and contrast properties of geometric
figures,
Geometric Activities 2.3 Use given properties of a geometric figure to infer and
Justify other properties.
2.4 Apply the concepts and the relations of measures in
different situations.
3.1 Select relevant information presented in various forms.
) 3.2 Shift from one mode of representation to another.
Problem solving and ) ) )
Communication 3.3 Explain procedures, validate and interpret results.
3.4 Conduct different types of reasoning to carry out proofs.
3.5 Make and verify conjectures.
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Big

¥
p=1

Middie \ Small.

4

Big
Middle
Small

a) What is the number of maize ears of each size? (Write all the calculations as well as the
answers).
b) Complete the bar graph below, representing the same distribution.

(Competency 3.2 : Shift from one mode of representation to another.)

Competency 3.5. Make and verify conjectures.

Example 1

a) M is a point that moves on a circle with center O and radius 4cm. N is the midpoint of
[OM]. What is the locus of the point N ?
b) Justify your answer. (Competency 3.4 : Conduct different types of reasoning to carry out

proofs.)
Example 2

a) B and C are two fixed points and 4 is a point that moves in such a way that triangle ABC is
isosceles with base [BC]. What is the locus of point 4 ?
b) Justify your answer. (Competency 3.4 : Conduct different types of reasoning to carry out

proofs.)
Example 3

a) Complete each of the following sequences :
) 1,4,9,16, 25

i)1,1,2,4,3.9,4,16, ..

i1, 1,1,2,4,8,3,9,27,4,16, 64, ..

iv)l—l ,1—1,1—1....What is the 100™ term of this sequence?
2 3 4 5 6

b) Explain. (Competency 3.3 : Explain procedures and validate results.)
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Example 2

Consider the following problem : «The age of a father is three times his son's age. In 10 years,

the father's age becomes the double of his son's. How old is each one of them now ?»

a) Write this problem as an equation.

b) Solve the obtained equation. (Competency 1.4 : Solve equations.)

c¢) Verify the obtained result.

d) Solve the same problem while replacing the phrase " In 10 years " by " In 5 years ". What
can you say in this case?

Example 3

. : . x
a) Write a sentence translating the equality : B = 54

b) Formulate a situation that can be translated by the above equality.

Competency 3.4. Conduct different types of reasoning to carry out proofs.

Example 1 c

In this figure, a quadrilateral CHAT with equal sides is given.

O is the point of intersection of the diagonals. - - 0 -
a) Prove that the triangles 74C and HAC are equal. i ]
Determine the homologous elements. ‘ :

b) Prove that (CH) is parallel to (74) and that (7C) is parallel to (4H).

Example 2 | ._ D!_ ‘ | _|E
[f [4J] represents a segment with length 7cm, how much should be .
the lengths of the other segments of the shaded polygonal form of this | | @1 |
given figure ? |

Example 3

A peasant distributed his 750 maize ears according to 3 sizes : big, middle and small. The

given pie chart represents their distribution (the 6 sectors on the chart are equal).
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Competency 3.2. Shift from one mode of representation to another.

Example 1
The following list represents the marks in Maths taken by the students of a class :
12-15-10-15-8-10-12-8-12-10-15-14-14-12-10-11-11-10
10-11-12-14-13-8-13-15-10-9-9-10.
a) Organize these data in a table showing the number of items corresponding to each grade.

b) Represent these information in a bar graph..

Example 2
The opposite drawing represents a "transparent” cube. i
a) Modify it so that it represents an opaque cube whose top face is seen. | ‘

b) Modify it so that it represents an opaque cube whose bottom face is seen. |

Example 3
1) In areference system with axes x’Ox, y 'Oy, place the points S(2 ;5) and P(-2 ;—4).
2) Place the point M such that (MS) is parallel to (x x) and (MP) is parallel to (y’y). What are

the coordinates of M ?

Competency 3.3. Explain procedures and validate results.

Example 1
Calculation program :
e Think of a whole number.
e Multiply it by ......... :
e AddSs.
e Multiply the resuit by......... .
e Add the original number.
e Subtract......... .

e (@ive the result.
a) y being the chosen number, suppose that the following expression represents the text
above : (yx 11 +5)x9+y—45
Complete the text by filling in the blanks with the missing numbers.
b) Reduce the expression. (Competency 1.3 Perform different types of calculation.)
¢) Explain how you can use the result in b) to create a similar game that you can astonish

your friends with.
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Domain : Problem solving and communication.

Competency 3.1. Select relevant information presented in various forms.

Example 1 P
a) Write a text that would allow a friend \
/ \
of yours to produce a figure similar to / \

the one given besides.

(Other competency : 3.3. Explain A \

procedures and validate results.) /

N N
b) Calculate the angles ASC and PBE .

(Other competency : 2.3. Use given
properties of a geometric figure to infer |
and justify other properties.)

Example 2
a) Organize the information provided by the graph below using a table.

Basic Education 7

(Competency : 3.2. Schift from one mode of representation to another. )

of Students

Number

15

10
10 | L — _ g o= B __

w

& 3

2

E | Marks in Math

7 10 12 156 18

b) 2) How many students have marks greater than 11?
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Example 2
Without using tools of measurement, complete the following tables according to the triangles

given below :

F
A
bem | 6cm G
] \\,‘]
B A c E 2 g \
N Length We cannot Measure | We cannot
| (incm) answer (in degrees) answer
AB B Angle A B
BC Angle B |
AC Angle c
DE Angle D
EF Angle £
DF Angle F
GH B Angle G
HL Angle A B
GL Angle L

Competency 2.3. Use given properties of a geometric figure to infer and justify other
properties.

Example 1

ABC is an isosceles triangle with base [BC]. (d) is the perpendicular bisector of [BC].
Why does A belong to (d) ?

Example 2
A
Given that (BC) is parallel to (DE), calculate all the angles of |
, B ly
the given figure. Justify your answers. -
- 300 ! |
D E
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Domain : Geometric Activities.

Competency 2.1. Construct geometric figures under some constraints.

Example 1

Basic Education 7

In each of the following cases, construct a triangle ABC . In the cases where more than one

solution is possible, construct two different triangles

a)AB=3cm ;
b) AB=3cm ;
¢)AB=3cm ;
d)4B=4cm ;
e)AB="7cm ;
PN
f) ABC =40° ;
Example 2

BC=4cm; AC=6cm.

PERN

BC=4cm : ABC = 40°.
2N
ABC=45°: BAC=30°.

BC =5cm.
PN
ABC = 50°,
PN
BAC = 60°.

Without using graduated ruler

a) Draw a segment [45] and construct the perpendicular to this segment at a point M such
that AM = 3MB.

Remark. As far as the problems of construction are concerned, it is fairly enough that the student describe
the main steps, without going into details. Therefore, for this example, we expect an answer as : We
construct the perpendicular bisector of [AB], this passes through the midpoint N of [AB], then we draw the
perpendicular bisector of [NB] : this is the required fine, M is the intersection point of this line with [AB].

b) Construct a point C not belonging to (4B) and such that C4 = CB, then construct the image

of the obtained figure by the translation which transforms A into C.

Remark. In this question, we expect that the student describe his steps as follows :

Cis a point of the perpendicular bisector of [AB],
A’ is the image of A, B’ is that of B and C” is that of C by the translation (these points must be placed on

the figure, with segments [AA’], [BB’], [MC] and [CC’].)

Competency 2.2. Understand, compare and contrast properties of geometric figures.

Example 1

True or False ?

a) The centre of a circle belongs to the perpendicular bisector of any chord of this circle.

b) In an isosceles triangle each bisector is an axis of symmetry.

¢) In an equilateral triangle each bisector is an axis of symmetry.

159



Basic Education 7

Example 4
-
A - e B
"
X . . E
¥
D c

R i .7-'.:‘.- A

Do the figures ABECD and TIR have the same perimeter ?

(Other competency 3.4 : Conduct different types of reasoning to carry out proofs.)

Competency 1.4. Solve equations.

Example 1
What is the value of x if
a) Sx+3=87
b) Sx+3=4x+47
c) Sx+3=2x+47
Example 2

3+3x
The given figure represents a rectangular piece of e =

land. It is surrounded three times by an iron wire. |
What is the value of x if the length of the used wire is |
424m? |

Example 3

Complete the following equation so that % isaroot :

5x+3=....x+4.
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Basic Education 7
Example 3
List the following numbers in an increasing order:
E; l4—1; 3+l; 6><l+l.
2 3 2 2 4

(Other competency 1.1 : Produce different forms of a number.)

Example 4

Some of the following numbers are equal to each other. Which ones ?

250, D=-2x(=3)-4; E=1"x—.

A=-3+5,; B=3-5; CE —3
500 2

(Other competency 1.1: Produce different forms of a number.)

Example 5

Two clocks strike regularly. The first one strikes every 12 mns and the second one every 15
mns,

If these two clocks stroke together at midday, when will they strike together again for the first

time ? for the second time ?

(Other Competency 3.4 : Conduct different types of reasoning to carry out proofs..)

Competency 1.3. Perform different types of calculation.

Example 1
a) Write the numerical expression corresponding to the following sequence of calculator
keys.
T 1 1 6 3 T
b) Use the calculator to carry out the calculation.

Example 2

Add brackets, if necessary, to have true equalities :

10+20x30=610; 10 +20 x 30 =900.
Example 3

Develop and simplify the like terms: C =3 (¢* + a —2) + 2.5 (2a + 4).
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Domain : Calculation Activities.

Competency 1.1. Produce different forms of a number.

Example 1
Complete the tree diagram. What is the |

factorized number? Write it as a product of

prime numbers. | 126
X
6 | |
X X N X
2 I = I T e 1 B
Example 2
a) Write each of the numbers A, B and C as a product of two fractions having denominators
3
different from 1 : _10 g2 c=222
21 8 3

b) Write each of the numbers A, B and C as a product of a whole number by a fraction.

¢) Write C as a product of three numbers.
Example 3
Give the decimal form of each of the following fractions :
17, 21, 45
25° 6’ 18

Competency 1.2. Compare and contrast properties of numbers.

Example 1
Which of the following numbers are prime numbers? Justify your answer:

6l; 29023 ; 176 532 ; 127 ; 123.

Example 2

Which of the following fractions are decimal fractions? Justify your answer.

17 5 21 45

25" 42 6’ 18"

156



Subject: Mathematics

Basic Education 7

Table of competencies

Domains Competencies
1.1 Produce different forms of a number.
1.2 Compare and contrast properties of numbers.

Calculation Activities 1.3 Perform different types of calculation (exact or approxima-
ted numerical calculation. with or without calculator,
algebraic calculation).

1.4 Solve equations. B o

2.1 Construct geometric figures under some constraints.

2.2 Understand, compare and contrast properties of geometric
figures.

Geometric Activities 2.3 Use given properties of a geometric figure to infer and jus-
tify other properties.

2.4 Apply the concepts and the relations of measures in diffe-
. rent situations.
3.1  Select relevant information presented in various forms.
) 3.2 Shift from one mode of representation to another.
Problem solving and ) .
Communication 3.3 Explain procedures and validate results.
3.4 Conduct different types of reasoning to carry out proofs.
3.5 Make and verify conjectures.
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Education de base 6
Domain: Problem solving and communication.

Competency 3.1. Select relevant information from different sources.

Example
a) What is the information given in the figure? [T N
b) What is the type of each of the triangles ARO and . — 0
COP? (Competency 2.2. Compare and contrast i
properties of geometric figures.)
c) Can you deduce all the angles of the figure?
(Competency 2.2. Compare and contrast properties of geomeltric figures.)

Justify your answer. (Competency 3.3. Explain procedures and results.)

Competency 3.2. Use the concept of proportionality to solve problems.

Example 1

Draw the plan of a rectangular field of dimensions 30,5m and 35,7m, at a scale drawing of

=000 and indicate on the figure the lengths of the sides in cm.

(Other competency 2.1: Construct geometric figures under some constraints.)

Example 2

In a locality of 4 000 voters, the turnout at the elections was 45 %. What is the number of

voters that did not participate at the elections?

Competency 3.4. Shift from one mode of representation to another.

Example

The following data is the result of a study on the sportive activities of the students in a class

BE6 (B : Basket-ball, F : Football, V : Volley-ball) :

B-B-V-F-F-F-B-B-V-V-B-B

F-V-F-F-F-B-V-B-B-V-F-F.

a) Represent these data in a table showing the number of students preferring each of the
sportive activities.

b) Represent the obtained data with a pictogram.
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Competency 2.4. Apply the concepts of measurement in various situations.

Example

What is the area of the marked region in the drawing below? (The unit is any square on the
grid).

153



Education de base 6

Competency 2.3. Use properties of geometric figures to infer other properties.

Example 1
Given any triangle.

e What is the maximum number of obtuse angles that this triangle can have?
¢ What is the maximum number of right angles that this triangle can have?
e What is the minimum number of acute angles that this triangle can have?

Example 2

What are the measures of the other angles? £ N

/N, 60°
(’J \ '.‘.
Example 3 4

The triangle ABC is the symmetrical of the triangle P/E with respect to the line (a).
N
What is the measure of the angle P/E ?

(@)
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Domain: Geometric Activities.

Competency 2.1. Construct geometric fisures under some constraints.

Example 1
a) Construct a triangle having one side of 3¢m and another of 4cm.

b) Can you construct another triangle satisfying the conditions of the previous question?

Example 2 ——J]— —
Recopy the given drawing and construct the s -
' - . j — = / : _"._.__ =
symmetric of the broken line with respect to —— — 7 N
the point O. — — === —
= — T

Competency 2.2. Compare and contrast properties of geometric ficures.

Example

Put an X in the appropriate squares :

2 b
% =
= | 8E
g2 s &
aE | »E
= F: .E c
- ey (ot
= o e S 0
e o .
< S < ©

A triangle

An isosceles triangle

A right triangle

An equilateral triangle
A rectangle

A square

A circle B

A parallelogram

151



Education de base 6

Competency 1.4, Perform simple calculations on algebraic expressions.

Example 1
a) If x denotes a number, what does represent 2x? 2+x? x%?

b) If n denotes a natural integer, how to represent the double of n? The triple of n?

Example 2
a) What is the value of the expression 2n+1 for n =8 ? For n =14 ? Forn =124 7

b) What property is satisfied by a number of the form 2n+1 ?
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Education de base 6
Domain : Numerical Activities.

Competency 1.1. Produce different forms of a number.

Example 1

What number, when reversed, gives an expanded form like:

9x10 000+5x100+i.
100

Note that, the number 1435, if reversed, becomes 5341.

Example 2
Among the following fractions, which one is decimal?
3. 9 10 24
5° 27 ° 60 75

Competency 1.2. Establish relations on numbers.

Example 1
Calculate the GCF and the LCM of the numbers 36 and 48.

Example 2
Give two numbers, prime to each other, with one having two digits and the other having three

digits.

Competency 1.3 : Perform different types of calculation .

Example 1
Salwa is at the ground floor of a building having 10 floors and 5 basements. She takes the elevator and
goes up two floors, then goes down three floors, then two floors, then goes up seven floors. After all
this, Salwa leaves the elevator.
a) Write a numerical expression representing the motion of the elevator from the ground floor

to the floor when Salwa left the elevator.

b) At which floor did Salwa leave the elevator?

Example 2
(.)5+(.)6+(.)7=+6
This is a sum of integers. The signs have been erased. Write the missing signs of the integers

to have a true equality.
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Subject: Mathematics

Basic Education 6

Table of Competencies

Domains Competencies
1.1 Produce different forms of numbers (decimal, fractional or
integer).
1.2 Establish relations on numbers (comparison, multiple,
Numerical Activities divisor, GCF, LCM, etc.).
1.3 Perform different types of calculation (exact, approximate,
estimated, mental; with or without a calculator).
1.4 Perform simple calculations on algebraic expressions.
2.1 Construct geometric figures under some constraints.
2.2 Compare and contrast properties of geometric figures.
Geometric Activities 2.3 Use properties of geometric figures to infer other
properties.
2.4  Apply the concepts of measurement in various situations.
3.1 Select relevant information from different sources.
HEDbIEI SOI.V ng and 3.2 Use the concept of proportionality to solve problems.
Communication
3.3 Explain procedures and results.
3.4  Shift from one mode of representation to another.
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Marina’s meal :

200 g of meat

1/2 pitta bread

2 average tomatoes
4 average carrots

Hala’s meal :

* 4 average potatoes
e 5 average carrots
250 g of fish

25 ¢/ of milk.

Who took more calories?

(Other Competency 3.2. Solving problems by setting strategies.)

Example 2

A chief scout has to organize the summer camp.
He has in his room the following information :

Troup name Number of children

Jeita 32

Byblos 31

Tyr 30

Baalbeck 31

Tripoli 25

Saida 28

Camp name The troups

The Hawks
The Eagles

In each camp there should be a maximum of 90 children.
Children of the same troup should be in the same camp.

How would the chief scout distribute the troups in the camps ?

(Other competency : 3.2 Solving problems by setting strategies).
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Domain : Problem solving.

Competency 3.2. Solving problems by setting strategies.

Example

a) Divide 2252 by 21 and determine the quotient and the remainder.
(Competency 1.3 Perform different types of calculation).

b) Using the results obtained in the first question, treat the following situations :

e A farmer collects 2 252 mushrooms. He sells them in cans of 21.

How many cans did he sell?

e A florist has 2 252 roses. He makes sets of 21 roses and takes home the rest of the

roses.
How many roses did he take home ?

o Today, 2 252 tourists used buses to visit Baalabeck. A bus can transport a maximum of

21 persons.
How many buses have left to Baalabeck ?

e A weekly production of an oil company is 2 252 litres. The oil is stored in containers

21 litres each. And, no oil is wasted.

What quantity of oil is in the container which was the last to be used ?
Explain the way you have chosen your answers.

(Competency 3.3. Explain procedures and results.)

Competency 3.1. Select relevant information.

Example 1

The following table indicates the number of calories provided by certain types of food.

Type of food Calories
Average banana 100
Average apple 80
1/8 of a pitta bread 80
25 cl of milk 150
Average potato 90
Average tomato 30
Average carrot 28
100 g of meat 220
100 g of fish 90
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Domain : Measurement and Geometric Activities.

Competency 2.2. Reproduce drawings using geometric tools.

Example .
By following the instructions, draw a figure similar to 7 '\\.\
/ = N
. . / N
given one : / \‘%
¢ Draw a segment [AB] whose length is 6 cm. A : = — f: = —}-B
¢ Draw the circle of diameter [4B]. Mark its centre /. \ Y/
e Draw the circle of diameter [/B]. ‘\ ™~ / /
N /

Competeney 2.3. Exploit the concepts of mesaurement.

Example 1

Which of the following situations make you think about area, and which ones make you think
about perimeter ?

Put a X in the right cell.

perimeter area

a) Surround a piece of land with a fence
b) Plant the third of a piece of land.

¢) Buy a piece of land.

d) Run around a piece of land.

¢) Exchange pieces of land.

Example 2

We wish to compare the areas and the perimeters of A and B.

(, A ) ) B (

N S 5 e
Circle the right answer

A and B have the same perimeter.
The perimeter of A is greater than that of B.
The perimeter of B is greater than that of A.

A and B have the same area.
The area of A is greater than that of B.
The area of B is greater than that of A.
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Example 2

What is the number nearest to the suggested one ? Circle the right answer (without

calculating)
e 657+0.99 757 658 7.57 657
e 36+4.99 41 500 36 4.99
o 88x10.9 900 9500 90 100
e 365-10.99 265 350 40 35
Example 3
Without calculating, complete by < , = or >.
39x0.8 ... 39 89x1.02 ...... 89
65%x24 ... 28 x 17 54x13.5 ... 54 x 14
68.6x23 ...... 68 x 2 106 -7.99 ...... 106 -8
Example 4

a) Estimate the numbers without performing exact calculations.

The product Is less than 1 Is between 1 Is between 10 | Is between 100
and 10 and 100 and 1000
13.75 x 12.5
125 x 0.035
254.1x2.2
25.7 x 22

b) Perform the multiplications and check if your estimation is correct .

13.75x 12,5 = 125 x 0.035 =

2541 x22= 257w 2 %=
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Domain : Numerical Activities.

Competency 1.2 : Establish relations on numbers.

Example 1

Disposable plates are sold by sets of 12.
Three friends want to buy plates.
Maha requires 36, Samia 60 and Imane 82.
The shopkeeper told them : one of you must change his order.
What order should be modified ? Why ?
Example 2
Which ones among the following durations are those which don’t represent an exact number
of hours ?
Cross them.
60 min 160 min 30min 240 min 180 min 200 min
(Other competency : 1.4. Perform calculation in the sexagesimal system.)
Example 3
A father calls his children Ziad and Rime and tells them to open the safe. This safe has a
numerical code composed of three digits.
The children were not sure about the three digits. They recalled that the code did not contain
any of the digits 0, 1, 4, 6, 7, 9.
Rime says : I remember that it is a multiple of 5.
Ziad says : I know that it is a multiple of 3.
Which numbers should they try ?
Explain your thinking.
(Other competency : 3.2. Solving problems by setting Strategies.)
Competency 1.3. Perform different types of calculation.

Example 1
For each of the following calculations, several answers are suggested. Only one is correct.

Without calculation, circle the correct answer.

o 25.64x%x4.1 is equal to 105.124 10.5124 104.54
o 745x%x34 1s equal to 2533 253.3 300.20
e 87x0.99 is equal to 86.13 8613 8.613
e 256 x1.09 is equal to 249.04 27.04 279.4
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Subject : Mathematics

Basic Education 5

Table of Competencies

Domains Competencies
1.1 Produce different forms of a number (natural, decimal or
fractional)
1.2 Establish relations on numbers (comparison, multiple,
Numerical Activities divisor, etc.)
1.3 Perform different types of calculation (exact, approximate,
estimated, mental; with or without calculator).
1.4 Perform calculation in the sexagesimal system.
2.1 Describe and classify plane figures using their properties
(symmetry, parallelism, orthogonality, etc.).
Measurement and . . .
. e 2 i
Geometric Activities 2 Reproduce drawings using geometric tools
2.3 Exploit the concepts of measurement.
2.4 Describe solids.
3.1 Select relevant information (from a text, a table, a diagram,
a result etc.).
Problem solving g )
and communication 3.2 Solving problems by setting strategies.
3.3 Explain procedures and results.
3.4  Shift from one mode of representation to another.

142




Education de base 4

Or:
Number of steps Number of blocks

1 1

2 1+2=3
3 3+3=6
4 6+4=10
5 10+5=15
6 15+6=2]
7 21 +7 =28

The latter presentation does not set a pattern in terms of the rank, but it sets a recurrent

pattern.

We need 28 blocks for a staircase having 7 steps.
The pattern : the number of needed blocks is the sum obtained by adding the number of steps

to all the smaller whole numbers?

Example 2

Ali and Nidal are playing a game : Ali says a number and Nidal applies a rule in his mind and

gives an answer. Here is the game.

Ali’s number

Nidal’s number

8

17

10

21

15

31

What is Nidal’s rule ?

(Other competency : 1.2 Establish relations on numbers. )
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Competency : 3.2 Solving problems by setting strategies.

Example 1

In a factory, two machines produce plastic bowls.

One machine produces 126 white bowls each hour, and runs 8 hours per day and 5 days per
week.

The other machine produces 82 coloured bowls in an hour, and runs 8 hours per day from
Monday to Friday, and 4 hours on Saturday.

The factory closes on Sundays.

How many bowls does the factory produce in one week?

Explain clearly all the steps of your calculation.

(N.B. Student may use a calculator).

Example 2

Here are staircases with blocks. The first has one step, the second has 2 steps and the third one
has 3.

How many blocks do we need to construct a staircase having 7 steps?
Can you figure out the answer without actually constructing it? Is there a pattern? What is this
pattern? Explain your thinking clearly.

Comments
This problem is essentially based on the comprehension of the information and the implementation of a
strategy that allows the establishment of a pattern. The computational competencies put in practice in
this example are negligible, and thus will not be taken into consideration.

Expected answer :

Number of steps Number of blocks
1
iR 2 =3
1+2+3=6
1+2+3+4=10
1+2+3+4+5=15
I+2+3+4+5+6=21

I+2+3+4+5+6+7=28

N[N [ AW N~
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Domain: Problem solving and communication

Competency : 3.1 Select relevant information.

Example
The following table is extracted from an "appointment book". It gives the distances between

some European cities.

g B E S = g S © 0 Q 8 g | s

& m = &} s p= > > N
Barcelona | 0 |1419|1284| 758 | 644 | 515 | 1349| 685 (1125|1471 132719891036
Brussels 0O |[409 | 674 | 671|999 | 811 |1277| 294 |1615|1229| 1134 641
Frankfort 0 | 585 | 640 | 1004 | 383 |1085| 592 | 1406|1020 725 | 432
Geneva " 0 | 162 | 443 | 591 | 483 | 546 | 1093 | 707 | 1055]| 278
Lyon 0 | 328 | 753 | 440 | 481 | 1066| 789 | 1217 | 404
Marseilles | 0 | 1034|227 | 809 | 956 | 812 | 1414 | 721
Munich 1 0 | 911 | 827 | 969 | 504 | 458 | 313
Nice 0 | 921 | 729 | 585 [1187| 665
Paris i 0 |[1531)|1145]|1285| 557
- Rome 1 0 |1761|1168| 986
Venice 0 | 610 | 600
Vienna 0 7§
Zurich i 0

1) In this table there are "0". What do they mean?

ii) Can you complete this table (by filling the empty squares)? Explain.

i) What are the closest two cities? The most away from each other?
(Other competency : 1.2Establish relations on numbers).

iv) A plane makes the journey : Paris — Lyon — Geneva — Brussels — Paris, at 500 km/h
as an average speed. What is the distance crossed by the plane, and how much time is

spent on the air? (Other competency : 2.3. Exploit the concepts of measurement.)
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Competency : 2.3 Exploit the concepts of measurement.

Example 1

What is it about ? In some cases, many answers are possible.

length Mass | capacity | duration | money

I put on my clothes quickly to go to
school.

The apples did not sell this year as
good as the last year.

When I want to buy a can of maize, [
look for the one that contains most.
They announced on TV that there
will be a water supply cut off. [ have
to check the quantity of water in the
tank.

This van is too much loaded. It
should not cross this bridge.

Marina wants to know how many
apples does it take to make one
kilogram.

If you use this product for your
plants, they grow faster.

The store « All for children®* has

announced important sales.

Example 2
The students of a class decided to walk around a rectangular field

4 times. They want to know if that would come up to 1 km.
Ziad and Hadi measure one side of the field each.

Ziad gets 72 m for the longer side and Hadi says that the shorter

side is 5 dam 6 m.
a) Write the obtained measures on the given figure.

b) Do you think that the students will have to walk more than 1 km?

138



Education de base 4

Domain : Measurement and Geometric Activities.

Competency : 2.2 Reproduce drawings using geometric tools.

Example 1

Complete the left-side drawing to make it identical to the drawing on the right.

Use the compass, the set square and a numbered ruler.

Example 2

By remaining inside the frame, draw the missing parts of each figure in order to have two

identical figures.

3
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Example 5

Round each number to the nearest 10, then give an estimate of the result.

e 36589 + 12075 —> ... o T T —

e 65327 - 32.57 P vass s o wEE - S

e 31.65 x 1254 T e X et na P

.- 125436 — 36.857 R S = g e 305 RS —> ssspeREa T
Example 6

For each of the following expressions,
i) Without calculating, give an approximate value of the result.

ii) Use the calculator to compute this value.

Approximate value of the Result obtained by the

Expression result calculator

89.6 +72.1 +103

687.9 -199.2

387 x 10.1
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Competency 1.3. Perform different types of calculation.

Example 1 Note to the teacher:
These examples should be treated without

a) Without calculating, cross the answers that are drafi paper, using a pen not a pencil, and

certainly wrong without correctors.
o 253x4] = 10 419 10373 2834
o 84x84 = 7056 14316 7132
e 162x53 = 8 586 2006 8942
o 234x42 = 1748 9828 9376

b) Explain your choices, for the last two lines.

(Competency 3.3: Explain procedures and results.)

Example 2

By dividing 6 048 by 12, Leo obtained 54 and Lina 504.
Without calculating, can you say which quotient is certainly wrong ?

Explain (Competency : 3.3 Explain procedures and results).
Example 3

How muchis 100 x 100 ? ......................
Circle the products that are grater than 10 000.

Don't calculate them.

75 x 89 123 x 108

526 x 30 235 x 122

1 099 x 5 406 x 221

498 x 18 631 x 25

2087 x4 2032x5
Example 4

Without calculating, circle the right answer. Explain your choice.

With 10 000 LP, can you buy 20 pencils at 525 LP each ? oui non
You have 3 kg of jam. Can you fill 6 jars of 455 g each? oui —
(Other competency : 2.3. Exploit the concepts of measurement)

One biscuit costs 750 LP. oui non

Can you buy 8 biscuits with 5 000 LP ?
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Education de base 4

Domain : Numerical Activities

Competency 1.1 : Produce different forms of a number (natural or decimal).

Example 1

Write the number 100 as a product of numbers. Give as many ways of writing it as a product
as you can. Don’t use the numbers 1 and 100.
Write one product per cell.

Product of two Product of three numbers Product of four
Numbers numbers
Example 2

A factory produces wooden pearls.

A machine ranges the pearls as follows :
e 10 pearls in a bag

e 10 bags in a box

e 10 boxes in a big box.
On Monday, the factory produced 8654 peatls.

a. How many bags are completely filled 7 ...

b. All the pearls were ranged . How many big boxes, boxes, and bags can you see at the exit
of the machine ?

Example 3
Join to each number of the list A a number of the list B that is equal to it.
A: 35 0.3 5.23 0.73 0.37
B: = 3+0.5 l+i —7—+i 5+0.23
10 10 100 100 10

(Other competency : 1.2 Establish relations on numbers.)
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Subject : Mathematics

Basic Education 4

Table of Competencies

Domains Competencies
1.1 Produce different forms of a number (natural or decimal).
1.2 Establish relations on numbers (comparison, multiples,
Numerical Activities ete.)
1.3 Perform different types of calculation (exact, approximate,
estimated, mental; with or without a calculator).
1.4 Perform calculation in the sexagesimal system.
2.1  Describe and classify plane figures using their properties
(symmetry, parallelism, orthogonality, etc.).
G?::?lsel:::cm::tti\?il:iis 2.2 Reproduce drawings using geometric tools.
2.3 Exploit the concepts of measurement.
2.4 Describe solids.
3.1  Select relevant information (from a text, a table, a diagram,
Problem solving ete.).
and communication 3.2 Solving problems by setting strategies.
3.3 Explain procedures and results.
3.4  Shift from one mode of representation to another.

133




Basic Education 3

Example 3

What can you conclude from the drawing below? Explain

(Other competencies: 3.4. Express oneself by different means.
2.3. Exploit the concepts of measurement (length, mass, duration,
Lebanese currency, etc.) and choice the appropriate unit to a
given situation.)

132



Basic Education 3
Domain: Problem solving.

Competency: 3.1 Select relevant information from a text, a table, a diagram, etc.

Example 1

A bakery closes on Fridays and Sundays. On Monday, the baker made 35 zaatar man'oushies and 18
cheese man'oushies. He baked these same numbers of man'oushies on Tuesday, Wednesday and

Thursday. On Saturday, he baked double the amounts of man'oushies baked on Thursday.

a) Organize the given information in the table below:

zaatar cheese

Monday

Tuesday
Wednesday
Thursday

Friday

Saturday

Sunday

b) b. Ask 4 questions that require calculations using the above information.

Example 2

What is the price of the following necklace?.

e Q@A Q@ Vo
Q PAY

10 g, 100 LL 15¢g, 150 LL 20 g,200 LL
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Example 3

Basic Education 3

a) Estimate the length of the pencil drawings and write your estimated values in the first

column of the table.

Compare your estimation to the result of measure

Result of Greater than Less than Almost equal
Estimatation measure result result to result
a. | e cm ...cm
b. | vewien cm sCM
G | esee cm ...Cm
d. | wes em | asiee cm

b) After you have filled-in the first column, measure every pencil and write the results in the
second column. Then complete the table by comparing your estimation to the resuit of

measurc.
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Basic Education 3

Example 2

You have in your pocket 6000 L.L. You want to buy a meal including at least one drink, one
sandwich, one fruit and one dessert.

Use the following price list to select things that you would buy.

2500 LL.

\\‘/.
300 LL.

1550 LL.

a) Write your choice.
b) Other choices are also possible. Write 2 other choices.

(Other competencies: 3.1 Select relevant information from a text, a table, a diagram, etc.
3.4 Express oneself by different means.)
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Basic Education 3

Domain: Measurement and Geometric Activities.

Competency 2.3: Exploit the concepts of measurement (length, mass, duration, Lebanese
currency, etc.) and choice the appropriate unit to a given situation.

Example 1

Park (6:35)
Departure of the bus (6:20)

Y———¥y

\ Municipality (6:55)

(@)

Supermarket (7:10)

/

O4 O
School (8:00) Gaz station (7:40)

a) How much time did it take the driver to go from departure to Municipality?
b) How much time did the driver spend between the park and the supermarket?
¢) Rima says: «The driver took more time to go from departure to the supermarket than than

that taken from the supermarket to the school». Is she right ?

(Other competencies: 3.1 Select relevant information from a text, a table, a diagram, efc.
3.4 Express oneself by different means.)
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Example 2

Join any two numbers that add up to 200.

155 165
35 48
Example 3
Complete;
3254 .. i s .0, =1 000
637 + sus 5w waw ... = 1 000
803 +............= 1000
450+ ... ... v b.=1000

Basic Education 3

162

152

55
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Basic Education 3
Domain: Knowledge of Numbers and Numerical Activities

Competency: 1.2 Compare and arrange numbers.

Example 1
Without calculation, use the right sign (<, > or =) in the space «« ......... .
136 +89......... 98 + 136
25%x36 ......... 98 x 136
1642-368 ......... 1642 - 757
154 -128 ......... 54 -28
Example 2

Write in the rectangle a suitable number.

1671 + <1815+ 1671
372 - >372-187
Example 3

a) Replace ¥ with a suitable digit :
6756 —-891<6756—89%

b) Complete with a suitable digit :
819743 <819-7 .... 4.

Give also another possibility.

Competency 1.4 : Use processes of mental calculation.

Example 1

Colour all the cases which make 300.

700 — 400 250 + 50 130 + 40 150 x 2 36 x 10
275+ 35 275+ 25 320-20 35050 1 000 - 700
295+5 16 x 10 36 x3 525 387 - 87
17 x 2 100 x 3 25 x 2 136 50x3
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Subject: Mathematics

Basic Education 3

Table of Competencies

Domains

Competencies

1.1

Produce different representations of a number.

1.2 Compare and arran mbers.
Knowledge of Numbers and P e S
Numerical Activities 1.3 Perform operations on numbers.

1.4 Use processes of calculation (exact, approximate,
estimated, etc.)

1.1 Describe polygonal figures.

1.2 Reproduce polygonal figures according to given criteria
(by symmetry, on grids, etc.)

GMeas:r.em:ntt' a_ltl d 1.3 Exploit the concepts of measurement (length, mass,
S VIS duration. Lebanese currency, etc.) and choice the

appropriate unit to a given situation.

1.4 Classify solids or geometric plane figures according to

_ given criteria.

1.1  Select relevant information from a text, a table, a
diagram, etc.

1.2 Represent an additive or subtractive situation with a

Problem solving numerical equality.

1.3 Choose the appropriate operation to solve a problem.

1.4 Express oneself by different means (oral, written,
representation by table, by diagram, etc.)

1.5 Ask questions requiring the treatment of given data.
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Basic Education 2

Example 4
This sequence should be constructed : :> <: ﬁ @

Hani and Maya constructed it, each of them using his or her own cards :

HANI } @ <5 ﬁ
MAYA. j> < A \v/

Did Hani understand the instructions ?

Did Maya understand the instructions ?

Example 5

Message : Follow the track on the grid,
s ¢ @ > > Y LA LA >y Y
step by step.

Comment :
The example can be in one of two domains : geometry or problem solving. If students have

had prior experience with this type of exercise, it should be considered to belong o the
geometry domain, not to that of problem solving.
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Domain : Problem solving.

Basic Education 2

Competency 3.1 : Select relevant information from a text, a table, a diagram, ete..

Example 1

Maher and Hadi count their shell collections.
Maher says he has 12 white shells, 10 pink shells and 18 yellow shells.

Hadi has : 7 pink shells and 25 white shells.

Write these numbers in the table.

White shells

Yellow shells

Pink shells

Hadi

Mabher

Example 2

A box of a construction game contains
25 red bricks, 10 green bricks and

18 white ones.

This makes them in all 53 bricks.

Write all these numbers on the box.

Example 3

...... bricks

........ re

........ white bricks

........ green bricks

d bricks

The flowers collected by Rania and Yasmina :.

Roses Tulips Carnations
Rania 24 18 13
Yasmina 32 14 11

How many tulips did Yasmina collect ?

Who collected the most carnations ?

(Other evaluated competency : 1.5. Compare and arrange numbers)

How many roses did Yasmina collect ? .....................

How many flowers did Rania collect ?
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Basic Education 2

Example 3

Use the ruler to complete on the right side a drawing similar to the one on the left side.

Comments :

The conformity of the positions of objects to those in the model, the qualities of precision of
lines, the neatness and elegance of drawings, .... will be taken into account for the evaluation.
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Basic Education 2

Domain: Measurement and Geometric Activities.

Competency 2.2. Reproduce drawings.

Example 1

Use the ruler to reproduce the following drawing on the grid below.

Example 2

Use the ruler to draw as in the model :

L J L L] L] [ ] [ ] [ ] ® [ ] [ ] [ ] [ ] L [ ] [ ] ® [ ] [ ]
L] — & —8—9 [ ] [ ] [ ] [ ] [ ] L] [ ] [ ] ® ® L ®
[ ] ® [ ] ® »— L] [ ] [ ] [ ] [ ] L L] L] L] [ ] [ ]
[ ] [ ] ® ® L ] L ] ® [ ] ® ® L} [ ] [ ] [ ] L] [ ] [ ]
[ ] ———9—9 ® ® [ ] [ ] [ ] [ ® ® ® [ ] [ ] [ ]
L [ ] [ ] L ® e—a [ ] [ J [ ] [ ] ® [ ] [ ] ® L] L] [ ]
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Basic Education 2
Competency 1.6. Perform operations on numbers.

Example 1
Cary out the calculations:
325 725 867 " 104
575 418 579 3
Example 2
Cary out the calculations. Write them differently if you so wish.
14 + 106 + 257 356 +25 +25 642 - 354
Example 3

a) Hadi gathered 452 red apples and 127 yellow apples.
How many apples did he collect?

b) Yasmina has 324 beads. She gives 135 beads to her sister.

How many beads remain to Yasmina ?

¢) One box of chocolate contains 36 pieces.

How many pieces are there in 5 boxes ?

Comment :

The example 3 seems to belong to the domain of problem solving. This is not the case. The
situation is stereotyped and frequently treated in class, and it is indeed an exercise of the type

« operations «, consistent with the spirit of the program of 1997 which emphasizes

« contextualized« calculations. The part of problem solving is minimal, and pertains to the
choice of the appropriate operation.
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Basic Education 2

Domain: Knowledge of Numbers and numerical activities

Competency 1.3. Produce different representations of a number.

Example 1
Here are three cards :

2 7 5

Place the digit 2 in a position to make its value 20. Write the number that you get.
Write another number with the same conditions.

Example 2
Join the two forms representing the same number.
365 200 + 60 +5
305 300+20+5
325 300+ 60 +5
356 300+5
265 300+50+6
300 + 50
Comment :

Even though the exercises suggest numbers under additive forms, we 're not concerned here
with a calculation competency. Consequently, the evaluation should be based on the

procedure used by the student to answer these questions. In other words : the competency is

not considered to be acquired if the student writes down the numbers and performs the
calculations in order to find the answers.
Example 3
Who am I?
I am between 100 and 200. My tens digit is 8 and my ones digit is 3.
Example 4

In a stationary shop copybooks are sold in boxes of 100 or in packages of 10.

/

Package
Box of of 10
100 copybooks

My school wants to buy 540 copybooks.
What is the number of boxes and of packages we should ask for if we want a minimum
number of packages.
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Subject: Mathematics

Basic Education 2

Table of Competencies

Domains

Competencies

Knowledge of Numbers
and numerical activities

1.1
2
1.3
1.4

1.5
1.6
1.7

Read and write numbers.
Count by grouping in tens and/or hundreds.
Produce different representations of a number.

Construct a sequence of numbers, according to a given
law.

Compare and arrange numbers.
Perform operations on numbers.

Use processes of mental calculation.

Measurement and
Geometric Activities

2.1

2.2

23
24

Verify the congruence of two figures (by cutting,
folding or copying on calc paper).

Reproduce drawing (on a grid, or according to other
means of control).

Cary out measurements

Classify solids or geometric plane figures according to
given criteria.

Problem solving

3.1

Select relevant information from a text, a table, a
diagram, etc.

Represent an additive or subtractive situation with a
numerical equality.

Ask questions requiring the treatment of given data.

Solve problems related to simple additive or subtractive
situations.
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Basic Education 1

Example 4

On a tree: there are 8 yellow birds and 7 orange birds.

Amale makes some noise, so 2 yellow birds and 1 orange bird flew away.

She then counts the yellow birds on the tree.

What is the number she gets?

(Other competency: 3.2. Represent an additive or subtractive situation with a numerical
equality.)

Note:

At this stage, the problems can be read. We can even consider oral answers.
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Domain: Problem solving

Competency 3.1: Select relevant information

Example 1

12 chocolates

1 lolipep

Maya took all the lollipops.

How many lollipops did she take?

Example 2

On the table there are:
e 4 red balls
e 3 small black cars
o 2 dolls
e 5red cars.

10 candies

Basic Education 1

3 lollipops

Schocolates

2 lollipops

How many cars are there on the table?

(Other competency: 3.4. Solve problems related to simple additive or subtractive situations.)

Example 3

Following are the flowers collected by Ziad and Yasmina .

Roses Tulips
Ziad 12 15
Yasmina 18 12

They give the tulips to their aunt.

How many tulips did they give to their aunt ?

(Other competency : 3.4. Solve problems related to simple additive or subtractive situations.)

116



Basic Education 1

Example 2

Cut out these figures. Fold each one of them around the dotted line. Do the two parts

superimpose? Write on each figure yes or no
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Basic Education 1

Domain : Measurement and Geometric Activities.

Competency 2.1: Verifv the congruence of two figures.

This is a castle

/ow\ z
..I' '\‘ |
‘ b & ‘ —
S
And these are pieces:
P2 \ \-\ N\
P e BN
3 ) pd \ [ ,_-f":) _.'-/' \._‘
\'\ / \‘\
X T o———4 (
\ \ ‘
\ 1 \\,
2 [— AN s
b
" '

Question and instructions to be given orally in two phases :

a) Which are the pieces that you would use to construct a similar castle ? Mark them as on
the given castle.
b) Cut the pieces that you have chosen and check if they superimpose the corresponding

pieces of the given castle.
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Basic Education 1

Competency 1.7 : Use processes of mental caleulation.

Example 1

Group in tens then calculate

TN
3+8+7=18
8+7+3=

9+8+1+2=

Example 2
Complete :

9 +

S+8+5=
6+5+4+5=

6+4+8=

18 + 7

(Other competency: 3.1. Select relevant information from a text, a table, a diagram, etc.)

Comments:

® The presentation in tree structure is not a required activity at this level : The tree here is a

coding mode not an objective to evaluate.

» When a child makes errors, it is important to determine which competency is not

acquired : mental calculation (1.4) or reading information (3.1) ? For that purpose, similar

exercises may be suggested to the child semi-orally.
o This competency needs time to be acquired. It should be evaluated often, and individually.
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Basic Education 1

Domain: Knowledge of Numbers and numerical activities

Competency 1.2 : Count by grouping in tens.

Example 1

N.B. It is important to conduct this evaluation activity using a new support (new material not
used in class before).

Material: Necklaces of 10 beads each. Extra Beads, boxes or bags.

Procedure:

a) Present the necklaces while explaining that there are 10 beads for each necklace.
Verify that this was understood. Put a number of necklaces in a box (between 1 and 9) and a
number of individual beads (between 1 and 9). Ask a student to give the number of beads in the
box.
Desired answer: 10, 20, 30, 35 (in the case of 3 necklaces and 5 beads) and not to count |
by 1.

b) Give a certain number of beads (between 20 and 60). Ask a student to count as if he or she
was making necklaces.

Desired behavior: To make groups of 10, then count by tens.

Example 2
Join the equal numbers
25 10+10+10+5
35 10+10+10+10+10+5
55 10+10+5

Example 3
Complete with 10s.

Comments:
o  Even though the exercises suggest numbers under additive forms, we 're not concerned

with a calculation competency. Consequently, it is important to base the evaluation on the
procedure used by the student to answer these questions. In other words : the competency
is not considered to be acquired unless the student gives immediately the answer by
Jjumping in tens, not by performing the additions or counting using his fingers.

e For the above reason, it is preferable to isolate this competency from others, in order to
better follow up on the processes used by each child.
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Subject: Mathematics

Basic Education 1

Table of Competencies

Domains

Competencies

1.1 Read and write numbers.

1.2 Count by grouping in tens.

1.3 Produce different representations of a number.

Knowledge. of N“‘f‘l"e.rs 1.4 Construct a sequence of numbers, according to a given
and numerical activities law: 1 by 1,2 by 2, 10 by 10.
1.5 Compare and arrange numbers.
1.6  Perform operations on numbers.
- 1.7 Use processes of mental calculation.

2.1 Verify the congruence of two figures (by cutting,

folding or copying on calc paper).
Measurement and 2.2 Reproduce drawings on a grid.
Geomelnic Activifies 2.3 Use non-conventional units to compare lengths.

2.4 Determine criteria to classify solids or geometric plane
figures.

3.1 Select relevant information from a text, a table, a
diagram, etc.

. 3.2 Represent an additive or subtractive situation with a
Problem solving . .

numerical equality.

3.3 Make sense of a given equality by interpreting it using
works, a drawing, ...

3.4 Solve problems related to simple additive or subtractive

situations.
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We are confident that the adopted organization of the domains can clearly detect any
weaknesses in the development of students’ competencies, and the learning problems they may
encounter. this in turn can guide the teacher, the school administration, and the parents to the
optimal techniques of remediation and support.

The present document is intended as a “guide” for the teacher. It provides the lists of
competencies, as well as samples of exercises for evaluation that it offers at each class. It is
important to note that these samples are not “models” or “types” to which the teacher should
necessarily conform. On the contrary, they are examples intended to clarify the meaning of
certain competencies, without effecting the teacher’s freedom to develop his/her own exercises
reflecting this meaning. This is why we tried to give various examples for certain competencies.

We also included, in some of the examples, comments, solutions, or notes to the teacher,
whenever needed. In these cases, their text is put in italics, in order to distinguish it from the text
of the exercise, normally addressed to the student.

The use of this document should necessarily be complemented by the use of the document
recently issued by ECRD in Arabic, on “the general principles of evaluation”. This latter
document explains in detail the techniques for using the tables of competencies and for evaluating
students’ achievement.

110



Introduction

Based on the school evaluation principles adopted by the Educational Center for Research
and Development, the present document is designed to provide to the Mathematics teachers and
educators, with the tables of competencies relative to each grade level.

One of our fundamental decisions while constructing these lists of competencies and their
domains, was the adherence to the curriculum developed by the ECRD Committee for
Mathematics Curricula. We especially abided by the general objectives of the curriculum, which
reflect its philosophy and its spirit in choosing and structuring the domains of competencies at
each cycle.

Indeed, the particular domain of “Problem Solving” reflects general objectives that appear
throughout the school levels and relate to development of concepts and mental processes
(mathematical reasoning, problem solving, etc.) rather than to a level of knowledge based on
memorization or direct application of facts or procedures. This is a constant domain that is
common to all grade levels.

At the post-elementary level, this same domain, then named “Problem Solving and
Communication”, contains competencies that are related to the students’ ability to express
themselves in mathematical language, to represent and model situations, and to organize and
represent data. This domain reflects at the post-elementary levels the great importance given by
the new curriculum to the mathematical communication, as well as the increasing importance of
symbolic representations related to the use of variables, unknowns, graphs, and to the beginnings
of proof-writing.

As to the other domains (e.g. “Numerical and Algebraic Processes” or “Geometric
Activities”), it is important to mention that the intention is not at all to establish sub-disciplines
within Mathematics, particularly as the trend throughout the world is for interdisciplinarity and
integration. In fact, these domains are concerned with competencies related to processes of
reasoning and knowledge management of the same nature, rather than with competencies related
to similar contents. It so happens that within Mathematics, the “numerical and algebraic
processes” mobilize abilities that are different from those mobilized by “geometric activities”.
Does this mean that these domains are intended to be separate? Not at all. Their connection, and
even their integration are insured by the domain of “problem solving”, defined by competencies
related to both the geometric and the algebraic domains.
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We can thus say that evaluation is a comprehensive operation, which requires the use of
various types of gauging and estimation procedures. This operation is not limited to the mark, but
involves numerous activities, which help appraise the student’s work. Evaluation does not
necessarily depend on pen-and-paper tests, but includes the execution of definite tasks and
activities as well as the observation of performance. After collecting information through the
evaluation of the student’s work, the teacher will make use of it to realize two goals: on the one
hand, to reassess continuously the teaching process with a view to improving it; and on the other,
to make the student aware of his/her achievements and weaknesses.

Finally, we would like to express our thanks and appreciation to all those who participated in
this process from beginning to end. We would also like to emphasize that the Educational Center
always welcomes the opinions and comments of all concerned for use in making any necessary
modifications to the evaluation system’s techniques.

Nemer FRAYHA

2 October 2000 President
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Preface

The Educational Center for Research and Development is rightfully proud to have scored a
significant breakthrough in the field of school work evaluation.

The new curricula, as issued and implemented, had lacked a comprehensive evaluation
system in line with the curricular goals, objectives and content. In May 1999, a committee was
formed to work out the principles and bases for evaluation as well as prepare lists of
competencies to be realized for each subject matter and grade. Teachers were duly trained on the
new system during the summer of 1999. As soon as evaluation guidelines for the first two years
of each cycle were developed, they were distributed to the schools and teachers. Training sessions
continued throughout the school year and summer of 2000. Meanwhile work by the central
committee and the various subject—matter teams was kept up to fill out the details for the third
year of each cycle, prepare model questions for the official examinations of Grade 9 of Basic
Education, and the third year of the secondary cycle, and issue complete evaluation gridlines for
each subject from Grade 1 of Basic Education through the end of the secondary cycle. This is
definitely a pioneering job in the history of education in Lebanon and indeed in most of the Arab
countries.

Scientifically, the value of this achievement lies in the fact that, unlike past efforts, it went
beyond mere assessment, which would have marginalized a significant part of the curriculum. It,
instead, opted for an integrated evaluation process capable of making a more equitable and
accurate judgement of the student’s daily work and performance in the official examinations.
Here the teacher’s attention should be drawn to the difference between assessment and
evaluation: the former relies on the mark scored by the student as the sole indicator of his/her
results, whereas the latter includes, besides the mark, appreciating how far the student has
acquired the competencies and skills envisaged in the discipline as exhibited in class, as well as
certain attitudes in various situations.

Therefore, it is of utmost importance to consider education and evaluation as
two inseparable complementary entities to the extent that evaluation becomes an
essential aspect of the learning/teaching process. It is of course essential that the
teacher be fully aware of the required competencies—and inform the student of
them—in order to select relevant work techniques for use in the teaching plan.
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Eléme

nts de réponses et bareme

Note

Question = Domaine/Compétence ~~ Eléments de réponses . I
I B Simple calcul. Ya : calcul de xy
l L1 [3-12 I % : calcul de x+y.
i 1.2, 1. Simple calcul. | V2. _
L |
| 1. [13 | Calcul algébrique. - | % -
)

nz2. 14 | Résolution de I'équation (x N 2)2 =0 . '

! ' —

1. [21-35

1.2, 35-13-22

1.3, | 35-22

Construction d'une figure sous contraintes.
Calcul du sinus et de la tangente, puis
utilisation de la calculatrice pour trouver
l'angle.

Calcul des longueurs a l'aide de Thalés ou des
| lignes trigonomeétrigues.

Y : calcul du sinus

Y4 : calcul de la
tangente.

Y : calcul de 'angle |

(a l'aide d'une

_calculatrice)

[1

L IVLL 2.1 Construction d'une figure géométrique. Ya
V.2, 2.2 Utilisation de l'arc intercepté (45°). | %
On s'attend que I'éléve sache que c'est la 2
IV.3. 23-33 | médiatrice car OCM est isocéle et (Of) est
| . bissectrice de O. B | -
V.4 29 Utilisation de la mesure de I'angle en M et du :;4 : triangle isocele.
AN Bl - fait que / appartient a la médiatrice. | % : triangle rectangle.
On s'attend que I'é1éve utilise I'orthogonalité cli :}ieu geometrique |
IV.5. 23-33 de (CI) et (AM) pour constater ensuite que A
| o | clest le cercle de diametre [AC].__q 4] ealoulsinegy/on:
Les deux triangles sont rectangles et ont un % preuve pour les
angle aigu en commun. L'utilisation des triangles
L TP semblables.
IV.6. 7335 rapports de similitude aboutit a I'égalité V. : rapports de
demandeée. similitude.
Y% : relation
| demandée.
Mise en inéquations, résolution : 1'éléve va % + % : pour la
| trouver que le poids d'une po?re est cqmpris mise en inéquation
entre | et 3. Comme c'est entier, il doit pour chacune des
conclure que c'est 2. deux situations.
v 32-14 ‘ % : résolution du
systeme
‘ d'inéquations.
| | %2 : conclusion.
VI 31 L'¢éleve doit lire sur le graphique qu'il y a 18 | 1
| o ) ¢léves ayant eu moins que 16. . i
| V12 32 Calcul des effectifs & partir des effectifs 1 : Le tableau est
R | cumulés. B soit vrai soit faux. |
VI3, |13 Calcul de la moyenne (2 15 a peu pres). 1.
V14, 3.1 Dénombrement des cas. | 1.
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6) Démontrer que les triangles ADO et ABM sont semblables.
En déduire la relation 4D x AM =8§.

(2,5 Points)

Le poids d'une pomme est 3 unités.

Le poids de 5 poires et 2 pommes est plus grand que celui de 2 poires et 3 pommes.
Le poids de 6 poires et 3 pommes est plus petit que celui de 5 poires et 4 pommes.

Trouver le poids d'une poire (en unités) sachant qu'il est entier.

(4 Points)
Le graphique ci-dessous représenfe le polygone des effectifs cumulés croissants des notes des

¢leves dans une épreuve de Math.

35

31
29

18

. : i — i — { I |
I 8 10 12 14 16 18 20

1) Combien y a-t-il d'éléves ayant obtenu une note plus petite que 16 ?
2) Ecrire la distribution des éléves selon leurs notes dans un tableau statistique.
3) Quelle est la note moyenne de cette classe ?

4) Combien y a-t-il d'éléves dont la note est plus petite que la note moyenne de la classe?

Plus grande ?
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II.

III.

Iv.

(2 Points)

| ' 1
1) Ondonne x=—F+= €t y=——F—.
3-242 34242
Démontrer que xy et x + y sont des entiers.
2) Ecrire I'expression V75 + 3412 = 44/3 sous la forme avb .

(1,5 Point)

On donne p(x)=(x- 1fx-3).

1) Etablir I'égalité p(x)=(x - 2)2 -1.

2) Résoudre l'équation p(x) =-1.

(3,5 Points) e
On donne un cercle (C) de centre O et de rayon 4cm, / /
OH=1,6 cm. #’f / .\‘\.

La perpendiculaire en H a (OA4) rencontre le cercleen 4 | —F h I| ©)

I /
un point B, la droite (BO) rencontre la tangente en 4 a \ / /
(C) au point E. (La figure ci-contre est une illustration

non conforme aux vraies grandeurs). N =

1) Construire une figure a I'échelle s :

P s
2) Calculer sin OBH et tan OBH. En déduire, l'angle , /
i . /
OBH a 1 degré pres. /
3) Calculer OF et AE. é
(6,5 Points)

On considére un demi-cercle de centre O, de 2cm de rayon et de diametre [4B].

C est le milieu de l'arc 4B et Mestun point quelconque de l'arc/Bfé.

Le segment [4M)] coupe [OC] en D et la bissectrice de l'angle COM en 1.

1) Faire une figure.

2) Calculer l'angle C{M\A

3) Que représente la droite (OI) pour le segment [CM]? Justifier la réponse.

4) Démontrer que le triangle CIM est rectangle et isocéle.

5) Démontrer que, lorsque M décrit 1'arc BC , le point 7 varie sur un cercle fixe dont on

déterminera le centre et dont on calculera le rayon.
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Eléments de réponses et baréme

| Question | Domaine/Compétence | Eléments de réponses . Note
L] ! 3] Lecture des données présentées sous |
RS . forme d'un graphique. |

120 113 | Calcul de pourcentages. R

13, 39 | Représentation par diagramme circulaire 1 v .

- | (calcul des angles du diagramme). . - I

- 1.4, | 1.3 Simple calcul. 1 |

|

i j21 | Simple construction - | Y

2. 13 | Calcul a partir de Pythagore | Ya B

3. 79-33 Rectangle comme ayant les cotés opposés | |

| | T | paralleles et un angle droit. . -
| Une fagon de démontrer que S est le
| milieu de [BC] est d'utiliser les triangles
semblables AKN et ASC, puis les triangles | 2 : S milieu de
semblables AKM et ASB, et d'utiliser le [BC].

114 23 —8:3 ~Jat fait que AK = KN, puis AK = KM pour
conclure 45 = SB = SC. ¥ : Lieu de K.
Constatation que K varie sur le segment

o | [4S], de la médiane relative a I'hypoténuse. | )
| Y2 Deux triangles
: Calcul résulte des rapports de similitude v, 'sl;:mblai)tlez.
I1.5.a. 23-35-13 | dans les triangles semblables AMN et 2 - Thapports de
' ABC similitude.
' Y. : Calcul de AN.
- - Y2 : Calcul de MN. |

IL5b. |35-13 | Egalité de deux rapports. - 1

5.c. 14-22 Mise en équation : MN = MP. Reponse 1

I S | attendue : 2cm A peu prés. ‘ -

IL5d. |21 | Dessin. | Y

L1 21-25 Dessin et calcul des longueurs des trois 1

- segments. B B ]
' ABC est rectangle isocele. Justification _
I11.2. 22 | d'aprés le calcul : AB = BC et utilisation tVa |
] ) B | de Pythagore. | |
3. |13 ' Simple calcul. L % |
< calcul de BM.
Apres le calcul on s'attend a ce que I'éleve | / : Pentes.

4. 25_13 constate que la médlan.e MB vaut la n_101t1é % : triangle isocele.
de [AC], et que la médiane est a la fois v - triancle
hauteur. D'ou le résultat de 2. ' :

- - | - rectangle. |
Apres le calcul des pentes, I'€léve doit étre | '2: Pentes.

IIL.5. 35-13 | capable de conclure les angles du triangle | 1: calcul des angles

| | ABC. Puis retrouver le résultat de 2. Y, : conclusion.
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4) Soit K le milieu de [MN]. La droite (4K) rencontre [BC] en S. Démontrer que S est le
milieu de [BC]. En déduire le lieu de K lorsque M décrit le segment [4B].
5) Dans ce qui suit, x désigne AM.
a - Calculer AN et MN en terme de x.
b - Moyennant sinB dans les deux triangles ABC et MBP, calculer MP en terme de x.
¢ - Déterminer x pour que MNPQ soit un carré, et en déduire AM 3 un millimétre
pres.
d - Faire une figure dans ce cas.
1. (6 points)
Dans un repere d'axes x'Ox, y'Oy, on donne les points A(4;-2), B(-1;2) et
C(3 5 ~1) (unité utilisée : le centimétre).
1) Placer les points 4, B et C et calculer AB, BC et AC.
2) Quelle est la nature du triangle 4BC ? Justifier la réponse.
3) Calculer les coordonnées du milieu M de [4C].
4) Calculer BM, ainsi que les pentes des droites (BM) et (AC). Retrouver alors le résultat
de la question 2.
5) En utilisant les pentes des droites (4B), (AC) et (BC), calculer les angles du triangle

ABC, et retrouver ainsi le résultat de la question 2.
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I.

II.

(4,5 points)
Dans une maternité, on a mesuré la taille des nouveau-nés a 1cm prés. La figure suivante

illustre la répartition des 40 nouveau-nés selon leur taille :

Nombre
de bébés

oo

Llnl

|
k 1l L - Taille
45 46 47 48 49 50 51 52 53 54 55 € et

1) Représenter ces données dans un tableau semblable au tableau suivant :

Taille (en cm) 45 46 47
Nombre de bébés

2) Compléter le tableau avec une ligne comportant le pourcentage des nombres observés.
3) Construire le diagramme circulaire des fréquences.

4) Calculer, a 1 mm pres, la taille moyenne des nouveau-nés.

(9,5 points)

ABC est un triangle rectangle en 4 tel que AB = 6cm et AC = 8cm.

M est un point de [4B], distinct de 4 et de B.

La parall¢le a la droite (BC) passant par M coupe la droite (AC) en N.

P et QO désignent les projetés orthogonaux de M et de N respectivement sur (BC).
1) Construire une figure en vraies grandeurs.

2) Calculer BC.
3) Quelle est la nature du quadrilatere MNQP ? Justifier la réponse.
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Eléments de réponses et baréme

. Question = Domaine/Compétence |

Eléments de réponses
Utilisation de Pythagore. Calcul de OI.

Note

= |
L | === | Constatation. | &
L ]
mi. |13 | Calcul algébrique simple. Y |
; | Calcul algébrique aboutissant & une
11.2. 1.4 R—— ) . . 1 |
S R inéquation. Résolution de cette inéquation.
3. 12 Cl.hc?lx de.s entiers naturels qui vérifient 1
. | l'inéquation. |
— 1
| | Y2 : interprétation de
| B o . xetdey
II.1. 3.1-32 Interprétation du systéme. | @ intespriation des
S — ] 1 équations.
Hi2. 1.4 Simple résolution d'un systéme. 1
L 13, | 3. Interprétation et validation. | Y
| |
1 . b
IV.1. ‘ 2.1 Simple construction. IA : trapeze.
B I '2 « translaté, B
i Constatation d'apres I'égalité des vecteurs
IV.2. 2.4 — 1
[ KK' et NN’ ]
' B _ Conjecture : rectangle. Y : conjecture. |
e ‘ &0 En 2'2_ Justification : parallélogramme a angle droit. | %% : justification.
| =2
) IvV.4. [ 24 | Clestle vecteur KN'. | 7
CIV.S. 1 3.6-22 Le quadrilatére KINK’ ne reste plus rectangle. | |
L
' | V4 : conjecture
V.1 32 ABC est rectangle en 4 et isocéle. Y, : rectangle en A4
[ - I - ] | Y isoctle.
V.2 25_24_14 Cor}stmgtlon, coordonnées d'un vecteur. Mise 1
| |_en équation pour calculer les coordonnées de E
| 1:calcul des
' | Par un raisonnement déductif, le tableau se effectifs et des
VI.1. 31-34 | construit de proche en proche a partir des | fréquences.
' ‘ effectifs et des fréquences. X ca’lcul des
On complete les fréquences cumulées apres. fréquences
- _ | | cumulées. |
¥ : calcul des angles
VI1.2. 3.2 Tragage du diagramme circulaire. au centre.
B | ¥ : représentation.
VL3. 39 TragagF du polygone des fréquences 1
- | cumulées. S - |
V4, 13 | Calcul de la moyenne. Y5 |
|
% :pour le calcul |
VII 36—13 Calcul et constatation (les deux parties ont la de chacune des
* ' ) méme aire). deux aires. [
| - Y4 : constatation.
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—
2) Soit E le translaté de C par la translation de vecteur 4B . Déterminer les

—>
coordonnées du vecteur CE . En déduire les coordonnées de E.

VI. (4 points)

Voici un tableau statistique ol il manque quelques données :

| Valeurs observées 2 0 51 71 10 12] 15| Total
| Effectifs . 5 | ; 15 | | 2
Fréquences (en pourcentage) 28 30 20 ’»

Fréquences cumulées
| croissantes (en pourcentage)

1) Compleéter le tableau.
2) Tracer le diagramme circulaire des fréquences.
3) Tracer le polygone des fréquences cumulées croissantes.

4) Calculer la moyenne de cette série statistique.

VIL (1,5 point)
Est-il vrai que 'aire de la partie grise intérieure dans la
figure ci-contre est plus grande que celle de la partie grise
extérieure ?

Justifier la réponse.
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L (1,5 point)

ROI est un triangle rectangle en R et tel que RO = 3 (1 +4/6 ) et RI=3—+/6 . Démontrer
que OI est un entier.

IL (3 points)
On considére p(x)=(4x—3) —(2x-5).
1) Développer, réduire et ordonner les termes de p(x) selon l'ordre décroissant
des puissances de x.
2) Résoudre p(x)>12x> -25.

3) Donner tous les entiers naturels x qui vérifient p(x) > 12x* - 25.
III. (3 points)

Un pere a 46 ans, et son fils a 26 ans. Dans quelques années 1'age du pére sera égal 4 la

somme des 4ges de son fils et de sa fille, et aussi au triple de 1'dge de la fille.

1) Si le systéme d'équations suivant est une traduction mathématique du probléme,
que représentent x et y ? Que représente chaque équation ?

46+ x=26+x+y+x
46+ x =3(y +x)

2) Résoudre le systéme précédent.

3) Quel est I'age actuel de la fille ?
Iv. (4 points)

1) Dessiner un trapeze KING, rectangle en K et / et construire son translaté X'I'N'G’ par la

. —_
translation de vecteur IN .

2) Démontrer que K'KNN' est un parallélogramme.

3) Quelle est la nature du quadrilatére KINK' ? Justifier la réponse.

—_— —

4) Déterminer le vecteur KI'+KK'.

5) Si le trapeze KING n'était pas rectangle, les résultats obtenus dans les

questions 2 et 3 restent-ils valables ? Sinon, lesquels parmi ces résultats ne
restent pas valables ?

V. (3 points)

Dans un repere d'axes x'Ox, y'Oy, on considere les points 4(3 ; 3), B(2 ; -2) et C(-2 ; 4).

1) Quelle est la nature du triangle ABC ? Justifier la réponse.
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Eléments de réponses et baréme

Question | Domaine/Compétence . ~ Eléments de réponses | Note
L1 ' Identification des racines a et b avec les racines | |
1. | 1.4 | . . Va
B | | proposées 2 et 7, et constatation. :
[2a |13 | Développement et calcul algébrique. | %
' On s'attend a ce que I'éléve utilise le résultat de | 7 : utilisation du
2b |14 la question précédente : p(x)=—10 est résultat de 2.a.
o | ' | | i () S (7 ) 3 % : résolution de
. | ¢quivalente a plx)+10 =0, soit x(7 -x)= Iéquation,
L1 | 31-25 | Reproduction du dessin. Détermination de 2 : Reproduction.
N ' | I"équation de la droite (SA). | 1: Equation de (d)
11.2 1 13-25 | Calcul des coordonnées de B et E. (R
1.3 | 2.1 | Construction. | %
11.4.a. I 25-13 Equation de (BC) et calcul de l'abscisse de C., Yo+ V4

[4b. [35-14
!

Calcul de la tangente dans les deux triangles
puis calcul de g en égalisant.

Utilisation de la propriété qu'un triangle
rectangle est inscriptible dans le cercle dont

Ya + Y : tan BEC

| Ya:caleuldea.

% : utilisation de
la propriété.
¥ : raisonnement.

I1.5 23-34-13 I'hypoténuse est un diamétre. o
Calculer les coordonnées du milieu d'un gscaleu] des I
| coordonnées
segment. e
I — - S | du milieu.
| % : utilisation de |
Utilisation de la relation des mesures des angles la propriété.
IL6 23-34-33 et des arcs interceptés. N Y2 expression
(rédaction). _
1
Calcul des tangentes de B et C. V2 + 4 @ tangentes.
IILT. 22-33 Déduction de ces angles (calculatrice). et '/2 - angles.
I | - Déduction du troisieme angle. | %a:3éme angle.
| Utilisation de Pythagore : une fois pour calculer | % : calcul de 4B.
I11.2. 22-13 AB; une autre fois pour calculer AC. Y4 calcul de AC.
La longueur de BC se fait par lecture. Y« lecture de BC,
]
Par re-traduction du systéme, on obtient le texte
complet suivant : "Pour acheter 8 crayons et un
V.1 31-30 stylo on doit payer 10 000 LL, et pour acheter 1y

Quel est le prix d'un crayon? Et celui d'un
stylo?"

Iv.2. 1.4-33

3 crayons et deux stylos on doit payer 7 000 LL.,

Résolution du systeme et constatation.

Iv3. |32

Représentation dans un repére dont l'unité
représente 1000 : les coordonnées du point
d'intersection des deux droites sont 1 et 2 : le
prix d'un crayon est donc 1000 LL et cefui d'un
stylo est 2000 LL.

90

1 : résolution.

| ‘4 : interprétation.
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III. (4,5 Points)
1) Utiliser le quadrillage de la figure ci-dessous pour calculer les tangentes des angles Bet

C (on donnera les réponses sous la forme de nombres rationnels). En déduire les trois

angles du triangle ABC (a un degré pres).

A
DA
|

B C
2) Calculer les longueurs des c6tés du triangle ABC (l'unité est celle du quadrillage).

IV. (4,5 Points)
1) Quelques informations manquent dans le texte suivant :
"Pour acheter . . . . . crayons et un stylo on doit payer . . . . . . LL,
el pour acheter trois crayons et . . . . . stylos on doit payer . . . . .. LL
Quel est le prix d'un crayon? Et celui d'un stylo?"
La mise en équations de ces données donne le systéme d'équations suivant:
8x+ y=10000
{3x +2y=7000
2) Ecrire le texte complet.
3) Résoudre le systéme et conclure le prix d'un crayon et celui d'un stylo.

4) Résoudre graphiquement le systéme, en considérant une unité du repére comme 1000.
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II.

(3 Points)

1) Déterminer une valeur de a et une valeur de b pour que 2 et 5 soient les racines de
I'équation (x — a)b —x)=0.

2)  Soit p(x)=(x-2)5-x).
a - Vérifier que p(x)+10=x(7-x).
b - En déduire les racines de I'équation p(x) =-10.

(8 Points)

1) Reproduire la figure ci-dessous et déterminer, par lecture du graphique, les coordonnées
des points 4 et S. En déduire que y = 2x+3 est une équation de la droite (d) passant par

ces deux points.
Y

M

LY

== —

2) Soit B le point de (d) d'ordonnée 7 et E le point d'intersection de (d) avec 'axe x'Ox.
Placer ces points dans le repére et calculer 1'abscisse de B et I'ordonnée de E.

3) Construire le point I'axe x'Ox tel quefB} =90°.

4) Soit a I'abscisse du point C. Déterminer a :
a - en utilisant 1'équation de la droite }BE); =l
b - moyennant la tangente de 1'angle BEC dans le triangle EBH et celle de l'angle HBC

dans le triangle HBC, ol H est le projeté orthogonal de B sur I'axe x'Ox.
5) Démontrer que les points 4, B, C et O appartiennent a un méme cercle dont on

déterminera un diamétre. Déterminer les coordonnées du centre de ce cercle.

6) Utiliser le cercle de la question précédente pour démontrer que AOB = ACB.
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Eléments de réponses et bareme

. Question = Domaine/Compétence ~_ Eléments de réponses Note
i1 31 Organisation des données dans un tableau |
| e ' ' | statistique..
2 3.2 - | Représentation graphigue. - I
| L3, | 1.3 Calcul des pourcentages. - Ya |
i 1.4, 1.3 Calcul d'une moyenne. Vs
| 1
' Ya : calcul de
| Calcul de p(2). P(2)
I1.1. 1.3 Résolution de I'équation en a. Ya . résolution
| | | de p(2) = 0.
| [ o 3, ga ~ermentll
‘ [12.a. | 13etl4 Développement et résolution d'une équation. | Jf‘ : gflzzifopnpement ,
| 1.2.b. 13etld Factorisation et résolution d'une équation. l :.F’actor‘lsatlon
| Y2 : équation.
| |
I1.1. 3.2 - | Simple repérage et tragage d'un cercle. Rz '
| | 1 Y% : Triangles
| Triangles semblables. semblables.
[i1.2. | Rapports de similitude. V4 : rapport de
22et23 y
‘ ) Déduction de OF. | similitude. |
_ - | ¥4 calcul de OF.
| | Utilisation de Pythagore dans le triangle B ut](lylsatlon i
.5 2 rectangle OMF et déduction Pythagore
° ) | Y4 : calcul de MF.
' | Utilisation des relations entre les lignes | ¥ : calcul du sina.
Iv.l, |13 ) . '
| | trigonometriques. S | ¥4 : calcul de tana. |
1 1 | VL.
Utilisation des rapports pour calculer chacun [/ 1% .Ccéetlécsucli:ech
V.2, 23 et 2.1 des deux cotes. '
& Y Construction d'un triangle connaissant ses cotés. | . |
| |- o "' | % construction. |
' Construction de la réduction. P SoretCHEn
Nature de DEF (rectangle en D). 12 ) :
. . . S ) Y2 : nature de DEF,
IV.3. 2.1 et 3.3 | Justification : conservation des angles par une ) g .
réduction "4 : justification. |
]
Construction de £ (quatri¢me sommet du Y4 : construction
| parallélogramme) et de F (vecteur égal a un de E. ‘
V.1 ] 2.1et2.4 vecteur, ou quatriéme sommet d'un '%2 . construction
I parallélogramme). B de F. )
| 1 : lidée de
(FE) et (FB) deux paralléles menées de Fa (AC) | l'utilisation du
23et33 - .
V.2. ' ’ (postulat d'Euclide). postulat. !
| , Vs : rédacti
. | o - 4 : rédaction.
3/ - 1 o
| ! Triangles semblables. - s/;rhttzllzglbelss
V.3, 23 et 3.3 et 3.5 Rapport provenant du fait que les diagonales Y ra ort.de
d'un parallélogramme se coupent en leur milieu. s;rﬁilifulgcie
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V. (4 points)

1) Dessiner un triangle 4BC et construire les points E et F tels que AE = AB+ AC et

CF = AB+ AC.
2) Démontrer que les points B, E et F sont alignés.

3) (4F) coupe (BC) en M et (CE) en N. Démontrer que les triangles MNC et MAB sont

semblables. En déduire la valeur numérique du rapport % .

85



I. (3,5 points)
A l'occasion d'un contrdle de fabrication, on a pesé 25 boites de conserve a la sortie d'une

chaine de remplissage. On a obtenu les masses suivantes (en grammes) :

100 —96 —96 — 100 — 100 — 103 —94 —96 — 105 — 100 — 96 — 105 - 96

105-103-96 —100— 105 -94 - 100 — 100 — 94 — 105 — 103 ~ 103
1) Représenter ces données par un tableau en les regroupant selon les valeurs observées.
2) Représenter ces données par un diagramme en batons.

3) Calculer les fréquences en pourcentage.
4) Quelle est la masse moyenne des boites observées?
IL (3,5 Points)

1) Déterminer a pour que 2 soit solution de l'équation 2% —a+ 3(2 - x)(x - 1) =0.

2) On considére le polyndme p(x)=2x? +3(2 - x)(x-1)-8.
a - Développer p(x) et résoudre p(x)+14=0.

b - Factoriser p(x) et résoudre p(x)=0.

IIIl. (4,5 Points)
1) Dans un repére d'axes x'Ox, y'Oy (I'unité est le centimétre) placer les points
M(0 ; —1) et N(0 ; 5) et tracer le cercle de diamétre [MN].
2) Soit E un point d'intersection du cercle avec l'axe x'Ox. Démontrer que les triangles
NEO et EMO sont semblables. En déduire que OF = V5 em.
3) Soit F un point de x'Ox tel que OF = 2. Démontrer que MF = OE.

IV. (4,5 Points)
' S .
On donne cos o = 3’ ou o est un angle aigu.

1) Calculer sin o et tan c.

A
2) Soit ABC un triangle, rectangle en 4, tel que BC = 10cm et B = o.. Calculer les cotés

de l'angle droit du triangle ABC et construire un tel triangle.
3) Soit M le milieu de [BC]. Construire le triangle DEF obtenu a partir de ABC par la
réduction de centre M et de rapport 1/3. Quelle est la nature de DEF? Justifier la

réponse.
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EPREUVES TYPES
POUR LES EXAMENS OFFICIELS
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Education de base 9

Exemple 3
Dans un repére d'axes x'Ox, y'Oy, on donne les points A(—1 ; 4) et B(-3;1).
a) Pose 4 et B, ainsi que le point C de telle fagon que 4BC soit un triangle isocéle de sommet
Aet y- =y,.
b)Soit M un point de [BC]. On pose BM = x. La paralléle menée de M a (4B) coupe (AC) en

un point N. Exprime AN en termes de x.

c¢) Calcule sin (NMC ) et explique pourquoi la valeur obtenue ne dépend pas de x.
d) Trouve l'angle ABC (tu peux utiliser la calculatrice).

Compétence 3.6. Faire, formuler et vérifier des conjectures.

Exemple 1

Dans chacun des cas suivants, compléte la suite des nombres donnée en justifiant ton choix :

a) V2 ,2,242 ,4,442 ,8,8J2 , ..

by1,1,2,3,5,8,..

Exemple 2 v
a) Donne les informations codées dans la figure ci-contre. /_,,--ff' N
(Compétence 3.1 : Sélectionner des informations /../;
pertinentes, présentées sous diverses formes.) / _ _
b)On suppose que 4 et B sont fixes et M varie, tout en A | [—|[ - =5

respectant les relations codées dans la figure. Quel est alors le lieu de M? Justifie ta réponse.
¢) Reproduis le dessin et désigne par N le milieu de [MB]. Quel est le lieu de N? Justifie ta

réponse.

(Autre compétence: 2.1. Construire des figures géométriques sous certaines contraintes. )

79



Education de base 9

Compétence 3.3, Expliquer ses démarches, valider et interpréter des résultats.

Exemple
Une personne a acheté des crayons a 1000 LL I'un, et des gommes a 500 LL 1’une. Sachant
que le nombre de gommes achetées dépasse de 5 le double du nombre des crayons achetés, et
que la personne a payé moins que 7500 livres, peut-on déterminer de maniere unique le
nombre des gommes et celui des crayons achetés?
Sinon, quelles sont les solutions possibles?

(Autres compétences:
3.2. Passer d’un mode de représentation a un autre.
1.4. Résoudre des équations et des inéquations.)

Compétence 3.4. Mener différents types de raisonnement pour faire des démonstrations.

Exemple 1

Est-ce que tout quadrilatére est inscriptible ? Justifie ta réponse.
Exemple 2

Samir a proposé€ ce qui suit :

"Un nombre pair est divisible par 2, donc n'est pas premier. Conclusion : tous les nombres
premiers sont impairs."

Est-ce que le raisonnement de Samir est juste? Justifie ta réponse.
Exemple 3
Démontre que le carré d'un entier naturel » est de méme parité que ».

Remarque : On ne demande pas de faire une démonstration "académique” (du type "n est pair, donc de
la forme 2k; son carré est de la forme 4K, soit 2(2k2 ), donc pair"”), mais du type "scolaire”, en utilisant,
par exemple, le fait que le chiffre des unités d'un nombre pair est 0, 2, 4, 6 ou 8, par suite, le chiffre des
unités de son carré doit étre 0, 4 ou 6 (obtenus a partir des carvés de 0, 2, 4, 6, ou 8)!

Compétence 3.5. Reconnaitre la proportionnalité dans des situations et mener un raison-
nement proportionnel.

Exemple 1

Les nombres 3, 4 et 5 sont les longueurs des cotés d'un triangle rectangle (car ils vérifient la

relation 3% + 4% =5%). Utilise des triangles semblables pour trouver d’autres nombres entiers
vérifiant la méme relation.
Exemple 2 | |
V.1

F, |
Détermine les coordonnées du vecteur J° de la figure suivante :
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Education de base 9

Domaine : Résolution de problémes et communication

Compétence 3.1. Sélectionner des informations pertinentes, présentées sous diverses formes.

Exemple A
a) Ecris un texte décrivant les informations

codées dans la figure ci-contre.

b) Le texte que tu as proposé permet-il a M A
une personne qui n’a pas vu la figure de T
la reproduire ? | 0O
%% T

Compétence 3.2 : Passer d'un mode de représentation d'une situation a un autre.

Exemple 1
Ecris un texte dont la mise en équations donne le systéme suivant :
2x+ y=12
{ x+2y=9
Exemple 2

Dans un repére d’axes x 'Ox, y’Oy, deux droites se coupent au point A(2 ; 3). Détermine des
équations de ces deux droites sachant qu’elles sont perpendiculaires et que 1’une d’elles passe

par le point B(0 ; 1).

Exemple 3
Considérons la figure ci-contre. M
a) Ecris un texte qui décrit la figure donnée et qui A
comporte exactement les informations codées. //
b) Pose deux questions sur des propriétés non codées et / oo
. . A+ B
vérifiées par la figure. Réponds a tes questions. H

(Compétence 2.3. Utiliser les propriétés données d'une figure géométrique pour
inférer et justifier d'autres propriétés.)

77



Education de base 9

Exemple 2
Dans un repére d’axes x 'Ox, y 'Oy, on considere les points 4(2 ; 3) et B(6 ; —4).
a) Quelle est la nature du triangle OAB ? Justifie ta réponse.
b) Détermine les coordonnées du point C tel que BOAC est un parallélogramme. Quelle est

alors la nature exacte de ce quadrilatére ? Justifie ta réponse.

(Autre compétence : 2.3. Utiliser les propriétés données d'une figure géométriques pour
inférer et justifier d'autres propriétés.)
Exemple 3

(d) est la droite d'équation y = 2x — 4. 4 est le point de rencontre de () avec l'axe (x'x), B est le

point de rencontre de (d) avec l'axe (y'y) et H le projeté orthogonal de O sur (d).

a) Exprime cos AOH etsinOBH enterme de OH.
b) Déduis-en OH.
Exemple 4

Calcule la distance des deux droites (u) et (v) dont on donne les équations dans un repere

d’axes x'Ox, y’Oy . (u):yZ%x et (v): yZ%x—l.
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Education de base 9

Compétence 2.3. Utiliser les propriétés données d'une figure géométriques pour inférer
d'autres propriétés.

Exemple
G est le centre de gravité (le point de rencontre des médianes) d'un triangle ABC.
a) Construis le translaté DEF de ABC par la translation de vecteur BC .
b) Soit G'le translaté de G par la translation précédente. Que représente G pour le triangle
DEF? Justifie ta réponse.

Compétence 2.4. Comprendre les caractéristiques des vecteurs du plan et les utiliser dans
différentes situations.

Exemple 1
M, N et E sont les milieux des c6tés du triangle 4BC de A
la figure ci-contre. r’/ ‘
. . E ,/'/ N
Construis le translaté de £ par la translation de vecteur / s
— — N :
AM + BN . B/ VA VA c

Exemple 2

Sur un papier quadrillé, dessine un vecteur dont les coordonnées sont —3 et 2.

Exemple 3

O et B sont deux points distincts, fixes. 4 est un point qui varie de telle sorte que AOB soit rec-

tangle en O. M est le milieu de [4B] et N est le translaté de M par la translation de VecteurO‘l?) .
a) Détermine le lieu de V.

(Autre compétence : 3.6. Faire, formuler et vérifier des conjectures.)
b) Justifie ta réponse.

(Compétences : 2.3. Utiliser les propriétés données d'une figure géométrique pour
inférer et justifier d'autres propriétés.
2.4. Comprendre les caractéristiques des vecteurs du plan et les utiliser
dans différentes situations.)

Compétence 2.5. Utiliser le repérage pour caractériser analytiquement certaines propriétés
et relations dans des figures.

Exemple 1
(d) est la droite d'équation y = x + 2. Détermine 1'équation de la droite (#) passant par l'origine

O et paralléle a (d)
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Education de base 9

Domaine : Activités géométriques
Compétence 2.1. Construire des figures géométriques sous certaines contraintes.

Exemple 1
Construis une tangente (ME) au cercle (C) et _ N\ (C)
une tangente (MF) au cercle (C") telle que ) '

(ME) et (MF) soient de part et d'autre de (MO). -

M

Exemple 2
Construis un cercle tangent aux quatre cotés d'un losange.

Remarque: Comme dans toutes les questions de construction, on s 'attend a ce que 1'éléve présente les
éléments nécessaires ¢ la construction demandée. Ainsi, pour la premiere question on s attend a une
réponse du type :

Le cercle de diamétre [MO] coupe le cercle (C) en deux points. Soit E 'un de ces points ; (ME) est
tangente a (C). Ce méme cercle coupe (C') en deux points. On choisit le
point F tel que (ME) et (MF) soient de part et d’autre de (MO). (MF) est
tangente au cercle (C’) en F.

En ce qui concerne la deuxieme question, il suffit de remarquer que le
centre O du cercle demandé n’est autre que le centre du losange (¢ 'est un
centre de symétrie de la figure), par suite, il suffit de construire une
perpendiculaire de ce centre a l'un des quatre cotés.

Pour construire un rayon de ce cercle, il suffit de tracer la perpendiculaire
[ON] de O a l'un des cétés du losange. [ON] est alors le rayon du cercle
demandeé.

Notons que la détermination du point N peut étre assurée avec précision en
tragant le cercle de diamétre [OA], out A est ['un des sommels du losange.
Ce cercle coupe I'un des cotés en N, et (ON) est perpendiculaire au coté du
losange.

Compétence 2.2. Comprendre, comparer et contraster les propriétés des ficures
géométriques.

Exemple 1
Donne deux exemples de quadrilatéres qui ne sont pas inscriptibles. Explique pourquoi.

Exemple 2 0

a) Construis un cercle (C) de centre O et tangent
a la droite (d).

b) Construis un cercle (C;) tangent a (C) et non
tangent a (d).

¢) Construis un cercle (Cy) tangent a (C) et a (d). — )
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Education de base 9

Compétence 1.4. Résoudre des équations et des inéquations.

Exemple 1
Le tableau suivant montre la quantité de protéine et celle de calcium contenues dans une

portion de rosbif et une portion purée de pommes de terre.

Rosbif Purée de pommes de
o terre
Protéine (g/portion) 25 2
Calcium (g/portion) 11 25

On a besoin de composer un menu diététique, a partir de rosbif et de purée de pommes de

terre, contenant 29g de protéine et 61g de calcium.

a) Mets ce probléme en équations. (Compétence 3.2 : Passer d'un mode de
représentation d'une situation a un autre.)

b) Résous le systéme d'équations obtenu.

¢) Comment former le menu diététique voulu a partir des deux genres de nourriture
proposés? (Compétence 3.3. Expliquer ses démarches, valider et interpréter des

résultats.)

Exemple 2
Résous chacun des systémes suivants :
y=4-2x y=3x-1 y=2x—-1
%) y:%(Sx—l2) ; ®) y=%(6x—2); ©) y:%(6x—8)'
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Education de base 9

Compétence 1.3. Effectuer différents types de calcul.

Exemple 1

Démontre qu’un conjugué du nombre V26 -5 le dépasse de 10.

Exemple 2
Dans une usine, il y a deux directeurs, 6 employés et 3 ouvriers. Le salaire de chaque directeur
est de 35 000 000 LL par an. Les six employé€s ont un salaire annuel de 20 000 000 LL

chacun. Le salaire annuel de chacun des ouvriers est de 15 000 000 LL.

a) Organise les données dans un tableau. (Compétence 3.2 : Passer d'un mode de
représentation d'une situation a un autre.)

b) Quel est le salaire moyen?

Exemple 3

Les nombres 3, 4 et 5 vérifient la relation 3% +4? = 5% Peux-tu trouver trois autres entiers

naturels qui vérifient la méme relation?

Exemple 4
Détermine l'angle aigu o, a un degré prés, dans chacun des cas suivants :
a) cos a=0,75. b) sina =0,75. c) tana=0,75.
Exemple 5

Dans le plan rapporté a un repére d'axes x'Ox, y'Oy, on considere la droite (d) passant par le
point A(0;4) et faisant un angle de 50° avec l'axe des abscisses.

a) Trouve une équation de (d).

b) La solution est-elle unique?

Autre compétence (pour les exemples 1 et 2) : 2.5. Utiliser le repérage pour caractériser
analytiquement certaines propriétés et relations des figures.

Exemple 6

Ondonne P(x) =x(x+1)—x-let O(x)= 4x(x—%)+2x—4.

a) Factorise P(x) et O(x).

oy 2
b) On pose F(x) = ;(").Evalue F( e j

O(x) 100+/368

¢) Vérifie que Q(%gJ est un nombre rationnel.
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Education de base 9

Domaine : Activités numériques et algébriques

Compétence 1.1. Produire différentes écritures d'un nombre.

Exemple
Un carré est inscrit dans un cercle de diameétre 9cm. Leila, Nada et Karim essaient de trouver

la longueur s du c6té de ce carré:

Leila dit: s = ﬂ
2
9
Nada dit: s = —.
V2
Karim dit; s = 9—2\/2 .

Que dis-tu des réponses proposées?

Explique (Compétence 3.3. Expliquer ses démarches, valider et interpréter des résultats. )

Compétence 1.2. Comparer et contraster les propriétés des nombres.

Exemple 1
Dans chacun des cas suivants, écris la liste des nombres dans 1'ordre croissant:

a) O,l;—l;z;—IS;n.

374
b)@;l\/ﬁ;o,ﬂ;ﬁ.
3 "3V\4 V2

(Autres compétences :
1.1 Produire différentes écritures d'un nombre.
1.3 Effectuer différents types de calcul.)

Exemple 2
Donne un nombre rationnel non décimal.
Donne un nombre décimal non entier.
Donne un nombre irrationnel.
Certaines des expressions numériques suivantes représentent des entiers naturels. Lesquelles ?
Justifie ta réponse.

V12149 ; 0,6 ; \/%x V80 . 43

0,3

V20 V27 77

(Rappelons que l'écriture telle que 0,6 veut dire 0,66666666660.... (illimitée).)

71



Matiére : Mathématiques Education de base 9

Tableau des Compétences

Domaines Compétences

1.1  Produire différentes écritures d'un nombre.

s L 1.2 Comparer et contraster les propriétés des nombres.
Activités numeériques et
algébriques 1.3  Effectuer différents types de calcul (calcul numérique exact

ou approché, avec ou sans calculatrice, calcul algébrique.)

1.4 Résoudre des équations et des inéquations.

2.1 Construire des figures géométriques sous certaines
contraintes.

2.2 Comprendre, comparer et contraster les propriétés des
figures géométriques.

Activités géométriques 2.3 Utiliser les propriétés données d'une figure géométrique pour

inférer et justifier d'autres propriétés.

2.4 Comprendre les caractéristiques des vecteurs du plan et les
utiliser dans différentes situations.

2.5 Utiliser le repérage pour caractériser analytiquement
certaines propriétés ct relations de figures géométriques.

2.1  Sélectionner des informations pertinentes, présentées sous
diverses formes.

2.2 Passer d'un mode de représentation d'une situation a un
autre.
Résolution de problémes
et
Communication 2.4 Mener différents types de raisonnement pour faire des
démonstrations.

2.3 Expliquer ses démarches, valider et interpréter des résultats.

2.5 Reconnaitre la proportionnalité dans des situations et mener
un raisonnement proportionnel.

2.6 Faire des conjectures et les vérifier.
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Education de base 8

Exemple 2
[4B] est un segment fixe de 6cm de longueur. M est un point qui varie tel que
MA® + MB* =36.
a) Quel est le lieu de M ?
b) Justifie ta réponse.
(Compétence 2.3. Utiliser les propriétés données d'une figure géométrique pour inférer et
Justifier d'autres propriétés.)
Exemple 3
A et F sont deux points fixes et E est un point variable tel que AEF est un triangle isocéle de
sommet F, ] est le milieu de [4F] et M celui de [4E].

a) Exprime MI en terme de AF.

b) Détermine le lieu de M. Justifie ta réponse.

(Autre compétence 2.3. Utiliser les propriétés données d'une figure géométrique pour
inférer et justifier d'autres propriétés.)
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Education de base 8

Domaine : Résolution de problémes et communication

Compétence 3.1. Sélectionner des informations pertinentes, présentées sous diverses formes.

Exemple 1
a) Ecris un texte qui permettrait & un de tes copains de L

produire une figure semblable a la figure ci-contre. K o

(Compétence 3.3 : Exprimer ses démarches, valider et =0 37_,
interpréter des résultats.)
b) Calcule OK et LA sachant que SH = 2cm.

(Autres compétences :

3.4 : Mener différents types de raisonnement pour faire des démonstrations simples.
2.3 : Utiliser les propriétés données d’une figure géométriques pour inférer et justifier
d’autres propriétés.

Exemple 2
La figure ci-contre représente le

diagramme des effectifs cumulés de la

ombre
d'ouvriers

répartition des 100 ouvriers d'une usine

100
selon les salaires. 97|
86 |

a) Combien y a-t-il d'ouvriers dont le .
66

salaire est d'au moins 500 000 LL ?

b) Combien y a-t-il d'ouvriers dont le 1

salaire se situe entre 300 000 LL et 40 i
750 000 LL? B
o

P . Salaires
250 300 400 500 750 1000 1500 en milliers

Compétence 3.5. Faire des conjectures et les vérifier.

Exemple 1
ABC est rectangle en 4. M est le milieu de [BC]. .
A et B sont fixes. ~
a) Quel est le lieude M ? \----\ M
b) Justifie ta réponse. L

(Compétence 2.3. Utiliser les propriétés données S
d'une figure géométrique pour inférer et justifier | N
d'autres propriétes.)
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Education de base 8
Exemple 2
a) [PQ] et [RS] sont deux diametres distincts d'un cercle de centre O. Quelle est la nature du
quadrilatére PROS? Justifie ta réponse.
b) [MN] et [KL] sont deux segments tels que chacun est sur la médiatrice de I'autre. Quelle
est la nature du quadrilatére MKNL? Justifie ta réponse.

Compétence 2.3. Utiliser les propriétés données d'une figure géométrique pour inférer et
justifier d'autres propriétés.

Exemple 1
b ¢
La figure ci-contre représente un cube dont la longueur de 1’aréte est a. r AR
AT i
Calcule CE. | T
g e
g | '|'F .
i
Exemple 2 , ___1\200
. QY
Calcule les angles et les segments de la figure ci-contre. e 5
SR
-~ S‘*._\___ -
P R
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Education de base 8

Domaine : Activités Géométriques

Compétence 2.1. Construire des figures géométriques sous certaines contraintes

Exemple 1
Dans chacun des cas suivants, construis un quadrilatére ABCD ayant :

a) les quatre cOtés égaux ;

b) les cOtés opposeés €gaux ;

¢) deux cotés opposés égaux et les deux autres paralleles ;
d) un angle droit et deux cotés oppos€s €gaux ;

e) un angle droit et deux cotés opposés paralleles.

Remarque. Comme dans toutes les questions portant sur la construction, on s’attend a ce que les
éleves décrivent la démarche, sans entrer dans les détails. Ainsi, par exemple, pour la premiére
construction, on s attend a une réponse du type :

On trace un segment [AB], puis le cercle de centre A et de rayon AB.
On choisit un point D de ce cercle (différent de B et n'appartenant pas a la droite (AB)).

On trace le cercle de centre B et de rayon BA, et le cercle de centre D et de rayon DA. Ces deux
cercles se coupent en un point C (autre que A). Le quadrilatére ABCD ainsi obtenu a les quatre cotés
égaux.

Exemple 2

a) Dans un repére d'axes x'Ox, y'Oy, construis le rectangle O4BC tel que A appartient a [Oy)
et AB = 8cm et BC = 6cm.

b)Détermine les coordonnées des points 4, B et C, ainsi que des points M, N, P et Q milieux

respectifs des cotés [OA4], [4B], [BC] et [OC]. (Compétence 1.3. Effectuer différents types

de calcul.)
. >
¢) Construis le translaté de O4BC par la translation de vecteur OS ou S est le centre du
rectangle.

Compétence 2.2. Comprendre, comparer et contraster les propriétés des figures
géométrigues.

Exemple 1

Comment je m'appelle?

a) Je suis un quadrilatére, j'ai deux cotés opposés paralleles et €gaux.
b) Je suis un quadrilatere et tous mes cotés sont €gaux.

¢) Je suis un quadrilatére et tous mes angles sont €gaux.
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Exemple 3

a) Calcule 1017 +99° en utilisant une identité algébrique.

b) Calcule rapidement :

101° -99%; 1001% —999%; 20 001x19 999.
(Autre compétence 1.3 : Effectuer différents types de calcul. )

Compétence 1.4. Résoudre des équations et des inéquations.

Exemple 1
a) Que vaut x si l’ona (5x — 3)(2x —2) = 0?
b) Que vautxsil'ona: (2x—2)(2x +3) = (x - D(x-5).
Remarque: Bien qu'on s'attende & ce que 1'é1éve commence par développer les deux membres

de cette égalité, il est conseillé de laisser I'éléve confronter la difficulté tout seul, pour qu'il
puisse prendre la décision de changer de stratégie.

Exemple 2
a) Parmi les nombres 0, —7, 4 et — 4, désigne ceux qui sont solutions de l'inéquation

1-5x<21.

b) Résous I'inéquation 3x — 2 > x — 4 et représente la solution sur la droite numérique.
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Education de base 8

Domaine : Activités numériques et algébriques

Compétence 1.1. Produire différentes écritures d’un nombre.

Exemple
a) Ecris chacun des nombres suivants sous la forme développée suivant les puissances de 10:
1 235 801,1809 5002,001 025 0,000 028.
b) Représente chacun des nombres suivants en notation scientifique :
12,52 2035,58 0,005209
¢) Quel est le nombre représenté par cette configuration affichée sur I'écran d'une calculatrice

dans chacun des cas suivants ?

1.215&6 0O2 £.52135 -03 5.3p002 07

Compétence 1.2. Comparer et contraster les propriétés des nombres.

Exemple 1.
Calcule le PGCD et le PPCM des nombres suivants : 30 ; 50 ; 90.

Exemple 2

Compare :

et%; 4et«/E; 3\/Zet4\/§.

NIEN I

(Autre compétence : 1.1. Produire différentes écritures d’un nombre).

Compétence 1.5. Effectuer des opérations sur des expressions algébriques

Exemple 1
Mets en facteurs :
(Bx-2) —(2x+1); xP—6x+9; 3x(x—2)+6(x-2).
Exemple 2
X
a) Y a-t-il une différence entre les deux écritures’ % et bi ? Justifie ta réponse.

3+l

b) Simplifie I’écriture
- + —
4 3
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Mati¢re : Mathématiques

Education de base 8

Tableau des compétences

Domaines N Compétences
1.1 Produire différentes écritures d'un nombre.
e BLE 1.2 Comparer et contraster les propriétés des nombres.
Activités numériques et P prop
algébriques 1.3 Effectuer différents types de calcul (calcul numérique exact
ou approché, avec ou sans calculatrice, calcul algébrique.)
1.4 Résoudre des équations et des inéquations.
2.1  Construire des figures géométriques sous certaines
contraintes.
22 Comprendre, comparer et contraster les propriétés des
N —— figures géométriques.
Activités géométriques & & q
2.3 Utiliser les propriétés données d'une figure géométrique
pour inférer et justifier d'autres propriétés.
2.4 Appliquer les concepts et les relations de mesures dans des
situations différentes.
3.1  Sélectionner des informations pertinentes, présentées sous
diverses formes.
3.2 Passer d'un mode de représentation d'une situation a un
Résolution de problémes autre.
et 3.3 Expliquer ses démarches, valider et interpréter des
Communication résultats.
3.4 Mener différents types de raisonnement pour faire des
démonstrations.
3.5 Faire des conjectures et les vérifier.
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Education de base 7

Grands
Moyens
Petits

a) Quel est le nombre d'épis de mais de chaque taille? (Ecris tous les calculs ainsi que la
réponse).

b) Compléte le diagramme représentant la méme répartition.

(Compétence 3.2 : Passer d'un mode de représentation d'une situation a un autre.)

Compétence 3.5. Faire des conjectures et les vérifier

Exemple 1

a) M est un point qui varie sur un cercle de centre O et de rayon 4cm. N est le milieu de [OM].

Quel est le lieu du point N ?
b) Justifie ta réponse. (Compétence 3.4 : Mener différents types de raisonnement pour faire

des démonstrations simples.)
Exemple 2

a) B et C sont deux points fixes et 4 est un point qui varie de telle sorte que le triangle ABC est
isocele de base [BC]. Quel est le lieu du point 4 ?

b) Justifie ta réponse. (Compétence 3.4 : Mener différents types de raisonnement pour faire
des démonstrations simples.)

Exemple 3

a) Compléte chacune des suites suivantes :
i)1,4,9,16, 25, ..
i)l1,1,2,4,3,9,4, 16, ..
i) 1,1,1,2,4,8,3,9,27,4, 16, 64, ..
iv) 1—l R e L , N} ... . Quel est le terme de rang 100 de cette suite?
2 3 4 5 6

b) Explique. (Compétence 3.3 : Expliquer ses démarches et valider des résultats.)
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Education de base 7

Exemple 2
On considere le probléme suivant : «L'4ge du pere est le triple de celui de son fils. Dans 10 ans,
I'dge du pere devient le double de celui du fils. Quel est I'age actuel de chacun d'eux?»
a) Mets ce probléme en équation.
b) Résous I'équation obtenue. (Compétence 1.4 : Résoudre des équations.)
¢) Vérifie le résultat obtenu.
d) Résous le méme probléme en remplagant la phrase "Dans 10 ans" par "Dans 5 ans". Que

peux-tu dire dans ce cas?

Exemple 3
a) Ecris une phrase traduisant 1’égalité XT =35,

b) Formule une situation pouvant étre traduite par ’égalité précédente.

Compétence 3.4. Mener différents types de raisonnement pour faire des démonstrations

simples.
Exemple 1 c

Dans la figure ci-contre on donne :

un quadrilatére CHAT dont les c6tés sont égaux. o]

O est le point de rencontre des diagonales.

a) Démontre que les triangles 7AC et HAC sont égaux.

Détermine les éléments homologues?
b) Démontre que (CH) est paralléle a (TA) et (I'C) est paralléle & (4H).

Exemple 2 B _ D; ‘ _’»E—
Si [4J] représente un segment de longueur 7cm, quelle doivent étre | . _
les longueurs des autres segments de la forme polygonale grise de la - : <l % ‘ =
figure ci-contre ? ; = :

—T ] T

Exemple 3
Un cultivateur a récolté 750 épis de mais. 11 les répartit en trois tailles: grands, moyens et petits.
Le diagramme circulaire ci-dessous représente leur répartition (les 6 secteurs du diagramme

sont égaux).
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Education de base 7

Compétence 3.2. Passer d'un mode de représentation d'une situation & un autre.

Exemple 1
La liste suivante représente les notes en Math des éleves d'une classe :
12-15-10-15-8-10-12-8-12-10-15-14-14-12-10-11-11-10
10-11-12-14-13-8-13-15-10-9-9-10.
a) Organise ces données dans un tableau montrant les effectifs correspondants a chaque note.

b) Représente ces informations par un diagramme en batons.

Exemple 2
Le dessin ci-contre représente un cube "transparent".
a) Modifie le dessin pour qu’il représente un cube opaque dont la face ‘ ‘ ' ‘
supérieure est visible. ‘ l 7
b) Modifie le dessin pour qu’il représente un cube opaque dont la face
inférieure est visible.
Exemple 3
a) Dans un repére d’axes x'Ox, y 'Oy place les points S(2 ;5) et P(-2 ;—4).

b) Place le point M de telle fagon que (MS) soit paralléle a (x 'x) et (MP) soit parallele a (y'y).

Quelles sont les coordonnées de M ?

Compétence 3.3. Expliquer ses démarches et valider des résultats.

Exemple 1

Programme de calcul :
¢Choisis un nombre entier.
e Multiplie par ......... .
eAjoute 5.
e Multiplie le tout par ......... :
e Ajoute le nombre de départ.
eRetranche ......... .
e Annonce le résultat.

a) y étant le nombre choisi, on suppose que l'expression suivante traduit le texte ci-dessus :
(y x11 +5) x 9 + y — 45. Ecris I'énoncé en complétant les nombres qui manquent.
b) Réduis l'expression. (Compétence 1.3 : Effectuer différents types de calcul.)

¢) Explique comment tu peux utiliser le résultat de b) pour étonner tes copains avec une

devinette.
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Domaine : Résolution de problémes et communication

Compétence 3.1. Sélectionner des informations pertinentes, présentées sous diverses formes.

Exemple 1 P
a) Ecris un texte qui permettrait a un de
tes amis de produire une figure analogue \-;

a la figure ci-contre. \

(Autre compétence : 3.3. Expliquer ses X \X
démarches, valider des résultats.) \

b) Calcule les angles ASC et PBE . X

(Autre compétence : 2.3. Utiliser les
propriétés données d'une figure _
géométrique pour inférer d'autres b8 ; E
propriétes.) = |

Exemple 2
a) Organise dans un tableau les informations données par le diagramme en batons ci-dessous.

(Compétence : 3.2. Passer d’un mode de représentation d’une situation & un autre.)

Nombre
d'éléves

15
15 - T - - _
| i
[
' 10
10’» —— ol = =
| -
.
|
3 - i L - o
.l .|
. |
| : le
| S I . ST . : 5
7 10 12 15 18 Notes en Math

b) Combien d’éleves ont-ils eu une note supérieure a 11?
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Exemple 2
Sans utiliser des instruments de mesure, compléte les tableaux suivants d'aprés les trois

triangles tracés ci-dessous :

F
.
.""'J ). 6cm { Gem g
B:J_/.,ﬁo . i _ 5 I L :

Longueur On ne peut Mesure On ne peut

(encm) | pas répondre (en degrés) | pas répondre
AB - Angle A
BC Angle B
AC Angle C B
DE Angle D
EF Angle E
DF B ] Angle F
GH - Angle G

L HL Angle H B

GL B Angle L

Compétence 2.3. Utiliser les propriétés données d'une figure géométrique pour inférer
d'autres propriétés,

Exemple 1

ABC est un triangle isocele de base [BC] et (d) est la médiatrice de [BC].
Pourquoi A appartient-il a (d) ?

Exemple 2

Sachant que (BC) est paralléle & (DE), calcule tous les angles de Pl !
|

la figure ci-contre. Justifie tes réponses.
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Education de base 7
Domaine : Activités géométriques

Compétence 2.1. Construire des figures géométriques sous certaines contraintes.

Exemple 1

Construis un triangle ABC dans chacun des cas suivants (construis deux triangles différents si la

solution n’est pas unique) :

a)AB=3cm; BC=4cm; AC=6cm.
PN

b) AB=3cm ; BC=4cm; ABC=40°.
AN N\

c)AB=3cm; ABC=45°; BAC=30°.

d)AB=4cm ; BC = 5cm.

PN
e)AB="7cm; ABC = 50°,
PN RN

f) ABC = 40° BAC = 60°.

Exemple 2 Sans utiliser une régle graduée

a) Trace un segment [4B] et construis la droite perpendiculaire a ce segment au point M tel
que AM = 3MB.

Remarque. En ce qui concerne les questions de construction, il suffira que 1’éléve décrive la
démarche a suivre, sans entrer dans les détails. Ainsi, pour cet exercice, on s attend a une réponse
telle que . On construit la médiatrice de [AB], elle passe par le milieu N de [AB], puis on trace la
médiatrice de [NB] : c’est la droite demandée, M est le point de rencontre de cette droite avec [AB].

b) Sans utiliser une regle graduée, construis un point C n’appartenant pas a (4B) et tel que
CA = CB, puis construis le translaté de la figure ainsi obtenue par la translation amenant

Men C.

Remarque. Dans cette question, on s’attend a ce que 1’éléve décrive la démarche :
C est un point de la médiatrice de [AB], A’ est le translaté de A, B’ celui de B et C" est celui de C (ces
points doivent étre placés sur la figure, avec les segments [AA’], [BB’], [MC] et [CC'].)

Compétence 2.2. Comprendre, comparer ¢t contraster les propriétés des fisures
géométriques.

Exemple 1
Vrai ou Faux ?
a) Le centre d'un cercle appartient a la médiatrice de toute corde de ce cercle.
b) Dans un triangle isocéle toute bissectrice est un axe de symétrie.

¢) Dans un triangle équilatéral toute bissectrice est un axe de symétrie.
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Exemple 4

Les figures ABECD et TIR ont-elles le méme périmétre ?

T
\
T e — B /
N4 \
X X
X ¥ -1 E f.ff;
- /
B 5 / ,\
D c / \
R’ = o
A+

(Autre compétence 3.4 : Mener différents types de raisonnement pour faire des
démonstrations simples.)

Compétence 1.4. Résoudre des équations et des inéquations.

Exemple 1
Que vautxsil’ona:
a) S5x+3=87
b) 5S5x+3=4x+47?
c) Sx+3=2x+4?

Exemple 2

La figure ci-contre représente un terrain rectangulaire.

On a entouré trois fois ce terrain avec un fil de fer .

Que vaut x si la longueur du fil de fer utilisé est de

424m? ' e

Exemple 3

‘ em  ne .  (— .
Compléte I’équation suivante pour que la valeur — soit une racine :

S5x+3=....x+4
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Exemple 3

Range les nombres suivants par ordre croissant.

é; l+l; 3+l; 6><l+l.
2 2 3 2 2 4

utre competence 1.1 : Produire différentes écritures d'un nombre.
‘Aut pét 1.1 : Produire différentes écrit d’ b

Exemple 4
Certains des nombres suivants sont égaux. Lesquels ?

20, D=-2x(3)—4; E=1"x—,

; B=3-5; C= 22,
500 2

(Autre compétence 1.2 : Produire différentes écritures d'un nombre. )

Exemple 5

Deux horloges sonnent régulierement. La premiére sonne toutes les 12 mn et la deuxiéme
sonne toutes les 15 mn.

Si ces deux horloges sonnent ensemble a midi, & quelle heure sonneront-elles ensemble pour la
premiere fois ? Pour la deuxiéme fois ?

(Autre Compétence 3.4 : Mener différents types de raisonnement pour faire des
démonstrations simples.)

Compétence 1.3. Effectuer différents types de caleul .

Exemple 1

a) Ecris ’expression numérique correspondant a la séquence suivante des touches d’une

calculatrice.
188 8 1 0 o T S e A e
b) Utilise la calculatrice pour effectuer le calcul.

Exemple 2

Place les parentheses, si nécessaire, pour avoir une égalité vraie :

10+20x30=610; 10 + 20 x 30 = 900.

Exemple 3

Effectue et réduis les termes semblables : C = -3¢ (a2 +ta-2)+2,5Q2a+4).
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Domaine : Activités numériques et algébriques

Compétence 1.1. Produire différentes écritures d’un nombre.

Exemple 1
Compléte le diagramme en arbre. Quel est le
nombre décomposé ? Ecris-le sous la forme de

produits de nombres premiers.

Exemple 2

a) Ecris chacun des nombres A, B et C sous la forme d’un produit de deux fractions de

3
dénominateurs différents de 1 : A= 12—0 B= %5 C= 23? 2 .

b) Ecris chacun des nombres A, B et C sous la forme d'un produit d’un entier par une fraction.

c) Ecris C sous la forme d’un produit de trois nombres.
Exemple 3
Donne ’écriture décimale de chacune des fractions suivantes :
17, 21, )
25° 6 18"

Compétence 1.2. Comparer et contraster les propriétés des nombres.

Exemple 1

Lesquels des nombres suivants sont des nombres premiers ‘7 Justifie ta réponse :
61; 29x23 ; 176 532 ; 127 ; 123.
Exemple 2
Lesquelles parmi les fractions suivantes sont des fractions décimales ? Justifie ta réponse.

17 5 21, 45

25° 42° 6 18"
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Matiére : Mathématiques Education de base 7

Tableau des compétences

Domaines Compétences

1.1 Produire différentes écritures d'un nombre.

R - 1.2 t 1 1été :

Activités numériques et Comparer et contraster les propriétés des nombres
algébriques 1.3 Effectuer différents types de calcul (calcul numérique exact

ou approch€, avec ou sans calculatrice, calcul algébrique.)

(V8]

1.4 Résoudre des équations et des inéquations.

2.1  Construire des figures géométriques sous certaines
contraintes.

2.2 Comprendre, comparer et contraster les propriétés des

eamcriR pz———y figures géométriques.
Activités géométriques & g q

2.3 Utiliser les propriétés données d'une figure géométrique
pour inférer et justifier d'autres propriétés.

2.4 Appliquer les concepts et les relations de mesures dans des
situations différentes.

3.1 Sélectionner des informations pertinentes, présentées sous
diverses formes.

3.2 Passer d'un mode de représentation d'une situation & un

Résolution de problémes autre.
et
Communication 3.3 Expliquer ses démarches et valider des résultats.

3.4 Mener différents types de raisonnement pour faire des
démonstrations.

3.5 Faire des conjectures et les vérifier.
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Education de base 6

Domaine: Résolution de problémes et communication

Compétence 3.1. Relever des informations pertinentes présentées sous diverses formes.

Exemple
a) Quelles sont les informations données dans la ST
figure ci-contre? o o
b) Quelle est la nature de chacun des triangles ARO et : o
COP? (Compétence 2.2. Comparer et contraster les propriétés des figures géométriques.)
¢) Peux-tu constater tous les angles de la figure?
(Compétence 2.2. Comparer et contraster les propriétés des figures géométriques.)

Justifie ta réponse. (Compétence 3.3. Expliquer ses démarches et ses résultats.)

Compétence 3.2. Utiliser le concept de la proportionnalité pour résoudre des problémes.

Exemple 1

Dessine le plan d'un champ rectangulaire de dimensions 30,5m et 35,7m, a I'échelle et

indique sur la figure les longueurs des cotés en cm.

(Autre compétence : 2.1. Construire des figures géométriques sous certaines contraintes.)
Exemple 2

Dans une localité de 4 000 électeurs, le taux de participation & une élection a été de 45 %. Quel est le

nombre des électeurs qui n'ont pas participé au vote?

Compétence 3.4. Passer d'un mode de représentation a un autre.

Exemple
Lors d'une étude sur les activités sportives préférées des éléves d'une classe de la EB6, chaque
éléve a inscrit l'initiale de son activité préférée (B : Basket-ball, F : Football, V : Volley-ball),
et on a obtenu les données suivantes :
B-B-V-F-F-F-B-B-V-V-B-B
F-V-F-F-F-B-V-B-B-V-F-F.
a) Représente ces données dans un tableau montrant le nombre des élcves préférant chacune

des activités sportives.

b) Représente les données obtenues par un pictogramme.
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Compétence 2.4. Appliguer les concepts de mesures dans des situations différentes.

Exemple

Quelle est l'aire de la partie hachurée dans la figure ci-dessous? (L'unité est le carreau du

quadrillage).
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Compétence 2.3. Utiliser les propriétés des figures géométriques pour en inférer d’autres.

Exemple 1

Un triangle étant donné:

e Quel est le nombre maximal d’angles obtus que ce triangle peut avoir ?
¢ Quel est le nombre maximal d’angles droits que ce triangle peut avoir ?
* Quel est le nombre minimal d’angles aigus que ce triangle peut avoir ?

Exemple 2
N\
/
Quelles sont les mesures des autres angles? / \
/ b
X /
/ \
/ \
// N\ 60° ‘ \
/ | \
Exemple 3

Le triangle ABC est le symétrique du triangle PIE par rapport a la droite (a).

N

Quelle est la mesure de I’angle PIE ?

()
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Domaine: Mesure et Activités géométriques

Compétence 2.1. Construire des figures géométriques sous certaines contraintes.

Exemple 1
a) Construis un triangle ayant un coté de 3cm et un autre c6té de 4cm.

b) Peux-tu construire un autre triangle satisfaisant aux conditions de la question précédente?

Exemple 2 - —
Recopie le dessin ci-contre et construis Ja — — = = —
figure symétrique de la ligne brisée par ——r o N — —

] — — = f__— = =
rapport a O. = = o =N
= .____._ = =
: 41 s e

- \',_/

Compétence 2.2. Comparer et contraster les propriétés des figures géométriques.

Exemple

Mets un X dans les cases convenables :

Posséde un axe
de symétrie
Posséde un
centre de
symétrie

o

Un triangle

Un triangle isocéle
Un triangle rectangle
Un triangle équilatéral
Un rectangle

Un carré

Un cercle

Un parallélogramme
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Compétence 1.4. Effectuer des calculs simples sur des expressions algébriques.

Exemple 1

a) Sin désigne un entier naturel, comment représenter le double de n? Le triple de n?

b) Si x désigne un nombre, que représente 2x ? 2+x ? x*?

Exemple 2
a) Quelle est la valeur de l'expression 2n+1 pour n =8 ? Pour n =14 ? pour n =124 ?

b) Quelle est la propriété vérifiée par tout nombre de la forme 2n+1 ?
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Domaine : Activités numériques

Compétence 1.1. Produire différentes écritures d'un nombre.

Exemple 1

Quel est le nombre dont I'écriture développée du nombre renversé est :
9x10 000 + 5x100 + i
100

Remarque: le nombre renversé de 1435 est 5341,

Exemple 2
Parmi les fractions suivantes, lesquelles sont des fractions décimales?
ER 2. 0 i,
5 27 ° 60 75

Compétence 1.2. Etablir des relations sur des nombres.

Exemple 1
Calculer le PGCD et le PPCM des deux nombres 36 et 48.

Exemple 2
Donne deux nombres premiers entre eux dont I'un est de deux chiffres et I'autre de trois

chiffres.

Compétence 1.3 : Effectuer différents types de calcul .

Exemple 1

Salwa est au rez-de-chaussée d’un immeuble de 10 étages et 5 sous-sols. Elle prend

’ascenseur et monte deux étages, puis descend trois étages, puis deux ¢tages, puis monte sept

étages. Salwa sort alors de 1’ascenseur.

i) Ecris une expression numérique représentant le mouvement de 1'ascenseur depuis le rez-
de-chaussée jusqu'a ce que Salwa le quitte.

i) A quel étage Salwa est-elle sortie de I’ascenseur ?

Exemple 2
(.)5+(.)6+(..)7=+6
C’est une somme de nombres relatifs. Les signes des nombres sont effacés. Ecris-les de

maniére que 1’égalité soit vraie.
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Matiére : Mathématiques

Education de base 6

Tableau de Compétences

Domaines

Compétences

1.1

Produire différentes écritures d'un nombre (décimal,
fractionnaire ou relatif.)

1.2 Etablir des relations sur des nombres (comparaison,
ey e multiple, diviseur, PGCD, PPCM, etc.)
Activités numériques

1.3 Effectuer différents types de calcul (exact, approché,
estimé, réfléchi; sans ou a l'aide d'une calculette).

1.4 Effectuer des calculs simples sur des expressions
algébriques.

2.1 Construire des figures géométriques sous certaines
contraintes.

2.2 Comparer et contraster les propriétés des figures

Mesure et activités géométriques.
gcomcixiques 2.3 Utiliser des propriétés des figures géométriques pour en

inférer d'autres.

2.4 Appliquer les concepts de mesures dans des situations
différentes.

3.1 Relever des informations pertinentes présentées sous

Résolution de problémes RO
et communication 3.2 Utiliser le concept de la proportionnalité pour résoudre

des problémes.

3.3 Expliquer ses démarches et ses résultats.

3.4 Passer d'un mode de représentation & un autre.
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Education de base 5

Repas de Marina :

e 200 g de viande.

e 1/2 pain.

¢ 2 tomates moyennes.
e 4 carottes moyennes.

Repas de Hala :

¢ 4 pommes de terre moyennes.
e 5 carottes moyennes.

e 250 g de poissons.

e 25 ¢/ de lait entier.

Qui a absorbé le plus de calories?

(Autre compétence 3.2. Résoudre des probléemes en mettant en place des stratégies de

résolution.)
Exemple 2
Un chef scout doit organiser le camp d’été. Dans son local, les informations suivantes sont
affichées :
Nom de la troupe | Nombre d’enfants

Jeita 32

Byblos 31

Tyr 30

Baalbeck 31

Tripoli 25

Saida 28

Nom des camps Les troupes
Les Faucons
Les Aigles

Dans chaque camp, il faut un maximum de 90 enfants. Les enfants d’une méme troupe doivent
étre dans le méme camp.

Comment le chef scout va-t-il répartir les troupes dans les camps ?

(Autre compétence 3.2. Résoudre des problémes en mettant en place des stratégies de
résolution.)
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Education de base 5

Domaine : Résolution de problémes et Communication

Compétence 3.2. Résoudre des problémes en mettant en place des stratégies de résolution.

Exemple
a) En effectuant la division de 2 252 par 21, détermine le quotient et le reste.

(Compétence 1.3. Effectuer différents types de calcul.).
b) En t'appuyant sur les résultats obtenus dans la question précédente, réponds a chacune des
situations suivantes :
e Un cultivateur ramasse 2 252 champignons. Il les vend par lots de 21.
Combien de lots a-t-il vendus?
e Un fleuriste a 2 252 roses. 1l fait des bouquets de 21 roses chacun et emporte ce qui
reste chez lui.
Combien de roses emporte-t-il chez lui ?
e Aujourd’hui, 2 252 touristes ont utilisé des barques pour visiter la grotte inférieure de
Jeita. Une barque peut transporter au plus 21 personnes.
Combien y a-t-il eu de départs de barques ?
e Un pressoir a huile a produit 2 252 litres en une semaine. L’huile est déposée dans des
bidons de 21 litres. Et, évidemment, on ne jette rien.
Quelle quantité d’huile y a-t-il dans le dernier bidon rempli ?
Explique comment tu as choisi tes réponses.

(Compétence 3.3. Expliquer ses démarches et ses résultats..)

Compétence 3.1. Relever des informations pertinentes.

Exemple 1

Voici un tableau qui indique le nombre de calories fournies par certains aliments.

Aliments Calories
Banane moyenne 100
Pomme moyenne 80
1/8 de pain arabe 80
25 cL de lait entier 150
Pomme de terre moyenne 90
Tomate moyenne 30
Carotte moyenne 28
100 g de viande 220
100 g de poisson 90
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Domaine : Mesure et activités géométriques

Compétence 2.2. Reproduire des dessins a 1'aide des instruments de géométrie.

Education de base 5

Exemple

Dessine une figure semblable a celle-ci, en suivant les

f

Instructions : /
_- 1]
e Trace un segment AB de 6 cm de longueur. Al ¢
o Trace le cercle de diamétre [4B]. Marque son centre /. ﬁ\ \ _ /
e Trace le cercle de diamétre [B]. . S/
s
Compétence 2.3. Exploiter les concepts de mesures
Exemple 1
Ces situations te font-elles penser a I’aire ou au périmétre ?
Mets un X dans la bonne case.
périmetre aire
a) Entourer un terrain d'un grillage
b) Planter le tiers d’un terrain.
c¢) Acheter un terrain.
d) Courir autour d’un terrain.
e) Echanger des terrains
Exemple 2
On va comparer les aires et les périmetres de A et B.
A ) B
/ \

Entoure la bonne réponse.
A et B ont méme périmétre.
Le périmétre de A est plus grand que celui de B.

Le périmétre de B est plus grand que celui de A.
A et B ont méme aire.

L’aire de A est plus grande que celle de B.
L’aire de B est plus grande que celle de A.
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Exemple 2

Education de base 5

Quel est le nombre le plus proche du nombre proposé ? Entoure la bonne réponse (sans faire

les calculs.)

e 657+0,99 757 658 7.5%

e 36+499 41 500 36

e 88x10,9 900 9500 90

e 365-10,99 265 350 40
Exemple 3

Sans faire les calculs, compléte par < , = ou >.

39x0,8 ...... 39 89x1,02 ...... 89

65%x24 ... 28 x 17 54x 13,5 ...... 54 x 14

68,6 x2,3 ...... 68 x 2 106-7,99 ...... 106 -8
Exemple 4

a) Sans faire de calculs exacts, estime les nombres proposés.

657
4,99
100
35

est compris est compris ESLEGMPES
Le produit est inférieur a 1 entre 1 et 10 | entre 10 et 100 entre 100 et
1000
13,65 x 12,5
125 x 0,035
254,1 x 2,2
325,7x 22

b) Effectue les multiplications et vérifie si ton estimation est correcte.

13,65 x 12,5

254,1 x 2,2
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Education de base 5

Domaine : Activités numériques

Compétence 1.2 : Etablir des relations sur des nombres.

Exemple 1
Les assiettes en carton se vendent par lots de 12.
Trois amies veulent acheter des assiettes.
Maha en demande 36, Samia 60 et Imane 82.
Le marchand leur dit : il y a une personne qui doit changer sa commande.

Quelle est la commande qui doit étre modifiée ? Pourquoi ?

Exemple 2
Quelles sont parmi ces durées celles qui ne représentent pas un nombre exact d’heures ?
Barre-les.

60 min 160 min 30 min 240 min 180 min 200 min

(Autre compétence : 1.4. Effectuer des calculs dans le systéme sexagésimal).
Exemple 3

Papa téléphone 4 ses enfants Ziad et Rime et leur demande d’ouvrir le coffre-fort. Ce coffre a
un code de trois chiffres.

Les enfants ne sont pas siirs des trois chiffres. Ils se rappellent que le code ne contenait aucun
des chiffres 0, 1, 4, 6, 7, 9.

Rime dit : je sais que ¢’est un multiple de 5.

Ziad dit : je sais que c’est un multiple de 3.

Quels nombres doivent-ils essayer ?

Explique comment tu as réfléchi.

(Autre compétence : 3.2. Résoudre des problémes en mettant en place des stratégies de
résolution.)

Compétence 1.3. Effectuer différents types de ealcul.

Exemple 1
Pour chacun de ces calculs, plusieurs réponses te sont proposées. Une seule est juste. Sans

faire les calculs, entoure la bonne réponse.

e 25,64 x4, est égal a 105,124 10,5124 104,54
o 745x3,4 est égal a 2533 2533 300,20
e 87x0,99 est égal a 86,13 8613 8,613
e 256 x 1,09 est égal a 249,04 27,04 279,4
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Matiére : Mathématiques Education de base 5

Tableau de Compétences

Domaines Compétences

1.1 Produire différentes écritures d'un nombre (entier,
décimal ou fractionnaire)

1.2 Etablir des relations sur des nombres (comparaison,
Activités numériques multiple, diviseur, etc.)

1.3 Effectuer différents types de calcul (exact, approché,
estimé, réfléchi; sans ou a l'aide d'une calculette).

1.4 Effectuer des calculs dans le systéme sexagésimal.

2.1 Décrire et classer des figures planes d'aprés leurs
propriétés (symétrie, parallélisme, orthogonalité, etc.)

Mesure et activités 2.2 Reproduire des dessins a l'aide des instruments de
géométriques géométrie.

2.3 Exploiter les concepts de mesures.

2.4 Décrire des solides.

3.1 Relever des informations pertinentes (a partir d’un

Résolution de problémes texte, d’un tableau, d’un schéma, d'un résultat, etc.)

et communication 3.2 Résoudre des problémes en mettant en place des
stratégies de résolution.

3.3 Expliquer ses démarches et ses résultats.

3.4  Passer d'un mode de représentation a un autre.
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Education de base 4

Ou :
Nombre de marches Nombre de blocs

J{ 1

2 l1+2=3

3 3+3=6

4 6+4=10
J 10+5=15

6 15+6=21

7 21 +7 =28

Cette derniére présentation ne met pas en évidence une loi en fonction du rang, mais une loi
récurrente.

On a besoin de 28 blocs pour un escalier & 7 marches.

La loi : le nombre de blocs nécessaires est la somme du nombre des marches avec tous les
nombres qui lui sont inférieurs.

Exemple 2
Nabil et Sami jouent & un jeu. Nabil dit un nombre et Sami applique une loi de son invention

et donne une réponse. Voici le jeu.

Nombre de Nabil Nombre de Sami
8 17
10 21
15 31

Quelle est la loi de Sami ?

(Autre compétence : 1.2. Etablir des relations sur des nombres.)
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Education de base 4

Compétence : 3.2 Résoudre des problémes en mettant en place des stratégies de résolution.

Exemple 1
Dans une usine, deux machines produisent des bols en plastique.
Une machine produit 126 bols blancs en une heure et elle fonctionne 8 heures par jour et 5
jours de la semaine.
Une autre machine produit 82 bols de couleur en une heure. Elle fonctionne 8 heures du lundi
au vendredi et 4 heures samedi.
L’usine est fermée dimanche.
Combien de bols sont produits par cette usine en une semaine ?
Explique clairement toutes les étapes de ton calcul.

N.B. Tu peux utiliser la calculatrice dans la résolution de ce probleme.
Exemple 2

Voici des escaliers construits avec des blocs. Le premier escalier est d'une |:] ler

marche, le second est de 2 marches et le troisiéme en a 3.

Et on continue ainsi. | 2¢me

De combien de blocs a-t-on besoin pour construire un escalier a 7 marches ?

Peux-tu imaginer cela sans le construire ? Y a-t-il une loi ? Laquelle ? e

Explique clairement ’ |

(Autre compétence : 3.3. Expliquer ses démarches et ses résultats.)

Commentaires :
Ce probléme est basé essentiellement sur la compréhension de l\information et la mise en
place d'un stratégie qui permet l'élaboration d'une loi. Les compétences de calcul mises en
ceuvre sont insignifiantes et ne seront donc pas prises en considération.

Réponse attendue :

Nombre des marches Nombre des blocs
1
1+2=3
1+2+3=6
1+2+3+4=10
1+2+3+4+5=15
1+2+3+4+5+6=21

1+2+3+4+5+6+7=28

N[ Ao~
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Education de base 4
Domaine : Résolution de problémes et Communication.

Compétence : 3.1 Relever des informations pertinentes et les combiner pour résoudre un
probléme,

Exemple
Le tableau suivant est extrait d'un "Agenda". Il indique les distances entre quelques villes

européennes.

0 @ o

HHHEOEHHEEEEED
Barcelone | 0 (1419|1284 758 | 644 | 515 (1349 685 [1125]1471]1327|1989 | 1036
Bruxelles 0 | 409|674 | 671 | 999 | 811 [1277| 294 |1615|1229|1134 641_
Francfort 0 | 585|640 | 1004 | 383 [1085| 592 1406|1020 | 725 | 432
Geneve 0 | 162|443 | 591 [ 483 | 546 {1093 | 707 | 1055| 278
Lyon 0 | 328 | 753|440 | 481 |1066| 789 {1217 404
Marseille 0 |1034| 227 | 809 | 956 | 812 | 1414 721
Munich 0 [ 911 | 827|969 | 504 | 458 | 313
Nice 0 | 921|729 | 585 |1187| 665
Paris 0 |1531|1145]1285| 557
Rome 0 1761|1168 986
Venise ] 0 | 610|600
Vienne 0 | 784
Zurich 0

a) Dans ce tableau il y a des "0". Que signifient-ils?

b) Peux-tu compléter ce tableau (en remplissant les cases vides)? Explique.

¢) Quelles sont les deux villes les plus proches? Les plus ¢loignées?
(Autre compétence : 1.2. Etablir des relations sur des nombres).

d) Un avion fait le trajet : Paris — Lyon — Genéve — Bruxelles - Paris, &4 500 km/h comme
vitesse moyenne. Quelle est la distance parcourue par l'avion, et combien de temps fait-il

passer en vol? (Autre compétence : 2.3. Exploiter les concepts de mesures.)
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Education de base 4

Compétence : 2.3. Exploiter les concepts de mesure.

Exemple 1

De quoi s’agit-il ? Dans certains cas, plusieurs réponses sont possibles.

masse

longueur .

capacité |durée monnaie

Je m’habille vite pour aller a I’école.

La récolte de pommes s’est mal
vendue cette année.

Quand j’achéte une boite de mais, je
cherche celle qui en contient le plus.

A la télé, on a annoncé une coupure
d’eau. Il faut vérifier la quantité
d’eau du réservoir.

Ce camion est trop chargé : il ne doit
pas rouler sur le pont.

Marina veut savoir combien de
pommes il faut pour avoir un
kilogramme.

En mettant de I’engrais au pied des
arbres, ils poussent plus vite.

La boutique “ Tout pour les enfants ”
fait des soldes.

Lxemple 2

Les éléves d’une classe doivent courir 4 fois autour d’un terrain
rectangulaire. Ils veulent savoir si cela fait plus que 1 km.
Ziad et Hadi mesurent chacun un des cdtés du terrain.

Ziad obtient 72 m pour le grand coté et Hadi dit que le petit coté est de

5 dam 6 m.
a) Ecris les mesures obtenues sur le dessin ci-contre.

b) Crois-tu que les éléves de la classe vont parcourir plus de 1 km ?
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Education de base 4
Domaine : Mesure et activités géométriques.

Compétence : 2.2 Reproduire des dessins 3 I'aide des instruments de géométrie.

Exemple 1

Compléte le dessin ci-dessus pour qu’il soit identique & celui de droite.

Utilise le compas, I’équerre et la régle graduée.

Exemple 2

Dessine, en restant a I’intérieur du cadre, ce qui manque dans chaque dessin pour avoir deux

dessins identiques.

e
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Education de base 4
Exemple S

Arrondis chaque nombre 2 la dizaine la plus proche, puis donne une estimation du résultat.

e 36589 + 12075 — .. g R e T —

o 653,27 — 32,57 D =S P e

e 31,65 x 1254 T ————— X trieiee e P e

o 125436 - 36,857 > e | R —> SR Yo
Exemple 6

Pour chacune des expressions suivantes,
a) sans effectuer le calcul, donne une valeur approchée du résultat;

b) fais le calcul 4 l'aide d'une calculatrice.

Valeur donnée par la

Expression Valeur approchée du résultat calculatrice

89,6 + 72,1 + 103

687,9 —199,2

387 x 10,1
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Education de base 4

Compétence 1.3. Effectuer différents types de calcul.

Exemple 1

a) Sans faire de calculs, barre les réponses qui sont

slirement fausses.

® 253 x 41
o 84 x84

e 162 x 53
® 234 x 42

10419
7056
8586
1748

Note a l'usage de I’enseignant :

ces exercices sont a traiter sans feuille de
brouillon, ni stylo-bille ni efface-encre.

10 373 2834
14 316 7132
2 006 8942
9 828 9376

b) Explique ton choix pour les deux derniéres lignes.

(Compétence 3.3: Expliquer ses démarches et ses résultats.. )

Exemple 2

En divisant 6 048 par 12, Léo a obtenu 54 et Lina 504.

Sans effectuer le calcul, peux-tu dire quel est le quotient qui est certainement faux ?

Explique (Compétence 3.3: Expliquer ses démarches et ses résultats.. )

Exemple 3

A quoi est égal 100 x 100 ?

Sans effectuer les calculs, entoure les produits supérieurs a 10 000.

75 x 89
526 x 30
1099 x5
498 x 18
2087 x4

Exemple 4

123 x 108
235 x 122
406 x 221
631 x 25

2032x5

Sans effectuer le calcul, entoure la bonne réponse. Explique ton choix.

Avec 10 000 LL, peux-tu acheter 20 crayons & 525 LL I’un ? out

non
Tu as 3 kg de confiture. Peux-tu remplir 6 pots de 455 gl'un? oul =
(Autre compétence : 2.3. Exploiter les concepts de mesures)
Une galette au thym cofite 750 LL. )
oul non
Peux-tu acheter 8 galettes avec 5 000 LL ?




Education de base 4
Domaine : Activités numériques

Compétence 1.1 : Produire différentes écritures d’un nombre (entier ou décimal).

Exemple 1
Ecris le nombre 100 sous la forme d’un produit de nombres. Donne le maximum d’écritures
que tu peux. N’utilise pas les nombres 1 et 100.

Ecris un produit par case.

Produit de deux nombres Produit de trois nombres Produit de quatre nombres

Exemple 2
Une usine produit des perles en bois.
Une machine range les perles comme suit:
e 10 perles dans un sac
e 10 sacs dans une boite
e 10 boites dans une caisse.
Lundi, I’usine a produit 8654 perles. La machine les range.
a) Combien de sacs sont complétement remplis ? ..........cccoovivviiiiiiiiiiiiiiiiiannnn,
b) Toutes les perles sont rangées. Combien de caisses, de boites et de sacs peut-on voir 4 la sortie de
la machine ?
Exemple 3

Relie a chaque nombre de la liste A un nombre de la liste B qui lui est égal.

A: 35 0,3 5,23 . 0,73 0,37
B: — 3405 L+ SURNE R PR
10 10 100 100 10

(Autre compétence : 1.2 Etablir des relation sur des nombres.)
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Matiére : Mathématiques

Tableau de Compétences

Education de base 4

Domaines

Compétences

1.1

Produire différentes écritures d'un nombre (entier ou
décimal)

1.2 Etablir des relations sur des nombres (comparaison,
Activités numériques multiple, etc.)
1.3 Effectuer différents types de calcul (exact, approché,
estimé, réfléchi; sans ou a l'aide d'une calculette).
B B 1.4  Effectuer des calculs dans le systéme sexagésimal.
2.1  Décrire et classer des figures planes d'apres leurs
propriétés (symétrie, parallélisme, orthogonalité, etc.)
Mesure et activités . . . . . :
L 2.2 Reproduire des dessins a l'aide des instruments de géométrie.
géometriques
2.3 Exploiter les concepts de mesures.
2.4 Décrire des solides. -
3.1 Relever des informations pertinentes (a partir d’un
Résolution de problémes texte, d’un tableau, d’un schéma, etc.)
et communication 3.2 Résoudre des problémes en mettant en place des
stratégies de résolution.
3.3 Expliquer ses démarches et ses résultats.
3.4 Passer d'un mode de représentation a un autre.
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Education de base 3

Exemple 3

Que peux-tu constater & partir du dessin ci-dessous? Explique

—fi= 250 g.

o= 100 g.

(Autres compétences: 3.4. S'exprimer par différents moyens.
2.3. Exploiter les concepts de mesure (longueur, masse, durée, monnaie
libanaise, etc.) et choisir l'unité convenable dans une situation.)
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Education de base 3
Domaine: Résolution de problémes

Compétence: 3.1 Relever des informations pertinentes i partir d’un texte, d’un tableau,
d’un schéma, etc.

Exemple 1

Une boulangerie est fermée les vendredis et les dimanches. Lundi, le boulanger a cuit 35
galettes au thym et 18 au fromage. Mardi, il a cuit les mémes nombres de galettes. Mercredi et
Jeudi de méme. Samedi, il a cuit le double des nombres du Jeudi.

a) Ecris les informations données dans le tableau ci-dessous:

zaatar fromage

Lundi
Mardi
Mercredi
Jeudi
Vendredi
Samedi

Dimanche

b) Pose 4 questions qui nécessitent pour y répondre des calculs utilisant les informations
données.
Exemple 2

Quel est le prix du collier?.

g*ve*ve*'e
Q AT

10 g, 100 LL 15¢g,150LL 20 g,200 LL
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Exemple 3

Education de base 3

a) Estime la longueur des dessins de crayons et écris tes estimations dans la premiére colonne

du tableau.

Compare ton estimation avec le résultat de mesure

Résultat de Plus grande Plus petite A peu pres égale
Estimation | mesure que le résultat | que le résultat | au résultat
TR cm ..cm
b .cm ...cm
C  |[smommen cm ...cm
d ..cm ...cm

b) Aprés avoir rempli la premiére colonne, mesure chaque crayon et écris les résultats dans la

deuxiéme colonne. Compléte alors le tableau en comparant ton estimation avec le résultat

de mesure.
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Education de base 3
Exemple 2

Tu as 6 000 LL dans ta poche et tu vas au snack "Bien Manger". Tu veux avoir un repas
complet qui contienne au moins une boisson, un sandwich, un fruit et un dessert.

Utilise la liste des prix suivante pour sélectionner ce que tu veux acheter.

3000 LL.

600 LL.

2500 LL.

o /
M 5{‘\\///)
\V
1550 LL. 300 LL

a) Ecris ton choix.
b) D’autres choix sont possibles. Ecris 2 autres choix.

(Autres compétences: 3.1 Relever des informations pertinentes partir d’un texte, d’un tableau,
d’un schéma, etc.

3.4 S'exprimer par différents moyens.)
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Education de base 3

Domaine: Mesures et Activités géométriques.

Compétences 2.3: Exploiter les concepts de mesure (longueur, masse, durée, monnaie
libanaise, etc.) et choisir I'unité convenable dans une situation.

Exemple 1
Départ du bus (6:20) Parc (6:35)
@) >0
\ Municipalité (6:55)
O

Supermarché (7:10)

O4 O
Ecole (8:00) Station d’essence (7:40)

a) Combien de temps a mis le chauffeur pour aller du point de départ a la municipalité ?

b) Combien de temps a-t-il mis entre le parc et le supermarché?

¢) Rima dit: « Le chauffeur a mis plus de temps pour aller du point de départ au
supermarché que pour aller du supermarché a 1’école ». A-t-elle raison ?

(Autres compétences: 3.1 Relever des informations pertinentes a partir d’un texte, d’un

tableau, d’un schéma, etc..
3.4 S'exprimer par différents moyens.)
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Exemple 2

Relie deux nombres qui ont 200 pour somme.

155 165
35 48
Exemple 3
Complete:
325+ .0 i e . =1000
637+ ... .........=1000
803+ ... i oin ... =1000
450+ ... ... ... ... =1 000

162

Education de base 3

152

25

55

45




Education de base 3
Domaine: Connaissance des nombres et Activités numériques

Compétence: 1.2 Comparer et ordonner des nombres.

Exemple 1
Sans effectuer de calculs, utilise le signe adéquat (<, > ou =) dans I’espace « ......... ».
136 + 89 ......... 98 + 136
25%x36......... 98 x 136
1642 -368.......... 1642 - 757
154 —-128 ......... 54 -28
Exemple 2

Ecris dans le rectangle un nombre qui convient.

1671 + <1815+ 1671
372 - >372 - 187
Exemple 3

a) Remplace ¥ par le chiffre convenable. :
6756 —-891 <6756 - 89w

b) Compléte par un chiffre convenable. :
819-743<819-7.... 4.

Donne encore une autre possibilité.

Compétence 1.4 : Utiliser des procédés de calcul réfléchi.

Exemple 1

Colorie toutes les cases qui font 300.

700 — 400 250 +50 130 + 40 150 x 2 36 x 10
275+ 35 275+ 25 320-20 350 -50 1 000 —-700
295+5 16 x 10 36 x 3 525 387 - 87
17 x2 100 x 3 25 %2 136 50x3
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Matiére: Mathématiques Education de Base 3

Tableau de Compétences

Domaines Compétences

1.1 Produire différentes représentations d'un nombre.

. 1.2 Comparer et ordonner des nombres.
Connaissances des nombres

et Activités numériques 1.3 Effectuer des opérations sur les nombres.

1.4 Ultiliser des procédés de calcul réfléchi (calcul exact,
approché, estimé, etc.)

2.1 Décrire des figures polygonales.

2.2 Reproduire des figures polygonales selon des critéres
donnés (par symétrie, sur quadrillage, etc.)
Mesure et Activités 23

b Exploiter les concepts de mesure (longueur, masse,
géométriques

durée, monnaie libanaise, etc.) et choisir ['unité
convenable dans une situation.

2.4 Classer des solides ou des figures géométriques planes
selon des critéres donnés.

3.1 Relever des informations pertinentes a partir d’un texte,
d’un tableau, d’un schéma, etc.

3.2 Représenter une situation additive, soustractive ou

) . multiplicative par une égalité numérique.
Résolution de problémes o o )
3.3 Choisir 'opération convenable pour résoudre un

probléme.
3.4 S'exprimer par différents moyens (oral, écrit,
représentation par tableau, par schéma, etc.)

(8]
(93]

Poser des questions nécessitant un traitement des
L données d'un énoncé
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Education de base 2

Exemple 4

Il faut construire cette séquence : =t <1 ﬁ ﬂ

Hani et Maya le réalisent en utilisant, chacun, des cartons ayant d’autres formes :
:
HANI b @ <2—,J rﬁ L]
T
MAYA. )> < /_\ v

Hani a-t-il bien compris la consigne ?

Maya a-t-elle bien compris la consigne ?

Exemple 5
Message : Suis ce chemin pas & pas sur
le quadrillage : @ > > v 4t 4+ Loy v
| I
A
| | | | |
| ___i_ - _ A |
——@P-
=
| '
e |
I ! . . . ] - S
o | | |
| | | |
| ) AN (S A (N SR N I
Commentaire :

L'exercice peut étre dans deux domaines: géométrie ou résolution de problémes. Si un apprentissage
préalable de ce type d’exercices a eu lieu, il est donc du domaine de la géométrie et n'est pas du
domaine résolution de problémes.

22



Education de base 2

Domaine : Résolution de problémes
Compétence 3.1 : Relever des informations pertinentes, 2 partir d’un texte, d’un tableau,
d’un schéma, etc.

Exemple 1

Maher et Hadi comptent leurs collections de coquillages.
Maher dit qu’il a 12 coquillages blancs, 10 coquillages roses et 18 coquillages jaunes.
Hadi a : 7 coquillages roses et 25 coquillages blancs.

Ecris ces nombres dans le tableau.

Coquillages Coquillages Coquillages
blancs jaunes roses
Hadi
Mabher
Exemple 2
Une boite de jeu de construction contient
/
25 briques rouges, 10 briques vertes et 7 briques
18 blanches. Ce qui fait en tout 53 briques.
. .. brigues tlanches
Ecris tous ces nombres sur la boite brigues rouges
. . ... brigues vertes
de jeu de construction.
Exemple 3
Les fleurs cueillies par Rania et Yasmina.
Anémones Cyclamens Coquelicots
Rania 24 18 13
Yasmina 32 14 11

Combien de cyclamens a cueillis Yasmina ? .....................

Qui a cueilli le plus de coquelicots ? .....................

(Autre compétence évaluée : 1.5. Comparer et ordonner des nombres)

Combien d’anémones a cueillies Yasmina ? .....................

Combien de fleurs a cueillies Rania ? .....oovvvvvivninn.

Combien d’anémones ont été cueillies ? ..oooovvvvvvven...




Education de base 2

Exemple 3
Utilise la régle pour compléter le dessin de droite comme celui de gauche.
.\‘ S o .,1"'.'-._ —— ———— Ijii — —— - o o
/ \ /
\"\. \ //
"-,.‘\ J}/ ’,r
/ | I/
\ / 1 //
/\f_ I ‘v\ / I
/ / \
/ \
/
(/ "
I  —— Ll W— \
/ \
/ \
/ \
E— —_— I - I ]

Commentaire :
La position des objets conforme au modéle, les qualités de précision des traits, I’esthétique et

la propreté des dessins, etc. seront pris en considération pour I’évaluation.
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Domaine : Mesure et activités géométriques

Compétence 2.2 : Reproduire des dessins.

Exemple 1

Education de base 2

Utilise la régle pour reproduire le dessin d’en haut, sur le quadrillage d’en bas.

Exemple 2

Utilise la régle pour dessiner comme le modéle :

19



Education de base 2

Compétence 1.6 : Effectuer des opérations sur les nombres.

Exemple 1
Effectue les calculs:
325 725 867 y 104
575 418 579 3
Ekemple 2
Effectue les calculs. Pose-les si tu le veux.
14 4+ 106 + 257 356 +25 +25 642 —354
Exemple 3

a) Hadi a cueilli 452 pommes rouges et 127 pommes jaunes.
Combien de pommes a-t-il cueillies?

b) Yasmina a 324 perles. Elle donne 135 perles a sa sceur.
Combien de perles lui reste-t-il ?

¢) Une boite de chocolat contient 36 chocolats.
Combien de chocolats y a-t-il dans 5 boites ?

Commentaire :
L’exercice 3 semble étre principalement du domaine de la résolution de problémes. Ce n’est
pas le cas. La situation est du stéréotype fréquemment traité en classe, et ¢ 'est bien un
exercice de type « opérations », fidéle a l’esprit du programme de 1997 qui a insisté sur des
calculs « contextualisés ». La part de résolution de probléme est minime, concernant
Justement le choix de |’opération adéquate.

18



Education de base 2

Domaine : Connaissance des nombres et activités numériques

Compétence 1.3. Produire différentes écritures des nombres.

Exemple 1
Voici des cartons :

2

7 5

Place le chiffre 2 dans la position ot il vaut 20. Ecris le nombre que tu obtiens.

Ecris-en un autre.

Exemple 2

Relie les deux écritures d’un méme nombre

365
305
325
356
265

Commentaire :

200 + 60 +5
300+20+5
300+60+5
300+5
300+50+6
300 + 50

Bien que les exercices proposent des nombres sous forme d’écritures additives, il ne s'agit
pas d'une compétence de calcul. De ce fait, il est important d’évaluer la démarche utilisée par
[’éleve pour répondre & ces questions. Autrement dit * la compétence n’est pas acquise si
[’éléve pose les calculs pour trouver le nombre.

Exemple 3
Qui suis-je?

Je suis un nombre entre 100 et 200. Mon chiffre des dizaines est 8 et celui des unités est 3.

Exemple 4

Un libraire vend des cahiers par caisses de 100 ou paquets de 10.

100 cahiers 10 cahiers

Mon école veut acheter 540 cahiers.
Ecris les nombres des caisses et des paquets qu’elle va demander au libraire de maniére
commander le plus petit nombre possible de paquets.

(Autre compétence: 1.1. Lire et écrire des nombres.)
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Education de base 1

Matiére : Mathématiques ' Education de base 2

Tableau des Compétences

Domaines Compétences

1.1 Lire et écrire des nombres.

1.2 Dénombrer en groupant par 10 et/ou par 100.

) 1.3 Produire différentes écritures des nombres.

Connaissance des nombres ) i ) )
et activités numériques 1.4 Construire une suite des nombres, selon une loi donnée.

1.5 Comparer et ordonner des nombres.

1.6  Effectuer des opérations sur les nombres.

1.7  Utiliser des procédés de calcul réfléchi.

2.1 Vérifier la superposition de deux figures (par
découpage, pliage ou décalquage).

2.2 Reproduire des dessins (sur quadrillage, ou selon d'autres

Mesure et activités moyens de contrdle).

cométri .. .
geometriques 2.3  Effectuer des mesures et choisir I'unité de mesure

convenable.

2.4 Classer des solides ou des figures géométriques planes selon
des critéres donnés.

3.1 Relever des informations pertinentes a partir d’un texte,
d’un tableau, d’un schéma, etc.

3.2 Représenter une situation additive ou soustractive par

. . ] une égalité numérique.
Résolution de problemes & 4

3.3 Poser des questions nécessitant un traitement des
données d'un énoncé.

3.4 Résoudre des problémes simples relevant de situations
additives ou soustractives.

16



Education de base 1

Exemple 4
Sur un arbre, il y a 8 canaris jaunes et 7 canaris oranges.

Amale fait du bruit et 2 canaris jaunes et 1 canari orange s’envolent.
Elle compte alors les canaris jaunes qu’il y a sur I’arbre.
Quel est ce nombre ?

(Autre compétence : 3.2. Représenter une situation additive ou soustractive par une égalité
numeérique.)

Remarque :
A ce stade, les problemes peuvent étre lus. On peut méme se contenter de réponses orales.

15



Education de base 1

Domaine : Résolution de problemes

Compétence 3.1: Relever des informations pertinentes, & partir d’un texte, d’un tableau,
d’un schéma, etc.

Exemple 1

/ 7 P

#

12 chocolats 2 sucettes
' 10 bonbons

‘.'/
1 sucette J 2 sucettes

5 chocolats

Maya a pris toutes les sucettes.
Combien de sucettes a-t-elle pris?

Exemple 2
Sur la table il y a:
e 4 balles rouges
e 3 petites autos noires
e 2 poupées
e 5 autos rouges.
Combien d’autos y a t-il sur la table?

(Autre compétence : 3.4. Résoudre des problémes simples relevant de situations additives ou
soustractives)

Exemple 3

Voici les fleurs cueillies par Ziad et Yasmina.

Roses Tulipes
Ziad 12 15
Yasmina 18 12

IIs donnent les tulipes a leur tante.
Combien de tulipes ont-ils données a leur tante ?

(Autre compétence : 3.4. Résoudre des problémes simples relevant de situations additives ou
soustractives.)
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Education de base 1
Exemple 2

Découpe ces figures. Plie-les suivant la droite dessinée en pointillée. Les deux parties se
superposent-elles ? Ecris sur chaque figure oui ou non.

13



Education de base 1
Domaine : Mesure et Activités géométriques.

Compétence 2.1 : Vérifier la superposition de deux figures ).

Voici un chiteau

Et voici des pi¢ces :

Question et consigne a donner oralement en deux étapes .

a) Quelles sont les piéces que tu vas utiliser pour construire un chateau pareil ? Marque-les
comme sur le chateau.

b) Découpe les piéces que tu as choisies et vérifie si elles se superposent aux pieces du

chiteau.



Education de base 1

Compétence 1.7 : Utiliser des procédés de calcul réfléchi.

Exemple 1

Groupe par dix, puis calcule

N

3+8+7=18 5+8+5=

8+7+3= 6+5+4+5=

9+8+1+2= 6+4+8=
Exemple 2

Compléte :

9 i 7 18 + 7

....... + 1 e + 2 "

(Autre compétence : 3.1. Relever des informations pertinentes, a partir d’un texte, d’un
tableau, d’un schéma, etc.)

Commentaires :

o Nous rappelons que la présentation par arbre n’est pas une activité exigible a ce niveau :
[’arbre est un code et non un objectif.

o [Encas d’erreur de la part de ’enfant, veiller a déterminer précisément quelle compétence
n'est pas acquise : le calcul réfléchi (1.4) ou la lecture de l'information (3.1)? Pour cet
enfant, il s’agit de proposer des exercices semblables semi-oralement.

o Cette compétence met du temps a s'installer, il faut 'évaluer souvent et individuellement.

11



Education de base 1
Domaine : Connaissance des nombres et d’activités numériques

Compétence 1.2 : Dénombrer en groupant par 10.

Exemple 1

N.B. Il est important que celte activité d’évaluation se fasse sur un support nouveau.
Matériel : Des colliers de 10 perles ’un. Des perles, des boites ou des sacs.

Déroulement :

a) Présenter les colliers en indiquant qu’il y a 10 perles par collier.
Vérifier que c’est bien compris. Disposer dans une boite des colliers (entre 1 et 9) et des perles en
vrac (entre 1 et 9).Demander a un éléve de donner le nombre de perles dans la boite.

Réponse souhaitée : 10, 20, 30, 35 (dans le cas de 3 colliers et 5 perles) et non pas le
comptage 1 a 1. ‘

b) Donner un certain nombre de perles (entre 20 et 60). Demander a un él¢ve de les compter

comme s’il faisait des colliers.

Comportement souhaité . Fuaire des groupes de 10, puis compter.

Exemple 2

Relie les nombres égaux.

25 10+10+10+5
35 10+10+10+10+10+5
55 10+10+5

Exemple 3

Compléte avec des 10.

Commentaires :
e Bien que les exercices proposent des nombres sous forme d’écritures additives il ne
s’agit pas d’'une compétence de calcul. De ce fait, il est important d’évaluer la démarche
adoptée par 1'éléve pour répondre a ces questions. Autrement dit . la compétence n’est

acquise que si ['éléve donne instantanément la réponse sans poser les calculs ou compter
sur ses doigts.

o (C’est ainsi qu’il est préférable que cette compétence soit isolée des autres pour mieux
suivre le processus utilisé par chaque enfant.
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Matiére : Mathématiques Education de base 1

Tableau de Compétences

Domaines Compétences

1.1 Lire et écrire des nombres.
1.2 Dénombrer en groupant par 10.
1.3 Produire différentes représentations d'un nombre.

Connaissance des nombres | | 4  Construire.une suite des nombres, selon une loi donnée:
et activités numériques delenl,de2en2,del0en 10.

1.5 Comparer et ordonner des nombres.
1.6  Effectuer des opérations sur les nombres.

1.7 Utiliser des procédés de calcul réfléchi.

2.1 Vérifier la superposition de deux figures (par découpage,
pliage ou décalquage).
Mesure et Activités 2.2 Reproduire des dessins sur quadrillage.

geometriques 2.3 Comparer des longueurs (unités arbitraires).

2.4 Classer des solides ou des figures géométriques planes
selon des critéres donnés.

3.1 Relever des informations pertinentes, a partir d’un
texte, d’un tableau, d’un schéma, etc.

Résolution de problémes | 3.2 Représenter une situation additive ou soustractive par
une égalité numérique.

3.3 Donner un sens a une égalité proposée en l'interprétant
par des mots, un dessin, ...

3.4 Résoudre des problémes simples relevant de situations
additives ou soustractives.




Ceci veut-il dire que ces domaines sont séparés ? Loin de la. Leur connexion, et méme
leur intégration, sont assurées a travers le domaine de "Résolution de problémes", qui se définit
par des compétences relevant des deux domaines géométrique et algébrique.

Dans la formulation de la plupart des compétences, nous avons inclus des exemples ou des
¢léments de la compétence, insérés entre parentheses. Il est important de garder en vue que ces
exemples ne sont pas exhaustifs. Leur fonction est simplement de présenter des types de thémes
ou'de parties du contenu du programme sur lesquels la compétence peut étre exercée ou évaluée.
Il reste pourtant nécessaire de se référer au texte du curriculum pour identifier tous les contenus
qui se rattachent a une compétence particuliere.

Nous sommes confiants que cette organisation des domaines peut révéler d’une manicre
claire les points faibles dans les connaissances des €léves et les problemes d’apprentissage qu’ils
peuvent confronter. Par 13, elle peut guider I’enseignant, la direction de 1’école et les parents vers
les techniques de remédiation ou de soutien optimales.

Le document présent se veut un "guide" pour I’enseignant, par les listes de compétences,
mais aussi par les exemples d’exercices pour I’évaluation qu’il offre & chaque cycle et classe. Il
est important de noter que ces exemples ne sont pas des "modéles" ou des "types" auxquels il faut
se conformer. Tout au contraire, ce sont des exemples qui visent a éclairer le sens de certaines
compétences, tout en laissant libre cours a I’enseignant, maitre de la situation, de développer ses
propres exercices, reflétant ce sens. C’est pour cela que nous avons essayé de donner des
exemples vari€s pour certaines compétences.

Enfin, la lecture de ce document doit étre complétée par la lecture du document publié par
le CRDP en arabe, sous le titre "Principes généraux de I’évaluation”. Ce dernier explique, en
détail, les techniques d’utilisation des tableaux de compétences.



Introduction

En se basant sur les principes de I’évaluation scolaire adoptés par le Centre de Recherche et
de Développement Pédagogiques, ce document s’adresse aux enseignants et aux éducateurs de
Mathématiques pour leur présenter les tableaux des compétences relatives a chaque classe de
1’éducation scolaire, avec leurs domaines.

Un des choix fondamentaux que nous avons adoptés lors de la conception de ces listes de
compétences et de leurs domaines fut celui d’une adhérence fidéle au curriculum développé par la
Commission de Mathématiques au CRDP. Nous nous sommes surtout conformés aux objectifs
généraux du curriculum qui refletent sa philosophie et son esprit. Ceci justifie le choix des
domaines de compétences pour chaque cycle et niveau.

En effet, le domaine particulier de "Résolution de Problémes" refléte la constance, a
travers le cursus scolaire, d’objectifs généraux qui portent plutdt sur le développement de
concepts et de processus mentaux (raisonnement mathématique, résolution de problémes, etc.)
que sur un niveau de connaissance basée sur la mémorisation et I’application directe de faits ou
de procédures. C'est un domaine constant et commun a toutes les classes.

Au niveau post-élémentaire, ce méme domaine, alors nommé "Résolution de problémes et
Communication”, contient des compétences liées a I'habilité de s’exprimer en langage
mathématique, de représenter et modéliser des situations et d’organiser des données. Ce domaine
refléte alors d’une part la grande importance attribuée par les nouveaux programmes a la
communication en mathématiques, et d’autre part 1’importance accrue des représentations
symboliques qui se rattachent aux utilisations de variables, d’inconnues, de graphes, de méme
que les débuts de rédaction de démonstrations ou de preuves.

Quant aux autres domaines (par exemple "Activités numériques et algébriques" ou
"Activités géométriques"), il est important de mentionner qu’ils ne se veulent en aucun cas des
sous-disciplines des mathématiques, en un moment ou les tendances a travers le monde
recherchent de plus en plus une interdisciplinarité et une intégration des connaissances. En fait,
ces domaines concernent plus des compétences qui relévent des processus de raisonnement et de
gestion des connaissances de méme nature, que des compétences rattachées a des contenus
spécifiques identiques. Il se trouve qu’au sein des mathématiques, les processus numériques (et
algébriques) mobilisent des processus différents de ceux mobilisés au niveau des activités
géométriques.
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le systeme traditionnel se base sur la note qui représente ’indicateur unique
permettant de porter un jugement sur la production de I’éleve. Quant & [’évaluation,
bien qu’elle tienne compte de la note, elle va bien au-deld, pour apprécier chez
Péleve, le niveau d’acquisition des compétences prévues au niveau de la discipline,
voire méme certains savoirs-faire et savoirs-€tre relatifs a différentes situations.

Par conséquent, il est primordial de considérer I’enseignement et I’évaluation
comme deux entités indissociables, dans la mesure ou 1’évaluation devient un
aspect essentiel de 1’opération apprentissage/enseignement. Il est également
important que [’enseignant connaisse les compétences requises et qu’il en informe
I’éleve en vue d’adopter des techniques de travail appropriées.

L’enseignant pourrait aussi avoir recours a un ensemble de techniques pour
évaluer I’apprentissage de I’éleéve. Car [’évaluation est une opération globale qui
requiert I'usage de divers types de procédés: la note et les appréciations. Par
ailleurs, I’évaluation n’implique pas obligatoirement un contréle écrit mais
nécessite aussi 1’exécution de certaines taches, de certaines activités, voire méme
I’observation des performances. Les informations obtenues a partir de I’évaluation
du travail de I’éleéve sont exploitées par I’enseignant en vue de réaliser deux
objectifs: d’abord, remettre continuellement en question I’opération éducative afin
de la perfectionner, ensuite, aider I’éleéve a prendre conscience, non seulement de ce
qu’il est parvenu a réaliser, mais aussi de ses lacunes.

En définitive, nous-adressons nos vifs remerciements a tous ceux qui ont
accompagné ce chantier, du commencement jusqu’a la fin. Aussi soulignons-nous
que le Centre de Recherche et de Développement Pédagogiques tiendra toujours
compte des opinions et commentaires de tous les acteurs concernés, dans la
perspective d’apporter les modifications nécessaires aux techniques du systeme
d’évaluation.

2 Octobre 2000 Le Président

Nemer FRAYHA



Préface

Le Centre de Recherche et de Développement Pédagogiques peut aujourd’hui
se féliciter de ’exploit réalisé dans le domaine de 1’évaluation scolaire a savoir:
I’élaboration d’un systéeme complet d’évaluation en accord avec les finalités, les
objectifs et le contenu des nouveaux programmes. Il faut signaler que ces
programmes ont ét€¢ mis en application avant que ne leur soit intégré 1’élément
essentiel qu’est I’évaluation. C’est la raison pour laquelle une commission créée en
mai 1999, s’est chargée de concevoir les principes de base de ’évaluation et
d’élaborer, pour chaque classe, les tableaux de compétences requises pour chaque
discipline. Des sessions d’initiation a ce nouveau systéme d’évaluation et adressées
aux formateurs et aux enseignants, se sont déroulées durant les années 1999 - 2000.
Les guides de I’évaluation relatifs aux matieres enseignées dans les deux premieres
années de chaque cycle d’enseignement, furent distribués aux écoles et aux
enseignants pendant que le processus de formation de I’année scolaire et de 1’été
2000 suivait son cours. Simultanément, le comité central et les commissions des
disciplines travaillaient les listes de compétences relatives 2 la troisiéme année de
chaque cycle, ala conception d’épreuves type pour les examens officiels de la 9°™
année de I’Education de Base et la 3°™ année du cycle secondaire et 4 la production
des guides complets d’évaluation pour toutes les disciplines et tous les niveaux.
Cette entreprise est avant-gardiste dans I’histoire de I’Education au Liban, voire
dans les pays du monde arabe.

La valeur de ce travail réside dans le fait qu’il dépasse le processus de la
simple notation traditionnelle basée sur des objectifs spécifiques, un processus
complet d’évaluation, plus équitable et plus précis portant sur le niveau
d’acquisition de compétences chez ’apprenant, tant dans ses travaux quotidiens
que dans les épreuves officielles. Aussi s’avére-t-il impératif a ce stade, d’attirer
I’attention de [|’enseignant sur la différence entre la mesure et I’évaluation. En fait,
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Ministére de I’Education
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